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TOPIC 1
CONSOLIDATED FINANCTAL STATEMENTS

QUESTION 1

(RTP VIDEO NOV. 2018 )

(TIMING IN VIDEO: 00:36:19)

(Question number in RTP: 13)
The Summarised Balance Sheet of X Ltd. and its subsidiary Y Ltd. as on 31st March,
2017 are as follows:

Particulars Amounts as at 31st March, 2017
X Ltd. R in YLtd. Rin
lakhs) lakhs)
LTIABILITIES
Share Capital:
Authorised 20,000 8,000
Issues and subscribed:
Equity share of % 10 each, fully paid up 15,000 6,000
15% preference shares of % 10 each, fully
paid up 4,000 1,000
General Reserves 2,500 1,450
Profit & Loss Account 2,750 1,250
Trade payables 1,646 1,027
25,896 10,727
ASSESTS
Land & Building 3,550 1510
Plant & Machinery 5,275 3,600
Furniture & Fittings 1,945 655

Investment inY Ltd.:
450 Lakh Equity share in Y Ltd. purchased

on 1st April, 2016 6,800

Inventory 4142 2,520
Trade Receivables 3,010 1,882
Cash and Bank Balance 1,174 560
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25,896 10,727

The following information is also given to you

(a)

(b)
(c)
(d)

(e)
(f)

10% dividend on Equity shares was declared by Y Ltd. on 31 st March, 2016 for
the year ended 31st March, 2016. X Ltd. credited the dividend received to its
Profit & Loss Account.

Credit Balance of Profit & Loss account of Y Ltd. as on 1st April, 2016 was X 650
Lakhs.

General Reserve of Y Ltd. stood at same X 1,450 Lakhs as on 1st April, 2016.

Y Ltd.'s Plant & machinery showed a balance of ¥ 4,000 Lakh on 1st April 2016.
At the time of purchase of shares in ¥ Ltd., X Ltd. revalued ¥Y's Ltd. Plant &
Machinery upward by % 1,000 Lakh.

Included in Trade Payables of Y Ltd. are % 50 Lakh for goods supplied by X Ltd.
On 31st March, 2017, ¥'s I¥d. inventory included goods for % 150 lakhs which it
had purchased from X Ltd. X Ltd. sold goods to Y Ltd. at cost plus 25%.

You are required to prepare a Consolidated Balance Sheet of X Ltd. and its
subsidiary Y Ltd. as on 31st March, 2017 giving working notes. (Ignoring
dividend on preference shares).

SOLUTION

II

Consolidated Balance Sheet of X Ltd. and its subsidiary ¥ Ltd.as on 31st March,
2017

Particulars Note No. T in lakhs
Equity and Liabilities
Shareholders' Funds
(a) Share Capital 1 19,000
(b) Reserves and Surplus 2 5,620
Minority interest 3 3,400
Current Liabilities
(a) Trade payables 4 2,623
Total 30,643
Assets
Non Current Assets
Fixed Assefts
(i) Tangible Assets 5 17,435
Current Assets
(a) Inventories 6 6,632
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(b) Trade Receivables 7 4842
(c) Cash and Cash equivalents 8 1,734
30,643

Notes to Accounts

T in lakhs
1. Share Capital
Issued, Subscribed and Paid up (1,500 lakh Equity 15,000
Shares of X 10 each fully paid up)
400 lakh Preference Shares of % 10 each fully paid up 4,000
19,000
2. | Reserves and Surplus
Credit Balance of Profit & Loss Account 2,750
Less: Capital Receipt wrongly credited (Dividend @ 450
10% on X 4500 Lakh Equity Shares)
2,300
Add: Share in Y Ltd. Revenue Profit (Working Note i) 825
3,125
Less: Unrealised Profit (Working Note iv) 30 3,095
Capital Reserve (Working Note iii) 25
General Reserve 2,500 2,525
5,620
3. | Minority interest
100 Lakh Preference Shares of % 10 fully paid up 1,000
150 Lakh Equity Shares of %10 each fully paid up 1,500 2,500
Share in Revenue Profits (Working Note i) 275
Share in Capital Profit (working Note ii) 625 900
3,400
4. Trade payables
X Ltd. 1,646
Y Ltd. 1,027
2,673
Less: Mutual owing 50 2,623
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5. Tangible Assets
Land & Building

X Ltd. 3,550
Y Ltd 1510 5,060
Plant & Machinery
X Ltd. 5,275
Y Ltd (Working note v) 4,500 9,775
Furniture & Fixtures
X Ltd. 1,945
Y Ltd 655 2,600
17,435
6. Inventories
X Ltd. 4,142
Y Ltd 2,520
6,662
Less: Unrealized Profit (30) 6,632
7. | Trade Receivables
X Ltd. 3,010
Y Ltd 1,882
4,892
Less: Mutual Owing 50 4,842
8. | Cash & cash Equivalents
X Ltd. 1174
Y Ltd 560 1,734
Working Notes
(i) Calculation of Revenue Profits
¥'s Ltd Profit & Loss Account
T in lakh Tin
lakh
To Equity Dividend By Balance b/d 650
10 % of 6,000 lakh 600 By Net profit for the year
(Bal Fig.) 1,200
To balance c/d 1,250
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1,850 1,850

Depreciation provided on Plant & Machinery

Balance as on 1st April, 2016 4,000
Less Balance as 31st March 2017 3,600
400
Hence rate of Depreciation = 400/4000 x 100 10%
Net Profit for the year ended 31st March 2017 1,200
Less: Additional Depreciation 100
Revenue Profit 1,100
X Ltd's share- 1100 x 450/600 825
Y Ltd's share = 1100 x150/600 275
(ii) Calculation of Capital Profits
Profit & Loss Balance as on 1st April, 2016 650
Less: Dividend Paid 600
50
Add: General Reserve as on 1st April, 2016 1,450
Add: Profit on Revaluation of Plant & machinery 1,000
Capital Profit 2,500
X Ltd's Share in Capital Profit = 2,500 x 450/600 1,875
Y Ltd's Share in Capital Profit = 2,500 x 150/600 625
(iii) Calculation of Capital Reserve
Paid up value of 450 Lakh equity shares 4,500
Add: Share in Capital Profits 1,875
6,375
Amount Paid to acquire the 450 Lakh Equity Shares 6,800
Less: Dividend received out of Pre acquisition profits 450
6,350
Capital Reserve = 6,375-6,350 25

(iv) Unrealised Profit
% 150 Lakh x 25/125* = 30 lakh
(v) Plant & Machinery of Y Ltd.

Balance as on 31st March, 2017 3,600
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Add: Addition due to revaluation

1,000

Less: Depreciation on additional Value of Plant &

Machinery @ 10 %

* X 150 lakh considered as cost to Y Itd.
QUESTION 2
(RTP VIDEO NOV 2021)

(TIMING IN VIDEO: 01:08:10)
(Question number in rtp: 11)

100

900

4,500

On 31st March, 2015, P Ltd. acquired 1,05,000 shares of Q Ltd. for ¥ 12,00,000. The

position of Q Ltd. on that date was as under:

Property, plant and equipment

Current Assets

1,50,000 equity shares of X 10 each fully paid
Pre-incorporation profits

Profit and Loss Account

Trade payables

P Ltd. and Q Ltd. give the following information on 31st March, 2021:

Equity shares of X 10 each fully paid (before bonus
issue)

Securities Premium

Pre-incorporation profits

General Reserve

Profit and Loss Account

Trade payables

Property, plant and equipment

Investment: 1,05,000 Equity shares in Q Ltd. at cost

Current Assets

P Ltd.
4
45,00,000

9,00,000
60,00,000
15,75,000

5,55,000
79,20,000
12,00,000
44,10,000

4
10,50,000
6,45,000
15,00,000
30,000
60,000
1,05,000

Q Ltd.
4
15,00,000

30,000
19,05,000
4,20,000
2,10,000
23,10,000

17,55,000

Directors of Q Ltd. made bonus issue on 31.3.2021 in the ratio of one equity share of
%10 each fully paid for every two equity shares held on that date. Bonus shares were
issued out of post-acquisition profits by using General Reserve.
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Calculate as on 31st March, 2021 (i) Cost of Control/Capital Reserve; (ii) Minority
Interest; (iii) Consolidated Profit and Loss Account in each of the following cases:

(a) Before issue of bonus shares.

(b) Immediately after issue of bonus shares.
SOLUTION
Shareholding pattern
Particulars Number of Shares % of holding
a. PLtd
(i)  Purchased on 31.03.2015 1,05,000
(ii) Bonus Issue (1,05,000/2) 52,500
Total 1,57 500 70%
b. Minority Interest 67,500 30%

Calculations of (i) Cost of Control/Capital Reserve; (ii) Minority Interest; (iii)
Consolidated Profit and Loss Account as on 31st March, 2021:

(a) Before issue of bonus shares

(i) | Cost of control/capital reserve 4 3
Investment in Q Ltd. 12,00,000
Less: Face value of investments 10,50,000
Capital profits (W.N.) 63,000 (11,13,000)
Cost of control 87,000
(ii) = Minority Interest 4
Share Capital 4 50,000
Capital profits (W.N.) 27,000
Revenue profits (W.N.) 6,79,500
11,56,500
(iii) = Consolidated profit and loss account - P Ltd. %
Balance 15,75,000
Add: Share in revenue profits of Q Ltd. 15,85,500
(W.N.)
31,60,500

(b) Immediately after issue of bonus shares

(i) | Cost of control/capital reserve 4 3z
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Face value of investments (% 10,50,000 + %

5,25,000)

10

Capital Profits (W.N.)
Less: Investment in Q Ltd.

Capital reserve

(ii) = Minority Interest
Share Capital (X 4,50,000 + X 2,25,000)
Capital Profits (W.N.)
Revenue Profits (W.N.)

(iii) = Consolidated Profit and Loss Account - P Ltd.

Balance

Add: Share in revenue profits of Q Ltd.

(WN.)

Working Note:

15,75,000

63,000  16,38,000
(12,00,000)
4,38,000

2

6,75,000
27,000
454,500
11,56,500

2
15,75,000
10,60,500

26,35,500

Analysis of Profits of Q Ltd.

Capital Profits

(Before and
after issue of
bonus shares)

4

Pre-incorporation profits 30,000

Profit and loss account on 60,000
31.3.2015

90,000

General reserve*

Less: Bonus shares

Profit for period of 1st April, 2015
to 31st March, 2021 (2 4,20,000 - %

60,000)

Revenue Profits

Before After Bonus
Bonus Issue Issue
£4
£4
19,05,000 19,05,000
(7,50,000)
11,55,000
3,60,000 3,60,000
22,65,000 15,15,000
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P Ltd.'s share (70%) 63,000 15,85,500 10,60,500
Minority's share (30%) 27,000 6,79,500 4 54 500
*Share of P Ltd. in General reserve has been adjusted in Consolidated Profit and Loss
Account.
QUESTION 3

(RTP VIDEO MAY 2022)

(TIMING IN VIDEO: 02:00:29)

(Question number in rtp: 11)
From the following information of Beta Ltd. and its subsidiary Gamma Ltd. drawn up
at 31st March, 2021, prepare a consolidated balance sheet as at that date:

Beta Ltd. Gamma
Ltd.
T T
Share Capital:

Shares of % 100 each 15,00,000 2,50,000
Reserves 5,00,000 1,87,500
Profit and Loss Account 2,50,000 62,500
Trade Payables 3,75,000 1,42,500
Property, plant and Equipment:

Machinery 7.,50,000 2,25,000

Furniture 3,75,000 42 500
Other non-current assets 11,00,000 3,75,000
Non-current Investments:

Shares in Gamma Ltd.: 2,000 shares at ¥ 200 each 4,00,000

Other information:

Reserves and Profit and Loss Account of Gamma Ltd. stood at ¥ 62,500 and ¥ 37,500
respectively on the date of acquisition of its 80% shares by Beta Ltd. on 1st April,
2020.

Machinery (Book-value % 2,50,000) and Furniture (Book value ¥ 50,000) of Gamma Ltd.
were revalued at % 3,75,000 and % 37,500 respectively on 1st April, 2020 for the
purpose of fixing the price of its shares. [Rates of depreciation computed on the basis
of useful lives: Machinery 10%, Furniture 15%.]
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SOLUTION
Consolidated Balance Sheet of Beta Ltd. and its Subsidiary Gamma Ltd.
as at 31st March, 2021

Particulars Note No. ®
I. Equity and Liabilities
(1) Shareholder's Funds

(a) Share Capital 15,00,000
(b) Reserves and Surplus 1 8,61,500
(2) Minority Interest (W.N.5) 1,20,375
(3) Current Liabilities
(a) Trade Payables 2 5,17,500
Total 29,99,375
II. Assets

(1) Non-current assets

(@) (i) Property, Plant & Equipment 3 14,94 375
(ii) Intangible assets 4 30,000

(b) Other non- current assets 5 14,75,000
Total 29,99,375

Notes to Accounts

4
1.  Reserves and Surplus
Reserves 5,00,000
Add: 4/5th share of Gamma Ltd.'s 1,00,000 6,00,000
post- acquisition reserves (W.N.3)
Profit and Loss Account 2,50,000
Add: 4/5th share of Gamma Ltd.'s 11,500 2,61,500
post- acquisition profits (W.N.4)
_8,61,500
2. | Trade Payables
Beta Ltd. 3,75,000
Gamma Ltd. 142500 5,17,500

3.  Property, Plant & Equipment
Machinery
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Beta Ltd.
Gamma Ltd. 2,50,000
Add: Appreciation 1,25,000
3,75,000
Less: Depreciation (37,500)
Furniture
Beta Ltd.
Gamma Ltd. 50,000
Less: Decrease in value (12,500)
37,500
Less: Depreciation (5,625)

Intangible assets
Goodwill [WN 6]

Other non-current assets
Beta Ltd.

Gamma L1d.

Working Notes:

1.

Pre-acquisition profits and reserves of Gamma L1d.

Reserves

Profit and Loss Account

Beta Ltd.'s = 4/5 x 1,00,000

Minority Interest = 1/5 x 1,00,000

Profit on revaluation of assets of Gamma Ltd.
Profit on Machinery % (3,75,000 - 2,50,000)
Less: Loss on Furniture % (50,000 - 37,500)
Net Profit on revaluation

Beta Ltd.'s share 4/5 x 1,12,500

Minority Interest 1/5 x 1,12,500

Post-acquisition reserves of Gamma Ltd.

7,50,000

3,37,500

3,75,000

31,875

11,00,000
3,75,000

Post-acquisition reserves (Total reserves less pre-acquisition

reserves = ¥ 1,87,500 - 62,500)
Beta Ltd.'s share 4/5 x 1,25,000
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14,75,00

N
62,500
37,500

1,00,000
80,000
20,000

1,25,000
12,500
1,12,500
90,000
22,500

1,25,000

1,00,000
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Minority interest 1/5 x 25,000
Post -acquisition profits of Gamma Ltd.

Post-acquisition profits (Profit & loss account balance less pre-
acquisition profits = ¥ 62,500 - 37,500)

Add: Excess depreciation charged on furniture @ 15%
on ¥ 12,500 i.e. (50,000 - 37,500)

Less: Under depreciation on machinery @ 10%
on%1,25,000 i.e.(3,75,000 - 2,50,000)
Adjusted post-acquisition profits

Beta Ltd.'s share 4/5 x 14,375

Minority Interest 1/5 x 14,375

Minority Interest

Paid-up value of (2,500 - 2,000) = 500 shares
held by outsiders i.e. 500 x ¥ 100

Add:  1/5th share of pre-acquisition profits and reserves
1/5th share of profit on revaluation

1/5th share of post-acquisition reserves

1/5th share of post-acquisition profit

Cost of Control or Goodwill

Paid-up value of 2,000 shares held by Beta Ltd. i.e. 2,000 x % 100
Add: 4/5th share of pre-acquisition profits and reserves

4/5th share of profit on the revaluation

Intrinsic value of shares on the date of acquisition

Price paid by Beta Ltd. for 2,000 shares

Less: Intrinsic value of the shares

Cost of control or Goodwill
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1,875
26,875

(12,500)
14,375
11,500

2,875

50,000
20,000
22,500
25,000
2,875
120,375

—— e

2,00,000
80,000
90,000

3,70,000
4,00,000

(3,70,000)

30,000
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QUESTION 4

(RTP VIDEO NOV. 2022)
(TIMING IN VIDEO: 02:25:23)
(Question number in rtp: 11)
On 31st March, 2022, H Ltd. and S Ltd. give the following information:

HLtd. Rin SLtd. Xin

000's) 000's)
Equity Share Capital - Authorised 5,000 3,000
Issued and subscribed in Equity Shares of 310 each 4 000 2,400
fully paid
General Reserve 928 690
Profit and Loss Account (Cr. Balance) 1,305 810
Trade payables 611 507
Provision for Taxation 220 180
Other Provisions 65 17
Plant and Machinery 2,541 2,450
Furniture and Fittings 615 298
Investment in the Equity Shares of S Ltd. 1,500 a0
Inventory 983 786
Trade receivables 820 778
Cash and Bank Balances 410 102
Sundry Advances (Dr. balances) 260 190

Following Additional Information is available:

(@) HLtd. purchased 90 thousand Equity Shares in S Ltd. on 1st April, 2021 at which
date the following balances stood in the books of S Ltd.:

General Reserve T 1,500 thousand; Profit and Loss Account ¥ 633 thousand.

(b) On 14th July, 2021 S Ltd. declared a dividend of 20% out of pre-acquisition
profits. H Ltd. credited the dividend received to its Profit and Loss Account.

(c) On 1st November, 2021, S Ltd. issued 3 fully paid Equity Shares of % 10 each,
for every 5 shares held as bonus shares out of pre-acquisition General Reserve.

(d) On 31st March, 2021, the Inventory of S Ltd. included goods purchased for % 50
thousand from H Ltd., which had made a profit of 25% on cost.

(e) Details of Trade payables and Trade receivables:
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H Ltd. (% in 000's)
Trade payables

Bills Payable 124

Sundry creditors 487
611

Trade receivables

Debtors 700

Bills Receivables 120
820

Prepare a consolidated Balance Sheet as on 31st March, 2022.

SOLUTION

S Ltd. (R in 000's)

80
427
507

683
95
778

Consolidated Balance Sheet of H Ltd. with its subsidiary S Ltd. as at 31st March,

2022

Particulars

I. Equity and Liabilities
(1) Shareholder's Funds
(a) Share Capital
(b) Reserves and Surplus
(2) Minority Interest (W.N.6)
(3) Current Liabilities
Trade payables
Short term provisions
Total
II. Assets
(1) Non-current assets
PPE
(2) Current assets
(a) Inventories
(b) Trade receivables
(c) Cash and cash equivalents
(d) Short term loans and advances

Total

Note (X in 000's)

No.
1 4 000
2 3,063
1,560
1,118
4 482
10,223
5 5,904
6 1,759
7 1,598
8 512
9 450
10,223
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Notes to Accounts

1.

Share Capital
Authorised share capital
5 lakhs equity shares of % 10 each
Issued, Subscribed and Paid up
4 lakhs equity shares of %10 each fully paid
Reserves and surplus
Capital Reserve (Note 5)
General Reserve

Profit and Loss Account:

H Ltd. %1,305

Add: Share in S Ltd %340.20
%1,645.20

Less: Dividend wrongly credited % (180)
%1,465.20

Less: Unrealised profit (50 X 1/5) %(10)
Trade payables

H Ltd.
S Ltd.
Short -term provisions
Provision for Taxation H Ltd. %220
S Ltd. %180
Other Provisions H Ltd 65
S Ltd. _ 17
PPE
Plant and Machinery
H Ltd. %2541
S Ltd. 32,450

Furniture and fittings
H Ltd. %615

(% in 000's)

679.8
928

1,455.20

611

507

400

82

4,991
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S Ltd. %298 913 5,904
6.  Inventories
Inventory HLtd. %983
S Ltd. %786 1,769
Less: Unrealised profit (X 50 x 1/5) (10) 1,759

Working Notes:
Share holding pattern

Particulars Number of = % of holding
Shares
a. SlLtd.
(i) Purchased on 01.04.2021 90,000
(ii) Bonus Issue (90,000/5 x 3) 54,000
Total 1,44,000 60%
(1,44,000 /2,40,000*x
100)
b. Minority Inferest 96,000 40%
*2,40,000 is after issue of bonus shares as per balance sheet as at 31.3.2022
1. S Ltd. General Reserve
(X in 000) (X in 000)
To Bonus to  equity 900 By Balance b/d 1,500
shareholders BY  Profit and Loss A/c
(2,400 X 3)
8
To To balance c/d 690 (Balancing figure) 90
1,590 1,590
2. S Ltd.'s Profit and Loss Account
(X in 000) (X in 000)
To  General Reserve 90 By Balance b/d 633
To  Dividend paid on 300 By Net Profit for
14.7.2021 the year 567*
(1,500 X 20) (l?alancing
100 figure)
To  Balance c¢/d 810
1,200 1,200

* Out of % 5,67,000 profit for the year, ¥ 90,000 has been transferred to
reserves by S Ltd.
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3. Distribution of Revenue Profits

T in '000
Revenue Profit as above 567.00
Share of H Ltd. (60%) 340.20
Share of Minority shareholders ( 567- 340.20) 226.80

4. Computation of Capital Profits
¥in 000 ¥ in 000

General Reserve on the date of acquisition 1,500
Less: Bonus issue of shares (900)
600
Profit and Loss Account balance on the date of 633
acquisition
Less: Dividends paid (300) 333
933
Share of H Ltd. (60%) 559.80
Share of Minority shareholders 373.20
5. Computation of Capital Reserve
¥ in '000
60% of share capital of S Ltd. 1,440
Add: Share of H Ltd. in the capital profits as in working 559.80
note (4)
1,999.80
Less: Investments in S Ltd. 1,500
Less: Dividends received out of pre- acquisition profits
X300 x 60 (180) (1,320)
100 679.80
6. Calculation of Minority Interest
T in '000
40% of share capital of S Ltd. 960.00
Add: Share of Revenue Profits (Note 3) 226.80
Share of Capital Profits (Note 4) 373.20
1,560.00
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QUESTION 5

(MTP 4 VIDEO MARCH 2022)
(TIMING IN VIDEO: 00:42:50)
(Question number in MTP: 5A)
H Ltd. and its subsidiary S Ltd. give the following information as on 31st March,

2021:
H Ltd. ) SLtd. (®
Share Capital
Equity Share Capital (fully paid up shares of 310  12,00,000 2,00,000
each)

Reserves and Surplus

General Reserve 4,35,000 1,55,000
Cr. Balance in Profit and Loss Account 2,80,000 65,000
Current Liabilities

Trade Payables 3,22,000 1,23,000
Non-Current Assets

Property, Plant and Equipment

Machinery 6,40,000 1,80,000
Furniture 3,75,000 34,000
Non-Current Investments

Shares in S Ltd. - 16,000 shares @ % 20 each 3,20,000 -
Current Assets

Inventories 2,68,000 62,000
Trade Receivables 470,000 2,35,000
Cash and Bank 1,64,000 32,000

H Ltd. acquired the 80% shares of S Ltd. on 1st April, 2020. On the date of
acquisition, General Reserve and Profit Loss Account of S Ltd. stood at ¥ 50,000
and % 30,000 respectively.

Machinery (book value % 2,00,000) and Furniture (book value ¥ 40,000) of S Ltd.
were revalued at % 3,00,000 and % 30,000 respectively on 1st April,2020 for the
purpose of fixing the price of its shares (rates of depreciation on W.D.V basis:
Machinery 10% and Furniture 15%). Trade Payables of H Ltd. include ¥ 35,000
due to S Ltd. for goods supplied since the acquisition of the shares. These goods
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are charged at 10% above cost. The inventories of H Ltd. includes goods costing
% 55,000 (cost to H Ltd.) purchased from S Ltd.

You are required to prepare the Consolidated Balance Sheet of H Ltd.
with its subsidiary as at 31st March, 2021.

SOLUTION

Consolidated Balance Sheet of H Ltd. and its Subsidiary S Ltd.
as at 31st March, 2021

Particulars Note No. ®
I. Equity and Liabilities
(1) Shareholder's Funds

(a) Share Capital 12,00,000
(1,20,000 equity shares of % 10 each)

(b) Reserves and Surplus 1 8,16,200
(2) Minority Interest (W.N.4) 99,300

(3) Current Liabilities
(a) Trade Payables 2 4,10,000
Total 25,25,500

II. Assets

(1) Non-current assets

(i) Property, plant and equipment 3 13,10,500
(ii) Intangible assets 4 24,000
(2) Current assets
(i) Inventories 5 3,25,000
(ii) Trade Receivables 6 6,70,000
(iii) Cash at Bank 7 1,96,000
Total 25,25,500
Notes to Accounts
g
1. Reserves and Surplus
General Reserves 4,35,000
Add: 80% share of S Ltd.'s
post-acquisition reserves
(WN.3) 84,000  5,19,000
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Profit and Loss Account

Add: 80% share of S Ltd.'s
post-acquisition profits (W.N.3)

Less: Unrealised gain

Trade Payables

H Ltd.

S Ltd.

Less: Mutual transaction
Property, plant and equipment
Machinery

H Ltd.

S Ltd.

Add: Appreciation

Less: Depreciation
Furniture

H. Ltd.

S Ltd.

Less: Decrease in value

Less: Depreciation

Intangible assets
Goodwill [WN 5]
Inventories

H Ltd.

S Ltd.

Less: Inventory reserve

Trade Receivables
H Ltd.
S Ltd.

2,80,000
21,200

(4,000) 17,200

3,22,000
1,23,000
(35,000)
6,40,000

2,00,000

1,00,000

3,00,000

(30,000)  2,70,000

3,75,000
40,000
(10,000)
30,000

(4,500) 25,500

2,68,000
62,000

4,70,000
2,35,000
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7,05,000
Less: Mutual transaction (35,000)
6,70,000
7. | Cash and Bank
H Ltd. 1,64,000
S Ltd. 32,000 1,96,000

Working Notes:

1. Profit or loss on revaluation of assets in the books of S Ltd. and their
book values as on 1.4.2020

T
Machinery
Revaluation as on 1.4.2020 3,00,000
Less: Book value as on 1.4.2020 (2,00,000)
Profit on revaluation 1,00,000
Furniture
Revaluation as on 1.4.2020 30,000
Less: Book value as on 1.4.2020 (40,000)
Loss on revaluation (10,000)
2. Calculation of short/excess depreciation
Machinery Furniture
Upward/ (Downward) Revaluation 1,00,000 (10,000)
Rate of depreciation 10% p.a. 15% p.a.
Difference [(short)/excess] (10,000) 1,500
3. Analysis of reserves and profits of S Ltd. as on 31.03.2021
Pre- Post-acquisition profits
acquisition  (1.4.2020 - 31.3.2021)
profit upto
1.4.2020
(Capital General Profit and
profits) Reserve loss account
General reserve as on 50,000 1,05,000
31.3.2021
Profit and loss account as on 30,000 35,000
31.3.2021
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Upward Revaluation  of 1,00,000
machinery as on 1.4.2020

Downward Revaluation of (10,000)
Furniture as on 1.4.2020

Short depreciation on (10,000)
machinery

Excess depreciation on 1,500
furniture

Total 1,70,000  1,05,000 26,500

4. Minority Interest

04
Paid-up value of (2,00,000 x 20%) 40,000
Add: 20% share of pre-acquisition profits and reserves
[(20% of (50,000 + 30,000)] 16,000
20% share of profit on revaluation 18,000
20% share of post-acquisition reserves 21,000
20% share of post-acquisition profit 5,300
1,00,300
Less: Unrealised Profit on Inventory (55,000 x 10/110) x (1,000)
20%
99,300
5. Cost of Control or Goodwill
Cost of Investment 3,20,000
Less: Paid-up value of 80% shares 1,60,000
80% share of pre-acquisition profits and
reserves (X 64,000 + X72,000) 1,36,000 (2,96,000)
Cost of control or Goodwill 24,000
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TOPIC 2
BUSINESS COMBINATION (AS 14)

QUESTION 1

(RTP VIDEO MAY 2018)
(TIMING IN VIDEO: 00:19:14)
(Question number in rtp: 5)

P Ltd. and Q Ltd. agreed to amalgamate their business. The scheme envisaged a share
capital, equal to the combined capital of P Ltd. and Q Ltd. for the purpose of acquiring
the assets, liabilities and undertakings of the two companies in exchange for share in
PQ Ltd.
The Summarized Balance Sheets of P Ltd. and Q Ltd. as on 31st March, 2017 (the
date of amalgamation) are given below:

Summarized balance sheets as at 31-03-2017

Liabilities P Ltd. Q Ltd. Assets P Ltd. Q Ltd.
4 4 4 T

Equity & liabilities: Assets:

Shareholders Fund Non-current Assets:

a. Share Capital 6,00,000 8,40,000 Fixed Assets 7,20,000 10,80,000

(excluding Goodwill)

b. Reserves 10,20,000 6,00,000 Current Assets

Current Liabilities a. Inventories 3,60,000 6,60,000

Bank Overdraft - 5,40,000 b. Trade receivables = 4,80,000 7,80,000

Trade payables 2,40,000 5,40,000 c. Cash at Bank 3,00,000 -
18,60,000  25,20,000 18,60,000 25,20,000

The consideration was o be based on the net assets of the companies as shown in the
above Balance Sheets, but subject to an additional payment to P Ltd. for its goodwill
to be calculated as its weighted average of net profits for the three years ended 31
st March, 2017. The weights for this purpose for the years 2014-15, 2015-16 and
2016-17 were agreed as 1, 2 and 3 respectively.

The profit had been:

2014-15 % 3,00,000; 2015-16 % 5,25,000 and 2016-17 % 6,30,000.

The shares of PQ Ltd. were to be issued to P Ltd. and Q Ltd. at a premium and in
proportion to the agreed net assets value of these companies.
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In order to raise working capital, PQ Ltd proceeded to issue 72,000 shares of % 10
each at the same rate of premium as issued for discharging purchase consideration
to P Ltd. and Q Ltd.

You are required to:

(i) Calculate the number of shares issued to P Ltd. and Q Ltd; and

(ii) Prepare required journal entries in the books of PQ Ltd.; and

(iii) Prepare the Balance Sheet of PQ Ltd. as per Schedule Il after recording the necessary
journal entries
SOLUTION

(i) Calculation of humber of shares issued to P Ltd. and Q Ltd.:
Amount of Share Capital as per balance sheet

4

P Ltd. 6,00,000
Q Ltd. 8,40,000
14,40,000

Share of P Ltd.

% 14,40,000 x [21,60,000/ (21,60,000 + 14,40,000)]
= ¥8,64,000 or 86,400 shares

%21,60,000-%8,64,000=%12,96,000 Premium per
share

= R12,96,000/%86,400=%15
Issued 86,400 shares @ %10 each at a premium of % 15 per share
Share of Q Ltd. % 14,40,000 x [14,40,000/ (21,60,000 + 14,40,000)]
= %5,76,000 or 57,600 shares
%14,40,000 -%5,76,000 = X 8,64,000 Premium per
share = ¥8,64,000/%57,600=%15

Issued 57,600 shares @ X 10 each at a premium of % 15 per share
(i) Journal Entries in the books of PQ Ltd.

Dr. Cr.
Particulars Amount () Amount ()

Securities premium

Securities premium

Business purchase account Dr.  36,00,000
To Liquidator of P Ltd. account 21,60,000
To Liquidator of Q Ltd. account 14,40,000

(Being the amount of  purchase
consideration payable to liquidator of P Ltd.
and Q Ltd. for assets taken over)

Goodwill Dr. 5,40,000
Fixed assets account Dr. 7,20,000
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Inventory account

Trade receivables account

Cash at bank
To Trade payables account
To Business purchase account

(Being assets and liabilities of P Ltd. taken
over)

Fixed assets account

Inventory account

Trade receivables account
To bank overdraft account
To Trade payables account
To Business purchase account

(Being assets and liabilities of Q Ltd. taken
over)
Liquidator of P Ltd. Account

To Equity share capital account (86,400
x 2 10)

To Securities premium (86,400 x X 15)
(Being the allotment of shares as per
agreement for discharge of purchase
consideration)

Liquidator of Q Ltd. account

To Equity share capital account (57,600
x % 10)

To Securities premium (57,600 x X 15)

(Being the allotment of shares as per
agreement for discharge of purchase
consideration)

Bank A/c
To Equity share capital account
To Securities premium

(Equity share capital issued to raise working
capital)

Dr.
Dr.
Dr.

Dr.
Dr.
Dr.

Dr.

Dr.

3,60,000
4,80,000
3,00,000

10,80,000
6,60,000
7,80,000

21,60,000

14,40,000

18,00,000

2,40,000
21,60,000

5,40,000
5,40,000
14,40,000

8,64,000

12,96,000

5,76,000

8,64,000

7,20,000
10,80,000

Balance Sheet of PQ Ltd. on 31st March, 2017 after amalgamation

Particulars

Notes
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Equity and Liabilities

Shareholders' funds
Shareholders' funds
Reserves and Surplus

Current liabilities

Trade  payables (2,40,000 +
5,40,000)

Total
Assets
Non-current assets
Fixed assets

Tangible assets (7,20000 +
10,80,000)

Intangible assets (goodwill)

Current assets
Inventories (3,60,000 + 6,60,000)
Trade receivables (4,80,000

+7,80,000)

c Cash and cash equivalents

Notes to accounts

1  Share Capital

1 21,60,000
2 32,40,000

7,80,000
61,80,000

18,00,000

4 5,40,000

10,20,000

12,601,000
3 15,60,000
61,80,000

Issued, subscribed and paid up share capital 2,16,000

Equity shares of %10 each

21,60,000

(Out of the above 1,44,000 shares issued for non-cash

consideration under scheme of amalgamation)

2 Reserves and Surplus
Securities premium
(@315 for 2,16,000 shares)
3  Cash and cash equivalents
Cash at Bank
4 Intangible Assets
Goodwill

32,40,000

15,60,000

5,40,000
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Working Notes:

1. Calculation of goodwill of P Ltd.

Particulars

2014-15
2015-16
2016-17
Total (a+b+c)

weighted Average [Total

weighted

amount/Total of weight]
[% 32,40,000/6]
Goodwill

2. Calculation of Net assets

Assets

Goodwill

Fixed assets

Inventory

Trade receivable

Cash at bank

Less: Liabilities
Bank overdraft

Trade payables

Amount

4
3,00,000
5,25,000
6,30,000

14,55,000

Net assets or Purchase consideration

3. New authorized capital

=3 14,40,000 + % 12,00 000 =X 26,40,000

4. Cash and Cash equivalents

P Ltd. Balance

Weight

A W N -

P Ltd.

5,40,000
7,20,000
3,60,000
4,80,000
3,00,000

2,40,000
21,60,000

Cash received from Fresh issue (72,000 X % 25)

Less: Bank Overdraft

For rtp/mtp videos...please visit:caparveenjindal.com/LMS

Weighted
amount

L4
3,00,000
10,50,000
18,90,000
32,40,000

5,40,000

Q Ltd. ¥

10,80,000
6,60,000
7,80,000

5,40,000
5,40,000
14,40,000

4
3,00,000
18,00,000
21,00,000
5,40,000
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15,60,000

*The balance of cash and cash equivalents has been shown after setting off overdraft amount.
QUESTION 2

(RTP VIDEO NOV. 2020)
(TIMING IN VIDEO: 01:45:50)
(Question number in rtp: 6)

X Ltd. and Y Ltd. give the following information of assets, equity and liabilities as on
31st March, 2018:

XLtd. ® YLtd. ®
Equity and Liabilities
Equity Shares of % 10 each 30,00,000 9,00,000
9% Preference Shares of ¥ 100 each 3,00,000 -
10% Preference Shares of ¥ 100 each - 3,00,000
General Reserve 2,10,000 2,10,000
Retirement Gratuity Fund (long term) 1,50,000 60,000
Trade Payables 3,90,000 2,40,000
Assets
Goodwill 1,50,000 75,000
Land & Buildings 9,00,000 3,00,000
Plant & Machinery 15,00,000 450,000
Inventories 7.,50,000 5,25,000
Trade Receivables 6,00,000 3,00,000
Cash and Bank 1,50,000 60,000

X Ltd. absorbs ¥ Ltd. on the following terms:

(i)  10% Preference Shareholders are to be paid at 10% premium by issue of 9%
Preference Shares of X Ltd.

(ii) Goodwill of Y Ltd. on absorption is to be computed based on two times of average
profits of preceding three financial years (2016-17 : % 90,000; 2015-16 : %
78,000 and 2014-15: ¥ 72,000). The profits of 2014 -15 included credit of an
insurance claim of ¥ 25,000 (fire occurred in 2013-14 and loss by fire ¥ 30,000
was booked in Profit and Loss Account of that year). In the year 2015 -16, there
was an embezzlement of cash by an employee amounting to % 10,000.

(iii) Land & Buildings are valued at ¥ 5,00,000 and the Plant & Machinery at X
4,00,000.
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(iv) Inventories are to be taken over at 10% less value and Provision for Doubtful
Debts is to be created @ 2.5%.

(v) There was an unrecorded current asset in the books of ¥ Ltd. whose fair value
amounted to % 15,000 and such asset was also taken over by X Ltd.

(vi) The trade payables of Y Ltd. included ¥ 20,000 payable to X Ltd.

(vii) Equity Shareholders of Y Ltd. will be issued Equity Shares @ 5% premium.
You are required to:

(i) Prepare Realisation A/c in the books of ¥ Ltd.

(i) Show journal entries in the books of X Ltd.

(iii) Prepare the Balance Sheet of X Ltd. after absorption as at 31st March,2018.

SOLUTION
In the Books of Y Ltd.
Realisation Account

4 g

To | Sundry Assets: By Retirement 60,000
Gratuity Fund

Goodwill 75,000
Land & Building | 3,00,000 By Trade payables 2,40,000

Plant & 4,50,000 By X Ltd. (Purchase 15,90,000
Machinery Consideration)

Inventory 5,25,000

Trade 3,00,000
receivables

Bank 60,000 17,10,000

To Preference 30,000
Shareholders

(Premium on
Redemption)
To  Equity
Shareholders
(Profiton
Realisation) 1,50,000
18,90,000 18,90,000
In the Books of X Ltd.

Journal Entries
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Dr. Cr.
T 14
Business Purchase A/c Dr. 15,90,000
To Liquidators of Y Ltd. Account 15,90,000
(Being business of Y Ltd. taken over)
Goodwill Account Dr. 1,50,000
Land & Building Account Dr. 5,00,000
Plant & Machinery Account Dr. 4,00,000
Inventory Account Dr. 4,72 500
Trade receivables Account Dr. 3,00,000
Bank Account Dr. 60,000
Unrecorded assets Account Dr. 15,000
To Retirement Gratuity Fund Account 60,000
To Trade payables Account 2,40,000
To Provision for Doubtful Debts Account 7,500
To Business Purchase A/c 15,90,000
(Being Assets and Liabilities taken over as per
agreed valuation).
Liquidators of Y Ltd. A/c Dr. 15,90,000
To 9% Preference Share Capital A/c 3,30,000
To Equity Share Capital A/c 12,00,000
To Securities Premium A/c 60,000

(Being Purchase Consideration satisfied as above)

Balance Sheet of X Ltd. (after absorption)
as at 31st March, 2018

Particulars Notes

Equity and Liabilities

1 Shareholders' funds
A Share capital 1 48,30,000
Reserves and Surplus 2 2,70,000
2 Non-current liabilities
A Long-term provisions 3 2,10,000
3 Current liabilities
A Trade Payables 4 6,10,000
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B Short term provision 5
Total
Assets
Non-current assets
A Fixed assets
Tangible assets
Intangible assets 7

Current assets

A Inventories 8

B Trade receivables 9

C Other current Assets 10

D Cash and cash equivalents 1
Total

Notes to accounts

1.

Share Capital
Equity share capital

4,20,000 Equity Shares of % 10 each fully paid (Out of
above 1,20,000 Equity Shares were issued in consideration
other than for cash)

Preference share capital

6,300 9% Preference Shares of % 100 each (Out of above
3,300 Preference Shares were issued in consideration
other than for cash)

Total

Reserves and Surplus

Securities Premium

General Reserve

Total

Long-term provisions
Retirement Gratuity fund

Trade payables

(3,90,000 + 2,40,000 - 20,000%)

* Mutual Owings eliminated.
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7,500
59,27,500

33,00,000
3,00,000

12,22,500
8,80,000
15,000

2,10,000
59,27 500

42,00,000

6,30,000

48,30,000

60,000

2,10,000

2,70,000

2,10,000

6,10,000
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Short term Provisions
Provision for Doubtful Debts 7,500

Tangible assets

Land & Buildings 14,00,000
Plant & Machinery 19,00,000
Total 33,00,000

Intangible assets

Goodwill (150,000 +1,50,000) 3,00,000
Inventories (7,50,000 + 4,72,500) 12,22,500
Trade receivables (6,00,000 + 3,00,000 - 20,000) 8,80,000
Other current Assets 15,000
Cash and cash equivalents (1,50,000 +60,000) 2,10,000

Working Notes:

1.

Computation of goodwill

Profit of 2016-17 90,000
Profit of 2015-16 adjusted % 78,000 + 10,000) 88,000
Profit of 2014-15 adjusted (X 72,000 - 25,000) 47,000

2,25,000
Average profit 75,000

Goodwill to be valued at 2 times of average profits = ¥ 75,000 x 2 = ¥ 1,50,000

Purchase Consideration: z
Goodwill 1,50,000
Land & Building 5,00,000
Plant & Machinery 4,00,000
Inventory 472,500
Trade receivables 3,00,000
Unrecorded assets 15,000
Cash at Bank 60,000

18,97,500

Less: Liabilities:
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Retirement Gratuity 60,000

Trade payables 2,40,000

Provision for doubtful debts 7,500 (3,07,500)
Net Assets/ Purchase Consideration 15,90,000

To be satisfied as under:

10% Preference Shareholders of Y Ltd. 3,00,000
Add: 10% Premium 30,000
9% Preference Shares of X Ltd. 3,30,000

Equity Shareholders of Y Ltd. to be satisfied
by issue of 1,20,000

equity Shares of X Ltd. at 5% Premium 12,60,000
Total 15,90,000
QUESTION 3

(RTP VIDEO NOV. 2020)
(TIMING IN VIDEO: 01:11:06)
(Question number in rtp: 14B)

Som Ltd. agreed to takeover Dove Ltd. on 1st April, 2020. The terms and conditions
of takeover were as follows:

(i) Som Ltd. issued 56,000 equity shares of ¥100 each at a premium of %10 per
share to the equity shareholders of Dove Ltd.

(ii) Cash payment of % 1,00,000 was made to equity shareholders of Dove Ltd.

(iii) 20,000 fully paid preference shares of X 70 each issued at par to discharge
the preference shareholders of Dove Ltd.

You are required to calculate the amount of purchase consideration as per the
provisions of AS 14

SOLUTION

As per AS 14, 'Accounting for Amalgamations’ consideration for the
amalgamation means the aggregate of shares and other securities issued and
payment made in form of cash or other assets by the transferee company to the
shareholders of the transferor company.

Computation of Purchase Consideration:
3
(a) Preference Shares: 14,00,000
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20,000 Preference shares in Som Ltd. @ X 70 per

share
(b) Cash 1,00,000
(c) Equity shares: 56,000 equity shares in Som Ltd. 61,60,000

@ % 110 per share
76,60,000

QUESTION 4

(RTP VIDEO NOV. 2021)

(TIMING IN VIDEO: 00:38:10)

(Question number in rtp: 6)
Heera Ltd. and Rita Ltd. agreed to amalgamate their business. The scheme envisaged
a share capital, equal to the combined capital of Heera Ltd. and Rita Ltd. for the
purpose of acquiring the assets, liabilities and undertakings of the two companies in
exchange for share in HR Ltd.

Heera Ltd. and Rita Ltd. make available the following information as on 31st March,
2021 (the date of amalgamation):

Heera Ltd. Rita Ltd.

T T

Property, plant and Equipment 7,20,000 10,80,000
Inventories 3,60,000 6,60,000
Trade receivables 4 80,000 7,80,000
Cash at Bank 3,00,000 -
Share Capital 6,00,000 8,40,000
Reserves 10,20,000 6,00,000
Bank Overdraft - 5,40,000
Trade payables 2,40,000 5,40,000

The consideration was o be based on the net assets of the companies as shown above
but subject to an additional payment to Heera Ltd. for its goodwill to be calculated
as its weighted average of net profits for the three years ended 31st March, 2021.
The weights for this purpose for the years 2018-19, 2019-20 and 2020-21 were
agreed as 1, 2 and 3 respectively.

The profit had been:

2018-19 % 3,00,000; 2019-20 % 5,25,000 and 2020-21 % 6,30,000.

The shares of HR Ltd. were fo be issued to Heera Ltd. and Rita Ltd.at a premium and
in proportion to the agreed net assets value of these companies.
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In order to raise working capital, HR Ltd. proceeded to issue 72,000 shares of X 10
each at the same rate of premium as issued for discharging purchase consideration
to Heera Ltd. and Rita L1d.

You are required to calculate the number of shares issued to Heera Ltd. and
Rita Ltd. and prepare necessary journal entries in the books of HR Ltd.

SOLUTION
Calculation of number of shares issued to Heera Ltd. and Rita Ltd.

Amount of Share Capital as per balance sheet R

Heera Ltd. 6,00,000
Rita Ltd. 8,40,000
14,40,000

Share of Heera Ltd.

% 14,40,000 x [21,60,000/ (21,60,000 + 14,40,000)]

= 38,64,000 or 86,400 shares

%21,60,000 - X 8,64,000 =% 12,96,000

%12,96,000/%86,400=%15

Issued 86,400 shares @ X 10 each at a premium of X 15 per share

Share of Rita Ltd. % 14,40,000 x [14,40,000/ (21,60,000 + 14,40,000)]
= %5,76,000 or 57,600 shares

% 14,40,000 -% 5,76,000 = % 8,64,000

%¥8,64,000/%57,600=%15

Securities premium

Premium per share

Securities premium

Premium per share
Issued 57,600 shares @ X 10 each at a premium of X 15 per share
Journal Entries in the books of HR Ltd.

Dr. Cr.

Particulars Amount () Amount (%)
Business purchase account Dr.  36,00,000

To Liquidator of Heera Ltd. account 21,60,000

To Liquidator of Rita Ltd. account 14,40,000
(Being the amount of purchase consideration
payable to liquidator of Heera Ltd. and Rita Itd.
for assets taken over)
Goodwill Dr. 5,40,000
Fixed assets account Dr. 7,20,000
Inventory account Dr. 3,60,000
Trade receivables account Dr. 4 80,000
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Cash at bank
To Trade payables account
To Business purchase account

(Being assets and liabilities of Heera Ltd. taken
over)

Fixed assets account

Inventory account

Trade receivables account
To bank overdraft account
To Trade payables account
To Business purchase account

(Being assets and liabilities of Rita Ltd. taken
over)

Liquidator of Heera Ltd. Account

To Equity share capital account (86,400 x X
10)

To Securities premium (86,400 x X 15)

(Being the allotment of shares as per agreement
for discharge of purchase consideration)

Liquidator of Rita Ltd. account

To Equity share capital account (57,600 x X
10)

To Securities premium (57,600 x % 15)

(Being the allotment of shares as per agreement
for discharge of purchase consideration)

Bank A/c

To Equity share capital account (72,000 x
%10)

To Securities premium (72,000 x X 15)

(Equity share capital issued to raise working
capital)

Working Notes:
1. Calculation of goodwill of Heera Ltd.

Particulars

Dr.

Dr.
Dr.
Dr.

Dr.

Dr.

Amount

3,00,000

10,80,000
6,60,000
7,80,000

21,60,000

14,40,000

18,00,000

Weight
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8,64,000

7,20,000

10,80,000

Weighted
amount
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(4
2018-19 3,00,000 1 3,00,000
2019-20 5,25,000 2 10,50,000
2020-21 6,30,000 3 18,90,000
Total (a+b+c) 14,55,000 6 32,40,000
weighted Average = [Total weighted
amount/Total of weight]
[ 32,40,000/6]
Goodwill 5,40,000

2. Calculation of Net assets

Heera Ltd. ¥ Rita Ltd. ¥

Assets

Goodwill 5,40,000

Fixed assets 7,20,000 10,80,000

Inventory 3,60,000 6,60,000

Trade receivable 4 80,000 7,80,000

Cash at bank 3,00,000

Less: Liabilities

Bank overdraft 5,40,000

Trade payables 2,40,000 5,40,000

Net assets or Purchase consideration 21,60,000 14,40,000
QUESTION 5

(RTP VIDEO MAY 2022)

(TIMING IN VIDEO: 01:23:48)

(Question number in rtp: 6)
The following are the Balance Sheets of Aakash Limited and Ganga Limited as at
March 31, 2021:

Particulars Note Aakash Limited 6Ganga Limited
No. ) Q)
I. Equity and Liabilities:
(1) Shareholder's Funds:
(a) Share Capital 1 80,00,000 20,00,000
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(b) Reserves and Surplus 2
(2) Non-Current Liabilities:
(a) Secured Loans
(b) Unsecured Loans 4
(3) Current Liabilities:
(@) Trade Payables
(b) Other Current Liabilities 5
Total
II. Assets:
(1) Non-Current Assets:
Property, Plant & Equipment
(2) Current Assets:
(a) Inventories
(b) Other Current Assets
Total

Notes to Accounts:

1. | Share Capital
Authorized, Issued, Subscribed & Paid up :
6,00,000 Equity Shares of %10 each
20,000 Preference Shares of X 100 each
2,00,000 Equity Shares of %10 each

2.  Reserves and Surplus
General Reserve

Surplus

3. | Secured Loans

(Secured Loans of Aakash Limited are
secured against pledge of Inventories)

4. | Unsecured Loans

Other Current Liabilities
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(3,24,00,000)

3,20,00,000
1,72,00,000

56,00,000
2,04,00,000
5,08,00,000

68,00,000

3,68,00,000
72,00,000
5,08,00,000

Aakash
Limited (%)

60,00,000
20,00,000

80,00,000

8,00,000
(3,32,00,000)
(3,24,00,000)

3,20,00,000

1,72,00,000

56,00,000

1,60,00,000

36,00,000
56,00,000
3,28,00,000

1,36,00,000

1,92,00,000
3,28,00,000

6anga Limited
Q)

20,00,000
20,00,000

56,00,000

56,00,000

1,60,00,000
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Statutory Liabilities 1,44,00,000 20,00,000
Liability to Employees 60,00,000 36,00,000
2,04,00,000 56,00,000

Both the companies go into liquidation and a new company ‘Aakash Ganga Limited' is
formed to take over their business. The following information is given:

(i) All Current Assets of two companies, except pledged inventory are taken over
by Aakash Ganga Limited. The realizable value of all the Current Assets
(including pledged inventory) is 80% of book value in case of Aakash Limited and
70% for Ganga Limited.

(ii) Property, Plant and Equipment of both the companies are taken over at book
value by AakashGanga Limited.

(iii) Secured Loans include % 32,00,000 accured interest in case of Ganga Limited.

(iv) 4,00,000 Equity Shares of % 10 each are allotted by AakashGanga Limited at par
against cash payment of entire face value to the shareholders of Aakash Limited
and Ganga Limited in the ratio of shares held by them in Aakash Limited and
Ganga Limited.

(v) Preference Shareholders in Aakash Limited are issued Equity Shares in
AakashGanga Ltd. worth % 4,00,000 in lieu of their present holdings.

(vi) Secured Loan agree to continue the balance amount of their loans to
AakashGanga Limited after adjusting realizable value of pledged asset in case
of Aakash Limited and after waiving 50% of interest due in the case of Ganga
Limited.

(vii) Unsecured Loans are taken over by AakashGanga Limited at 25% of loan amounts.

(viii) Employees are issued fully paid Equity Shares in AakashGanga Limited in full
settlement of their dues.

(ix) Statutory Liabilities are taken over by AakashGanga Limited at full value and
Trade Payables are taken over at 80% of the book value.

You are required to prepare the opening Balance Sheet of AakashGanga Limited as at
1.4.2021.

SOLUTION
Balance sheet of AakashGanga Ltd. as at 1st April, 2021

Particulars Note No. ®
I. Equity and Liabilities
(1) Shareholders' Funds

(@) Share Capital 1 1,40,00,000
(2) Non-Current Liabilities
(@) Long term borrowings 2 2,12,60,000
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(3) Current Liabilities
(@) Trade Payables
(b) Other current liabilities

II. Assets
(1) Non-current assets
(@) Property, Plant & Equipment
(b) Intangible assets
(2) Current assets
(@) Cash and cash equivalents

(b) Other current assets

Notes to Accounts

1. | Share Capital
Issued, subscribed & Paid up:

Total

Total

14,00,000 equity shares of X 10 each, fully

paid up (W.N.4)

(of the above 10,00,000 shares have been

issued for consideration other than cash)

2. | Long Term borrowings

Secured Loans

Aakash Limited 25,60,000
Ganga Limited 1,44,00,000

Unsecured Loans

3. | Trade Payables (W.N.1)
Aakash Limited
Ganga Limited

4. | Other current liabilities
Statutory Liabilities
Aakash Limited
Ganga Limited

5. | Property, Plant & Equipment

w

1,69,60,000
43,00,000

44,80,000

28,80,000

1,44,00,000
20,00,000
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73,60,000
1,64,00,000
5,90,20,000

2,04,00,000

1,54,20,000

40,00,000
1,92,00,000
5,90,20,000

®)

1,40,00,000

2,12,60,000

73,60,000

1,64,00,000
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Aakash Limited 68,00,000

Ganga Limited 1,36,00,000 2,04,00,000
6.  Intangible assets

Goodwill (W.N.3) 1,54,20,000
7. | Other Current Assets

Aakash Limited 57,60,000

Ganga Limited 1,34,40,000 | 1,92,00,000

Working Notes:

1. Value of total liabilities taken over by AakashGanga Ltd.
®)
Adkash Limited Ganga Limited
Current liabilities
Statutory liabilities 1,44,00,000 20,00,000
Liability to employees 60,00,000 36,00,000
Trade payables @ 80% 4480000 24880000  28,80,000  84,80,000
Secured loans
Given in Balance Sheet 3,20,00,000 1,60,00,000
Interest waived - 16,00,000 1,44,00,000
Value of Inventory (80% of
% 3,68,00,000) 2,94,40,000 25,60,000
Unsecured Loans (25% of
%1,72,00,000) 43,00,000 -
3,17,40,000 2,28,80,000
2. Assets taken over by AakashGanga Ltd.
Q)
Aakash  Ganga Limited
Limited
T 4
Property, Plant & Equipment 68,00,000 1,36,00,000

Current Assets
(80% and 70% respectively of book value) 57.,60,000 1,34,40,000

1,25,60,000 2,70,40,000
3. Goodwill / Capital Reserve on amalgamation
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Liabilities taken over (W.N. 1) 3,17,40,000
Equity shares fo be issued to Preference
Shareholders 400,000
A 3,21,40,000
Less: Total assets taken over (W.N. 2) B (1,25,60,000)
A-B 1,95,80,000
Goodwill
Net Goodwil (1,95,80,000- 41,60,000) 1,54,20,000
4. Equity shares issued by AakashGanga Ltd.
(i) | For Cash
For consideration other than cash
(i) ' In Discharge of Liabilities to Employees 96,00,000
(iii)  To Preference shareholders 4,00,000

No. of shares @ % 10

QUESTION 6

(MTP 6 VIDEO SEP. 2022)
(TIMING IN VIDEO: 00:20:32)
(Question number in MTP: 2A)

®)
2,28,80,000

2,28,80,000
(2,70,40,000)
(41,60,000)

Capital Reserve

40,00,000

1,00,00,000
1,40,00,000
14,00,000

Black Limited and White Limited have been carrying their business independently
from 01/04/2022. Because of synergy in business, they amalgamated on and from
1st April, 2022 and formed a new company Grey Limited to take over the business
of Black Limited and White Limited. The information of Black Limited and White

Limited as on 31st March, 2022 are as follows:
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Black Ltd. White Ltd.
(9] )
Share Capital:

Equity share of ¥ 10 each 15,00,000 14,50,000
10% Preference shares of T 100 each 2,00,000 1,40,000
Revaluation Reserve 1,00,000 2,00,000
General Reserve 1,65,000 85,000

Profit & Loss Account:
Opening balance (Credit balance) 1,50,000 1,20,000




Profit for the Year 2,00,000 1,30,000
15% Debentures of T 100 each (Secured) 400,000 5,00,000
Trade payables 3,10,000 1,20,000
Land and Buildings 3,20,000 7,40,000
Plant and Machinery 18,00,000 14,00,000
Investments 1,00,000 60,000
Inventory 2,20,000 1,50,000
Trade Receivables 4 25,000 2,665,000
Cash at Bank 1,60,000 1,30,000

Additional Information:

()  The authorized capital of the new company will be ¥ 54,00,000 divided into
2,00,000 equity shares of X 25 each, and 4,000 preference shares of ¥ 100 each.
(i)  Trade payables of Black Limited includes ¥ 15,000 due to White Limited and trade

(iif)

receivables of White Limited shows T 15,000 receivable from Black Limited.

Land & Buildings and inventory of Black Limited and White Limited are to be
revalued as under:

Black Ltd. White Ltd.

) )

Land and Buildings| 5,20,000 10,40,000
Inventory 1,80,000 1,25,000

(iv) The purchase consideration is to be discharged as under:

(@) Issue 1,80,000 equity shares of I 25 each fully paid up in proportion of their
profitability in the preceding two financial years.

(b) Preference shareholders of two companies are issued equivalent number of 12%
preference shares of Grey Limited at a price of ¥ 120 per share (face value ¥
100).

(c) 15% Debenture holders of Black Limited and White Limited are discharged by Grey
Limited issuing such number of its 18% Debentures of ¥ 100 each so as to maintain
the same amount of interest.

You are required o prepare the Balance Sheet of Grey Limited after amalgamation.
The amalgamation took place in the nature of purchase.

SOLUTION
Balance Sheet of Grey Ltd. as at 1st April, 2022

Particulars Note No. (9]

I. Equity and Liabilities
(1) Shareholder's Funds
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(a) Share Capital
(b) Reserves and Surplus
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L peas 48,40,000
(2) Non-Current Liabilities
Long-term borrowings 1,85,000
(3) Current Liabilities 750,000
Trade payables
4,15,000
61,90,000
Total
IT. Assets
(1) Non-current assets 47,60,000
(a) Property, Plant and Equipment 1,60,000
(b) Non-current investments
(2) Current assets
(a) Inventory 3,05,000
(b) Trade receivables 6,75,000
(c) Cash and bank balances 2,90,000
Total 61,90,000
Notes to Accounts:
) )
| Share Capital

Authorized:

2,00,000 equity shares of ¥ 25 each 50 00 000
4,000 preference share of ¥ 100 each 4,00,000
Issued, subscribed, and paid up share capital:

1,80,000 Equity shares of T 25 each 45,00,000
3,400 Preference shares of ¥ 100 each 3,40,000

(all the above shares are allotted as fully paid-up 48,40,000
pursuant to contracts without payment being received
in cash)

| Reserves and surplus

Securities Premium (3,400 x % 20) 68,000

Capital Reserve 1,17,000 1,85,000
| Long-term borrowings

18% Debentures 7,50,000
| Property, plant and equipment

Land and Building 15,60,000
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Plant and Machinery

| 3200000 47,60,000

Working Notes:
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&)
Black Ltd., Grey Ltd.
1] Computation of Purchase consideration
(a) Preference shares:
Shares at ¥ 120 each 2,40,000 1,68,000
(b) Equity shares:
Preceding 2 years profitability
Year 1 1,50,000 1,20,000
Year 2 2,00,000 1,30,000
3,560,000 2,50,000
Shares (in ratio 35: 25)
1,05,000 shares at % 25 26,25,000
75,000 shares at T 25 18,75,000
Amount of purchase consideration (a + b) 28 .65,000 20,43,000
2. Net Assets Taken Over
Assets taken over:
Land and Building 5,20,000 10,40,000
Plant and Machinery 18,00,000 14,00,000
Investments 1,00,000 60,000
Inventory 1,80,000 1,25,000
Trade receivables 425,000 2,50,000
Cash and bank 1,60,000 1,30,000
31,85,000 30,05,000
Less: Liabilities taken over:
Debentures 3,33,333 416,667
Trade payables 2,95,000 1,20,000
6,28 333 536,667
Net assets taken over 25,56 ,667 24,68,333
Purchase consideration 28,65,000 20,43,000
Goodwill 3,08,333
Capital reserve 4,25,333
Net amount of capital reserve Z1,17,000
3. Black Limited White Limited
Existing Debentures ¥4,00,000x15% | ¥5,00,000 x 15%,
=% 60,000 =¥ 75,000
%eben‘rur‘es to be issued in Grey Limited | T 60,000 x 100/18| < 75,000x100/18
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18% to maintain the same amount of =3%3,33,333 =34,16,66
interest

TOPIC 3
PARTNERSHIP ACCOUNTS

QUESTION 1

(RTP VIDEO NOV. 2021)

(TIMING IN VIDEO: 00:03:40)

(Question number in rtp: 1A)
P and Q were partners sharing profits equally of P & Q Co. Their Balance Sheet
as on March 31, 2021 was as follows:

Balance Sheet as on 31st March, 2021

Equity and Liabilities T Assets L4
Capitals: Bank 30,000
P 1,00,000 Debtors 25,000
Q 50,000 150,000 Stock 35,000
Creditors 20,000 Furniture 40,000
Q's current account 10,000 Machinery 60,000
Reserves 15,000 P's current account 10,000
Bank overdraft 5,000

2,00,000 2,00,000

The firm was dissolved on the above date:

P took over 50% of the stock at 10% less on its book value, and the remaining
stock was sold at a gain of 15%. Furniture and Machinery realized for ¥ 30,000
and % 50,000 respectively; There was an unrecorded investment which was sold
for X 25,000; Debtors realized 90% only and X 1,245 were recovered for bad
debts written off last year; There was an outstanding bill for repairs which had
to be paid for % 2,000.

You are required to prepare Realization Account, Partners' capital
accounts (including transfer of current account balances) and Bank
Account in the books of the firm.

SOLUTION
Books of P & Q Co.
Realization Account
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Particulars

Debtors 25,000
Stock 35,000
Furniture 40,000
Machinery 60,000
Bank:

Creditors 20,000
Bank overdraft 5,000
Outstanding bill 2,000
Profit transferred

to:

P's capital 1,310
Qs capital 1,310
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1,89,620

Partners' Capital Accounts

P

P's current 16,940
Account

Bank 83,060

1,00,000

Q

g Particulars g
By Creditors 20,000
By Bank overdraft 5,000
By | Bank:
1,60,000 Investment 25,000
Furniture 30,000
Machinery 50,000
Debtors (90%) 22 500
27,000 Stock 20,125
Bad debts
Recovered 1,245 148,870
2,620 By P's capital 15,750
(stock taken over)
1,89,620
P Q
By Balance 1,00,000 50,000
b/d

68,810 By Q' current

Account

68,810

Bank Account

T

Balance b/d 30,000 By @ Realization
Realization 1,48,870 By  P's capital

1,78,870

Working Note:

To
To

By @ Q's capital

Partners' Current Accounts

P
Balance b/d 10,000
Realization 15,750

Q

By Balance b/d

By Reserves

18,810

1,00,000 68,810

(4
27,000
83,060
68,810

1,78,870

P Q
10,000
7500 7,500
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To Q's capital By Realization (profit) =~ 1,310 1,310
18,810 gy p's capital 16,940
25,750 18,810 25,750 18,810
QUESTION 2

(RTP VIDEO NOV. 2022)

(TIMING IN VIDEO: 00:11:22)

(Question number in rtp: 1B)

Can a partner be called upon to pay the liability of the LLP? If yes, under what
circumstances?

SOLUTION

Under section 27 (3) LLP Act, 2008, any obligation of the LLP arising out of a
contract or otherwise shall be the sole obligation of the LLP. The partners of an
LLP in the normal course of business are not liable for the debts of the LLP. The
liabilities o f an LLP shall be met out of the assets / properties of the LLP. However,
a partner shall be liable for his own wrongful acts or commissions, but shall not be
liable for the wrongful acts or commissions of other partners of the LLP. Wrongful
acts will include acts of fraud and wilful omissions. Hence, the liability may fall only
on that partner, who is guilty of any wrongful acts or commissions in respect of
debts or liabilities acquired by such acts.

QUESTION 3

(RTP VIDEO NOV. 2022)

(TIMING IN VIDEO: 00:17:39)

(Question number in rtp: 2)
A and V, sharing profits and losses equally, desired to convert their business into a
limited company on 31st December, 2021 when their balance sheet stood as follows:

Equity & Liabilities 4 T Assets 4

Sundry creditors 1,92,000 ' Sundry debtors 2,40,000

Loan creditors 1,60,000 Bills receivable 40,000

Bank overdraft 64,000 Stock in trade 1,44,000

Reserve fund 24,000 Patents 32,000

Capital accounts: Plant and machinery 64,000
A 1,60,000 Land and building 2,40,000
v 160,000 3,20,000
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7,60,000 7,60,000
(@) The goodwill of the firm was to be valued at two years' purchase of the profits
average of the previous three years.

(b) The loan creditor agreed to accept 73% redeemable preference shares in
settlement of his claim.

(c) Land and buildings and plant and machinery were to be valued at ¥ 4,00,000 and
% 96,000 respectively.
(d) The vendors were to be allotted equity shares.

(e) The past working results of the firm showed that they had made profits of
1,20,000 in 2019, % 1,44,000 in 2020 and % 1,68,000 in 2021 after setting aside
% 8,000 fo reserve fund each year.

You are required to show realisation account and partners’ capital accounts in the books
of the firm assuming that all the transactions are duly completed.

SOLUTION
Books of A and V
Realisation Account
4 4 4
To Sundry debtors 2,40,000 By Sundry creditors 1,92,000
To Bills receivable 40,000 By Loan creditors 1,60,000
To Stock in trade 1,44,000 By Bank overdraft 64,000
To Patents 32,000 By Purchasing = 8,40,000
Company
To Plant and 64,000 (W.N.2)
Machinery
To Land and Building 2,40,000
To  Capital A/c
(Profit)
A 2,48,000
v 2,48,000 4,96,000
12,56,000 12,56,000
Partners' Capital Accounts
A v A v
(4 T (4 T
To Shares in 4,20,000 4,20,000 By Balanceb/d @ 1,60,000 1,60,000
Purchasing
Company By Reserves 12,000 12,000
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By Realization 2,48,000 2,48,000
Alc

4,20,000 4,20,000 4,20,000 4,20,000

Working Notes:
1.  Goodwill = (1,20,000 + 1,44,000 + 1,68,000 + 24,000*)/3 x 2 Years = 3,04,000
*Profit transferred to reserve @ % 8,000 for 3 years.

2. Calculation of Purchase Consideration

T T
Assets taken over:
Goodwill (W.N.1) 3,04,000
Land and Buildings 4,00,000
Plant and Machinery 96,000
Debtors 2,40,000
Bills Receivable 40,000
Stocks 1,44,000
Patents 32,000
12,56,000
Less: Liabilities taken over:
Creditors 1,92,000
Loan Creditors 1,60,000
Bank Overdraft 64,000 416,000
Purchase Consideration 8,40,000

QUESTION 4

(MTP 4 VIDEO MARCH 2022)

(TIMING IN VIDEO: 01:17:20)

(Question number in MTP: 2A)
A partnership firm was dissolved on 30th June, 2020. Its Balance Sheet on the
date of dissolution was as follows:

Equity & Liabilities 4 T  Assets R
Capitals: Cash 10,800
A 76,000 Sundry Assets 1,89,200
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B 48,000

C 36,000 1,60,000
Loan A/c- B 10,000
Sundry Creditors 30,000

2,00,000 2,00,000

The assets were realized in instalments and the payments were made on the
proportionate capital basis. Creditors were paid ¥ 29,000 in full settlement of
their account. Expenses of realization were estimated to be % 5,400 but actual
amount spent was % 4,000. This amount was paid on 15th September. Draw up a
statement showing distribution of cash, which was realized as follows:

(4
On 5th July, 2020 25,200
On 30th August, 2020 60,000
On 15th September, 2020 80,000

The partners shared profits and losses in the ratio of 2 : 2 : 1. Prepare a
statement showing distribution of cash amongst the partners by 'Highest
Relative Capital' method.

SOLUTION
Statement showing distribution of cash amongst the partners

Creditors B's Loan A B C
2020 4 4 4 4 3
June 30
Balance b/d 30,000 10,000 76,000 48,000 36,000
Cash balance less Provision for
expenses (2 10,800 -% 5,400) 5,400 - - - -
Balances unpaid 24,600 10,000 76,000 48,000 36,000
July 5
1st Instalment of ¥ 25,200 23,600 1,600 - - -
Discount  received on  full 1,000 8,400 76,000 48,000 36,000
settlement
Less: Transferred to Realization 1,000
A/c

Nil

August 30
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2nd instalment of 60,000 (W.N. 2)

Balance unpaid

September 15

Amount realized % 80,000
Add: Balance out

of the Provision for

Expenses A/c 1,400

—tee—

81,400

———

Amount unpaid being loss on
Realization in the ratioof 2: 2 : 1

Working Notes:
1. Highest relative capital basis

1. | Present Capitals

2. | Profit-sharing ratio

3 Capital per unit of Profit share (1

+2)

4. | Proportionate capitals taking B,
whose capital is the least, as the

basis
5.  Excess capital (1-4)
6.  Profit-sharing ratio

7.  Excess capital per unit of Profit

share (5 = 6)

8.  Proportionate capitals
between A and C taking C capital

as the basis

9. | Excess of A's Capital over C's

Excess capital (5-8)

10.  Balance of Excess capital (5-9)

11. | Distribution sequence:
First 34,000 (2:0: 0)
Next 236,000 (2:0:1)

8,400 32,640 4,640
Nil 43,360 43,360

32,560/ 32,560

76,000

38,000

48,000

28,000

14,000

24,000

4,000

24,000

4,000
24,000

10,800 10,800

B
4
48,000

24,000

48,000

Nil
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14,320
21,680

16,280
5,400

C
4
36,000

36,000

24,000

12,000

12,000

12,000

12,000

12,000
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Over340,000(2:2:1)

Distribution of Second instalment

Creditors A B

First  ¥8,400 8,400 - -
Next ¥4,000(2:0:0) 4,000 -
Next %36,000(2:0:1) 24,000 -
Balance 211600 (2:2:1) 4,640 4,640
60,000 8,400 32,640 4,640
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TOPIC 4

BANKING & NBFC
QUESTION 1 (BANKING)

(RTP VIDEO MAY 2018)
(TIMING IN VIDEO: 00:51:36)
(Question number in rtp: 9)
The following are the figures extracted from the books of TOP Bank Limited as on

31.3.2017.

4
Interest and discount received 59,29,180
Interest paid on deposits 32,59,920
Issued and subscribed capital 16,00,000
Salaries and allowances 3,20,000
Directors fee and allowances 48,000
Rent and taxes paid 1,44,000
Postage and telegrams 96,460
Statutory reserve fund 12,80,000
Commission, exchange and brokerage 3,04,000
Rent received 1,04,000
Profit on sale of investments 3,20,000
Depreciation on bank's properties 48,000
Statutory expenses 44,000
Preliminary expenses 40,000
Auditor's fee 28,000

The following further information is given:

(i) A customer to whom a sum of X 16 lakhs has been advanced has become insolvent
and it is expected only 40% can be recovered from his estate.

(ii) There were also other debts for which a provision of ¥ 2,10,000 was found
necessary by the auditors.

(iii) Rebate on bills discounted on 31.3.2016 was % 19,000 and on 31.3.2017 was %
25,000.

(iv) Preliminary expenses are to be fully written off during the year.
(v) Provide % 9,00,000 for Income-tax.
(vi) Profit and Loss account opening balance was Nil as on 31.3.2016.
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Prepare the Profit and Loss account of TOP Bank Limited for the year ended 31.3.2017.

SOLUTION

IT.

III.

Iv.

II.

TOP Bank Limited

Profit and Loss Account for the year ended 31st March, 2017

Income:

Interest earned

Other income

Total

Expenditure

Interest expended
Operating expenses
Provisions and contingencies (960+210+900)
Total

Profits/Losses

Net profit for the year
Profit brought forward

Appropriations
Transfer to statutory reserve (25%)

Balance carried over to balance sheet

Schedule 13 - Interest Earned

Schedule

13
14

15
16

Year ended
31.03.2017

(X in '000s)

5923.18
728.00
6,651.18

3259.92
768.46
2,070.00
6,098.38

552.80
nil

552.80

138.20
414.60
552.80

Year ended 31.3. 2017

Interest/discount on advances/bills (Refer W.N.)

Schedule 14 - Other Income

Commission, exchange and brokerage

Profit on sale of investments
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(Z in '000s)

5923.18
5923.18

304
320



ITT.

IT.

IIT.

Iv.

VI

VII.
VIII.
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Rent received

Schedule 15 - Interest Expended
Interests paid on deposits
Schedule 16 - Operating Expenses
Payment to and provisions for employees
Rent and taxes
Depreciation on bank's properties
Director's fee, allowances and expenses
Auditors’ fee
Law (statutory) charges
Postage and telegrams

Preliminary expenses

Working Note:

Interest/discount
Add: Rebate on bills discounted on 31.3. 2016
Less: Rebate on bills discounted on 31.3. 2017

QUESTION 2 (SANCTION LIMIT: BANKING)

(RTP VIDEO NOV. 2020)
(TIMING IN VIDEO: 01:38:10)
(Question number in rtp: 9A)

State with reason whether the following cash credit accounts are NPA or not:

Sanctioned limit
Drawing power

Amount outstanding continuously 01-01-19 to 31-
03-19

Total interest debited for the above period

Total credits for the above period

Case-1
60,00,000
56,00,000
48,00,000

3,84,000
Nil
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104
728

3259.92

320
144

48

48

28

44
96.46
40
768.46

(Z in '000s)
5,929.18
19.00

( 25.00)
5,923.18

Case-2
45,00,000
42,00,000
30,00,000

2,40,000
3,20,000
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SOLUTION
Case 1 Case 2
T T
Sanctioned limit 60,00,000 45,00,000
Drawing power 56,00,000 42,00,000
Amount outfstanding continuously from 48,00,000 30,00,000
1.01.2019
to 31.03.2019
Total interest debited 3,84,000 2,40,000
Total credits - 320,000
Is credit in the account is sufficient to No Yes
cover the inferest debited during the
period or amount is
not 'overdue’ for a continuous period of 90
days.
NPA NOT NPA

QUESTION 3 (BANKING)

(RTP VIDEO NOV. 2022)
(TIMING IN VIDEO: 01:06:10)
(Question number in rtp: 10)
The following are the figures extracted from the books of TOP Bank Limited as on

31.3.2022.

4
Interest and discount received 59,29,180
Interest paid on deposits 32,59,920
Issued and subscribed capital 16,00,000
Salaries and allowances 3,20,000
Directors fee and allowances 48,000
Rent and taxes paid 1,44,000
Postage and telegrams 96,460
Statutory reserve fund 12,80,000
Commission, exchange and brokerage 3,04,000
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Rent received

Profit on sale of investments
Depreciation on bank’s properties
Statutory expenses

Preliminary expenses

Auditor's fee

The following further information is given:

1,04,000
3,20,000
48,000
44,000
40,000
28,000

(i) A customer to whom a sum of % 16 lakhs has been advanced has become insolvent
and it is expected only 40% can be recovered from his estate.

(ii) There were also other debts for which a provision of ¥ 2,10,000 was found

necessary by the auditors.

(iii) Rebate on bills discounted on 31.3.2021 was % 19,000 and on 31.3.2022 was X

25,000.

(iv) Preliminary expenses are to be fully written off during the year.

(v) Provide ¥9,00,000 for Income-tax.

(vi) Profit and Loss account opening balance was Nil as on 31.3.2021.

Prepare the Profit and Loss account of TOP Bank Limited for the year ended

31.3.2022.

SOLUTION
TOP Bank Limited

Profit and Loss Account for the year ended 31st March, 2022

I. Income:
Interest earned
Other income
Total
II. Expenditure
Interest expended
Operating expenses
Provisions and contingencies (960+210+900)
Total
III. Profits/Losses

Schedule

13
14

15
16
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Year ended
31.03.2022

(Z in '000s)

5923.18
728.00
6,651.18

3259.92

768.46
2,070.00
6,098.38



Iv.

IT.
IIT.

II.
IIT.
Iv.

VI
VII.
VIII
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Net profit for the year
Profit brought forward

Appropriations

Transfer to statutory reserve (25%)

Balance carried over to balance sheet

Schedule 13 - Interest Earned

Interest/discount on advances/bills (Refer W.N.)

Schedule 14 - Other Income
Commission, exchange and brokerage
Profit on sale of investments

Rent received

Schedule 15 - Interest Expended
Interests paid on deposits

Schedule 16 - Operating Expenses
Payment to and provisions for employees
Rent and taxes
Depreciation on bank's properties
Director's fee, allowances and expenses
Auditors' fee
Law (statutory) charges
Postage and telegrams

Preliminary expenses

Working Note:
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552.80
nil
552.80

138.20
414.60
552.80

Year ended
31.3. 2022

(% in '000s)

5,923.18
5,923.18

304
320
104
728

3,259.92

320
144
48
48
28
44
96.46
40

768.46
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(T in '000s)

Interest/discount 5,929.18
Add: Rebate on bills discounted on 31.3. 2021 19.00
Less: Rebate on bills discounted on 31.3. 2022 (25.00)
5,923.18

QUESTION 4 (NBFC)

(RTP VIDEO MAY 2019)
(TIMING IN VIDEO: 00:06:26)
(Question number in rtp: 10)

LK Finance Ltd. is a non-banking financial company. It provides you with the following
information regarding its outstanding amount, ¥ 400 lakhs of which installments are
overdue on 400 accounts for last two months (amount overdue % 80 lakhs), on 24
accounts for three months (amount overdue X 48 Iakhs), on 10 accounts for more than
30 months (amount overdue % 40 lakhs) and on 4 accounts for more than three years
(amount over due X 40 lakhs-already identified as sub-standard assets) and one
account of % 20 lakhs which has been identified as non-recoverable by the
management. Out of 10 accounts overdue for more than 30 months, 6 accounts are
already identified as sub-standard (amount % 12 lakhs) for more than fourteen months
and other are identified as sub- standard asset for a period of less than fourteen
months.

Classify the assets of the company in line with Non-Banking Financial Company -
Systemically Important Non-Deposit taking Company and Deposit taking Company
(Reserve Bank) Directions, 2016.

SOLUTION
Statement showing classification as per Non-Banking Financial Company

- Systemically Important Non-Deposit taking Company and Deposit taking
Company (Reserve Bank) Directions, 2016

(X in lakhs)
Standard Assets
Accounts (Balancing figure) 172.00
400 accounts overdue for a period for 2 months 80.00
24 accounts overdue for a period by 3 months 48.00 300.00
Sub-Standard Assets
4 accounts identified as sub-standard asset for a period less than 28.00

14 months
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Doubtful Debts

6 accounts identified as sub-standard for a period more than 14 12.00
months

4 accounts identified as sub-standard for a period more than 3 40.00
years

Loss Assets
1 account identified by management as loss asset 20.00

Total overdue 400.00

QUESTION 5 (NBFC)

(RTP VIDEO NOV. 2020)

(TIMING IN VIDEO: 01:32:44)

(Question number in rtp: 10A)
Write short note on Earning value (Equity share) as per NBFC Prudential Norms
(RBI) directions.

SOLUTION

Earning value means the value of an equity share computed by taking the average
of profits after tax as reduced by the preference dividend and adjusted for
extra-ordinary and non-recurring items, for the immediately preceding three
years and further divided by the number of equity shares of the investee
company and capitalized at the following rate:

in case of predominantly manufacturing company, eight per cent;
in case of predominantly trading company, ten per cent; and

in case of any other company, including non-banking financial company,
twelve per cent;

Note: If an investee company is a loss making company the earning value will be
taken at zero.

QUESTION 6

(RTP VIDEO MAY 2022)
(TIMING IN VIDEO: 01:53:07)
(Question number in rtp: 9 A & B)
(a) Calculate ‘Owned Fund' of an NBFC based on the following information:
Paid up share capital: ¥ 200 lakhs Free reserves: % 150 lakhs

Compulsory convertible preference shares (CCPS): % 50 lakhs
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Revaluation reserve: % 50 lakhs (created by revaluation of assets)
Securities premium: % 25 lakhs

Book value of intangible assets: % 10 lakhs
Capital reserves (surplus arising out of sale proceeds of assets): % 15 lakhs

(b) While closing its books of account at year end, a Non-Banking Finance Company
has its advances classified as follows:

T in lakhs
Standard assets 1,26,000
Sub-standard assets 10,050
Secured portions of doubtful debts:
up to one year 2,400
one year to three years 675
more than three years 225
Unsecured portions of doubtful debts 727
Loss assets 360

Calculate the amount of provision, which must be made against the advances as
per the Non-Banking Financial Company - Non-Systemically Important Non-
Deposit taking Company (Reserve Bank) Directions, 2016.

SOLUTION
(a) Owned fund calculation:
Paid up share capital: % 200 lakhs
Free reserves: %150 lakhs
Compulsory convertible preference shares (CCPS): % 50 lakhs
Securities premium: % 25 lakhs
Capital Reserves : 15 lakhs

Total of all above items : ¥ 440 lakhs reduced by the value of intangible assets
% 10 lakhs ie. owned fund is computed as % 430 lakhs.

Note: Revaluation reserve to be excluded while computing owned fund.

(b) Calculation of provision required on advances as at year end, as per the Non-
Banking Financial Company - Non-Systemically Important Non-Deposit taking
Company (Reserve Bank) Directions, 2016

Amount Percentage Provision

Z in lakhs of provision Zin

lakhs

Standard assets 1,26,000 0.25 315.00
Sub-standard assets 10,050 10 1,050.00
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Secured portions of doubtful debtsl

upto one year 2,400 20 480.00
one year to three years 675 30 202.50
more than three years 225 50 112.50
Unsecured portions of doubtful debts 727 100 727.00
Loss assets 360 100 360.00
3,247.00
QUESTION 7

(MTP 3 VIDEO NOV. 2021)
(TIMING IN VIDEO: 00:21:23)
(Question number in rtp: 2B)
Classify the following NPAs of the SG Banking Limited:
- Loan Assets overdue for more than 3 months but less than 12 months: ¥ 150
Lakhs, fully secured.
- Loan Assets overdue for more than 12 months: X 90 Lakhs, fully secured.

- Loan Assets overdue for more than 36 months and considered uncollectible :
% B0 Lakhs. (This comprise of two assets worth % 25 Lakhs each. One of these
has a security value of % 20 Lakhs).

Also, give the amount of provisioning required in each case.

SOLUTION
Assets Classification Amount % of Provision
- ( in Provision ®in
lakhs) lakhs)
Overdue for more than Sub-standard 150 15 22.50
3 months but less than
12 months
Overdue for Doubtful less than 90 25 22.50
more than 12 1year
months
Overdue for more than Doubtful 1 to 20 40 8
three  years  (fully = 3years
secured-
secured by % 20
lakhs)

For rtp/mtp videos...please visit:caparveenjindal.com/LMS



66

Overdue for more than Doubtful 1 to 3
three years (unsecured) years

Overdue for

more than three

years

Total provision

Loss

5 100

25 100

QUESTION 8 (IMPORTANT QUESTION ON SANCTION LIMIT)

(MTP 4 VIDEO MARCH 2022)

(TIMING IN VIDEO: 01:00:10)

(Question number in rtp: 4C)

25

83

State with reason whether the following cash credit accounts are NPA or not:

Sanctioned limit
Drawing power

Amount outfstanding
continuously 01-01-21
to 31-03-21

Total interest
debited for the above
period

Total credits for the
above period

SOLUTION

Sanctioned limit
Drawing power

Amount outstanding
continuously from
1.01.2021 to 31.03.2021

Total interest debited
Total credits

Case-1
50,00,000
44,00,000
40,00,000

3,20,000

1,80,000

Case 1

4
50,00,000
44,00,000
40,00,000

3,20,000
1,80,000

Case-2
60,00,000
56,00,000
48,00,000

3,84,000

Nil

Case 2

4
60,00,000
56,00,000
48,00,000

3,84,000

Case- 3
55,00,000
50,00,000
56,00,000

4,48,000

4,48,000

Case 3

4
55,00,000
50,00,000
56,00,000

4,48,000
4,48,000
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Case-4
45,00,000
42,00,000
30,00,000

2,40,000

3,20,000

Case 4

4
45,00,000
42,00,000
30,00,000

2,40,000
320,000
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Is credit in the account is No No | The credit in the Yes

sufficient to cover the
interest debited during the
period or amount is not
‘overdue’ for a continuous

account is
sufficient to

cover the
interest  debited

period of 90 days. but  the amount
outstanding is
continuously in
excess of the
sanctioned drawing
power  for a
continuous  period
of 90 days.
NPA NPA NPA NOT NPA
QUESTION 9

(MTP 6 VIDEO SEP. 2022)
(TIMING IN VIDEO: 01:25:42)
(Question number in rtp: 6B)

From the following information of Royal Bank, compute the amount of provisions

to be made in the Profit and Loss account.

Assets T (In Lakhs)
Standard Assets 25,000
Sub-Standard Assets (including Unsecured X 8,000 lakhs) 15,000
Doubtful Assets

a. Upto 1year [Realisable value of Security ¥ 2,200) 4,500
b. 1to 3 years [Realisable value of Security ¥ 1,200) 3,200
c. More than 3 years (no Security) 1,300
Loss Assets - 530

SOLUTION

Statement showing provisions on various performing and non-performing assets

Amount % of | Provision

T in lakhs provision | X in lakhs

Standard 25,000 0.40 100
Sub-standard (Secured) 7,000 15 1,050
(Unsecured) 8,000 25 2,000
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Doubtful (upto one year)

On secured portion

On unsecured portion

Doubtful (more than one year but upto three
years)

On secured portion

On unsecured portion

Doubtful Unsecured (more than three years)

Loss Assets
Total provision

2,200
2,300

1,200
2,000
1,300

530

25
100

40
100
100
100

550
2,300

480
2,000
1,300

230
10,310
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TOPIC 5
SHARE BASED PAYMENT (ESOP<ESPP<SAR) &
BUY BACK OF SHARES

QUESTION 1

(RTP VIDEO MAY 2018)
(TIMING IN VIDEO: 00:04:02)
(Question number in rtp: 1)

PQ Ltd. grants 100 stock options to each of its 1,000 employees on 1 -4-2015, conditional
upon the employee remaining in the company for 2 years. The fair value of the option
is ¥ 18 on the grant date and the exercise price is ¥ 55 per share. The other
information is given as under:

(i) Number of employees expected to satisfy service condition are 930 in the 1 st
year and 850 in the 2nd year.

(ii) 40 employees left the company in the 1st year of service and 880 employees
have actually completed 2 year vesting period.

You are required to calculate ESOP cost to be amortized by PQ Ltd. in the years
2015- 2016 and 2016-2017.

SOLUTION
Calculation of ESOP cost to be amortized
2015-2016 2016-2017
Fair value of options per %18 %18
share
No. of options expected to
vest under the scheme 93,000 (930 x 100) 88,000 (880 x 100)
Fair value of options %16,74,000 %15,84,000
Value of options recognized (X16,74,000/ 2) (X15,84,000-%
8,37,000)
as expenses 8,37,000 7,47,000
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QUESTION 2

(RTP VIDEO NOV. 2018)

(TIMING IN VIDEO: 00:03:18)

(Question number in rtp: 1B)
At the beginning of year 1, the enterprise grants 1,000 stock options to each
member of its sales team, conditional upon the employees remaining in the
employment of the enterprise for three years, and the team selling more than
50,000 units of a particular product over the three-year period. The fair value
of the stock options is X 15 per option at the date of grant.

During year 2, the enterprise increases the sales target to 1,00,000 units. By
the end of year 3, the enterprise has sold 55,000 units, and the stock options
do not vest.

Twelve members of the sales team have remained in service for the three-year
period. You are required fo examine and give comment in light of the relevant
Guidance Note that whether the company should recognise the expenses on the
base of options granted or not.

Also state will your answer differ if, instead of modifying the
performance target, the enterprise had increased the number of years
of service required for the stock options to vest from three years to ten
years.

SOLUTION

if the enterprise modifies the vesting conditions in a manner that is not
beneficial to the employee, the enterprise does not take the modified vesting
conditions into account when applying the requirements for treatment of vesting
conditions as specified in Guidance Note.

Therefore, because the modification to the performance condition made it less
likely that the stock options will vest, which was not beneficial to the employee,
the enterprise takes no account of the modified performance condition when
recognizing the services received. Instead, it continues to recognize the
services received over the three-year period based on the original vesting
conditions. Hence, the enterprise ultimately recognizes cumulative remuneration
expense of ¥ 1,80,000 over the three- year period (12 employees x 1,000 options
x T 15).

The same result would have occurred if, instead of modifying the
performance target, the enterprise had increased the number of years
of service required for the stock options to vest from three years to ten
years. Because such a modification would make it less likely that the
options will vest, which would not be beneficial to the employees, the
enterprise would take no account of the modified service condition when
recognizing the services received. Instead, it would recognize the
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services received from the twelve employees who remained in service over
the original three- year vesting period.

QUESTION 3

(RTP VIDEO NOV 2022)

(TIMING IN VIDEO: 00:39:40)

(Question number in rtp: 3)
Mehta Ltd. grants 1,500 stock options to its employees on 1.4.2019 at % 50. The
vesting period is fwo and a half years. The maximum exercise period is one year.
Market price on that date is % 80. Fair value per option is % 30. All the options were
exercised on 31.7.2022. Give the necessary journal entries if the face value of equity
share is % 10 per share.

SOLUTION
Books of Mehta Ltd.
Journal Entries

Date Particulars Debit Credit
£4 £4

31.3.2020 Employees Compensation Expense Dr. 18,000

Account

To  Employees  Stock  Option 18,000

Outstanding Account

(Being compensation expense recognized
in_respect of 1500 options granted to
employees at discount of % 30 each,
amortized on straight line basis over 23
years) (Refer WN)

Profit and Loss Account Dr. 18,000

To Employees Compensation Expense 18,000
Account

(Being employees compensation expense
of the year transferred to P&L A/c)

31.3.2021 Employees Compensation Expense Dr. 18,000
Account

To  Employees  Stock  Option 18,000
Outstanding Account
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(Being compensation expense recognized
in respect of 1500 options granted to
employees at discount of ¥ 30 each,
amortized on straight line basis over 23
years) (Refer WN)

Profit and Loss Account Dr. 18,000
To Employees Compensation 18,000
Expense Account

(Being employees compensation expense
of the year transferred to P&L A/c)

31.3.2022 Employees Compensation Expense  Dr. 9,000
Account

To  Employees  Stock  Option 9,000
Outstanding Account

(Being balance of compensation expense
amortized ¥ 45,000 less % 36,000) (Refer
WN)

Profit and Loss Account Dr. 9,000

To Employees Compensation Expense 9,000
Account

(Being employees compensation expense
of the year transferred to P&L A/c)

31.7.2022 Bank Account (X 50 x 1,500) Dr. 75,000
To Equity Share Capital Account 15,000
To Securities Premium Account 60,000

(Being exercise of 1500 options at an
exercise price of ¥ 50)

31.7.2022 Stock Option Outstanding A/c (X 30 x Dr. 45,000
1,500)

To Securities Premium Account 45,000

(Being the balance in the Employees Stock
Option Outstanding Account transferred
to Securities Premium A/c)
Working Notes:
1. Total employees compensation expense = 1,500 x (% 80 - ¥ 50) = ¥ 45,000

2. Employees compensation expense has been written off during 23 years on
straight line basis as under:
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I year =% 18,000 (for full year)
IT year = % 18,000 (for full year)
ITII year = 39,000 (for half year)

QUESTION 4 (BUY BACK)

(RTP VIDEO NOV. 2020)
(TIMING IN VIDEO: 01:53:07)
(Question number in rtp: 04)
Pratham Ltd. (a non-listed company) has the following Capital structure as on 31st

March, 2020:

Particulars (4 4
Equity Share Capital (shares of % 10 each fully paid 30,00,000
Reserves & Surplus

General Reserve 32,50,000

Security Premium Account 6,00,000

Profit & Loss Account 430,000

Revaluation Reserve 6,20,000 49,00,000
Loan Funds 42,00,000

You are required to compute by Debt Equity Ratio Test, the maximum number of shares
that can be bought back in the light of above information, when the offer price for buy back is
X 30 per share.

SOLUTION
Debt Equity Ratio Test
Particulars 4
a) Loan funds 42,00,000
(b) = Minimum equity to be maintained after buy
back in the ratio of 2:1 (R in crores) 21,00,000
(c) Present equity shareholders fund (X in crores) 72,80,000
(d) ' Future equity shareholder fund (% in crores) 59,85,000
(See Note 2) (72,80,000-12,95,000)

(e) Maximum permitted buy back of Equity (X in 38,85,000 (by simultaneous
crores) [(d) - (b)] (See Note 2) equation)

(f)  Maximum number of shares that can be  1,29,500 (by simultaneous
bought back @ % 30 per share (shares in equation)
crores) (See Note 2)
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Working Note:
1.  Shareholders’ funds

Particulars Z
Paid up capital 30,00,000
Free reserves (32,50,000 +6,00,000+4,30,000) 42,80,000

72,80,000

2.  As per section 68 of the Companies Act, 2013, amount transferred to CRR and
maximum equity to be bought back will be calculated by simultaneous equation
method.

Suppose amount equivalent to nominal value of bought back shares transferred
to CRR account is 'x’ and maximum permitted buy-back of equity is'y".

Equation 1 :(Present equity - Nominal value of buy-back transfer to CRR) -
Minimum equity to be maintained = Maximum permissible buy-back of equity

(72,80,000 -x)-21,00,000 =y (¢))
Since 51,80,000 - x =y
. . Maximum buy—back .
Equation 2: (Offer rice for biy—back < N ominal Value)
= Nominal value of the shares bought -back to be transferred to CRR
- Y —_—
= (5x10) =x
3x = y (2)

x =% 12,95,000 crores and y = X 38,85,000 crores

QUESTION 5

(MTP 4 VIDEO MARCH 2022)
(TIMING IN VIDEO: 00:38:00)
(Question number in rtp: 6D)

Suvidhi Ltd. offered 50 stock options to each of its 1500 employees on 1st April
2019 for % 30. Option was exercisable within a year it was vested. The shares
issued under this plan shall be subject to lock-in on transfer for three years
from the grant date. The market price of shares of the company is ¥ 50 per
share on grant date. Due to post vesting restrictions on transfer, the fair value
of shares issued under the plan is estimated at % 38 per share. On 31st March,
2020,1200 employees accepted the offer and paid % 30 per share purchased.
Nominal value of each share is % 10. Record the issue of shares in the books of
the company under the aforesaid plan.
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SOLUTION
Journal Entries in the books of Suvidhi Ltd.

Date Particulars Dr. ® cr. ®
31.3.20  Bank A/c (60,000 shares x % 30) Dr. 18,00,000

Employees stock compensation expense A/c | 4,80,000

Dr.
To Share Capital A/c (60,000 shares x 6,00,000
Z10)
To Securities Premium 16,80,000

(60,000 shares x % 28)

(Being shares issued under ESOP @ % 30 to
1,200 employees)

Profit & Loss A/c Dr. 4.80,000

To Employees stock compensation 4,80,000
expense A/c

(Being Employees stock compensation
expense transferred to Profit & Loss A/c)
Working Note:
Fair value of an option = =%¥38-%¥30=%8
Number of shares issued =1,200 employees x 50 shares = 60,000 shares
Fair value of ESOP which will be recognized as expenses in the year 2019-2020
= 60,000 shares x ¥ 8 = ¥ 4,80,000
Vesting period = 1 year
Expenses recognized in 2019-2020 =% 4,80,000

QUESTION 6

(MTP 6 VIDEO SEP. 2022)
(TIMING IN VIDEO: 01:05:02)
(Question number in rtp: 6D)

At the beginning of year 1, an enterprise grants 10,000 stock options to a senior
executive, conditional upon the executive remaining in the employment of the
enterprise until the end of year 3. The exercise price is ¥ 40. However, the exercise
price drops to X 30 if the earnings of the enterprise increase by at-least an average
of 10 per cent per year over the three-year period.

On the grant date, the enterprise estimates that the fair value of the stock options,
with an exercise price of ¥ 30, is ¥ 16 per option. If the exercise price is X 40, the
enterprise estimates that the stock options have a fair value of ¥ 12 per option.
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During year 1, the earnings of the enterprise increased by 12 per cent, and the
enterprise expects that earnings will continue to increase at this rate over the next
two years. The enterprise, therefore, expects that the earnings target will be
achieved, and hence the stock options will have an exercise price of ¥ 30.

During year 2, the earnings of the enterprise increased by 13 per cent, and the
enterprise continues to expect that the earnings target will be achieved.

During year 3, the earnings of the enterprise increased by only 3 per cent, and
therefore the earnings target was not achieved. The executive completes three
years' service, and therefore satisfies the service condition. Because the earnings
target was not achieved, the 10,000 vested stock options have an exercise price of
T 40.

You are required to calculate the amount to be charged to Profit and Loss
Account every year on account of compensation expenses.

SOLUTION

Since the exercise price varies depending on the outcome of a performance
condition which is not a market condition, the effect of that performance condition
(i.e. the possibility that the exercise price might be X 40 and the possibility that
the exercise price might be ¥ 30) is not considered when estimating the fair value
of the stock options at the grant date. Instead, the enterprise estimates the fair
value of the stock options at the grant date under each scenario and revises the
transaction amount fo reflect the outcomes of that performance condition at the
end of every year based on the information available at that point of time.

Calculation of compensation expense to be charged every year

Year | Calculation Expense for the year, Cumulative expense (3)
)

1 10,000 x% 16 x 1/3 53,333 53,333

2 10,000 xX 16 x 2/3 53,334 1,06,667

3 10,000 x% 12 x 3/3 13,333 1,20,000
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TOPIC 6
AS 4 (EVENTS AFTER B/S DATE)

QUESTION 1

(RTP VIDEO NOV 2021)
(TIMING IN VIDEO: 01:38:11)
(Question number in rtp: 12)
XYZ Ltd. operates its business into various segments. Its financial year ended on 31st
March, 2020 and the financial statements were approved by their approving authority
on 15th June, 2020. The following material events took place:

a. A major property was sold (it was included in the balance sheet at X 25,00,000)
for which contracts had been exchanged on 15th March, 2020. The sale was
completed on 15th May, 2021 at a price of % 26,50,000.

b.  On 2nd April, 2020, a fire completely destroyed a manufacturing plant of the
entity. It was expected that the loss of % 10 million would be fully covered by
the insurance company.

c. A claim for damage amounting to X 8 million for breach of patent had been
received by the entity prior to the year-end. It is the director's opinion, backed
by legal advice that the claim will ultimately prove to be baseless. But it is still
estimated that it would involve a considerable expenditure on legal fees.

You are required to state with reasons, how each of the above items should be dealt
with in the financial statements of XYZ Ltd. for the year ended 31st March, 2020.

SOLUTION
Treatment as per AS 4 'Contingencies and Events Occurring After the Balance Sheet
Date’

(@) The sale of property should be treated as an adjusting event since contracts
had been exchanged prior to the year-end. The effect of the sale should be
reflected in the financial statements ended on 31.3.2020 and the profit on
sale of property

% 1,50,000 would be considered.

(b) The event is a non-adjusting event since it occurred after the year-end and
does not relate to the conditions existing at the year-end. However, it is
necessary to consider the validity of the going concern assumption having
regard to the extent of insurance cover. Also, since it is said that the loss
would be fully recovered by the insurance company, the fact should be
disclosed by way of a note to the financial statements.
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(c) On the basis of evidence provided, the claim against the company will not
succeed. Thus, % 8 million should not be provided in the account, but should be
disclosed by means of a contingent liability with full details of the facts.
Provision should be made for legal fee expected to be incurred to the extent
that they are not expected fo be recovered.

QUESTION 2

(RTP VIDEO MAY 2022)

(TIMING IN VIDEO: 02:12:01)

(Question number in rtp: 12)
Tee Ltd. closes its books of accounts every year on 31st March. The financial
statements for the year ended 31st March 2020 are to be approved by the approving
authority on 30th June 2020. During the first quarter of 2020-2021, the following
events / transactions has taken place. The accountant of the company seeks your
guidance for the following:

(i) Tee Ltd. has an inventory of 50 stitching machines costing at % 5,500 per
machine as on 31st March 2020. The company is expecting a heavy decline in the
demand in next year. The inventories are valued at cost or net realizable value,
whichever is lower. During the month of April 2020, due to fall in demand, the
prices have gone down drastically. The company has sold 5 machines during April,
2020 at a price of ¥ 4,000 per machine.

(i) A fire has broken out in the company's godown on 15th April 2020. The company
has estimated a loss of ¥ 25 lakhs of which 75% is recoverable from the
Insurance company.

(iii) A suit against the company's advertisement was filed by a party on 10 th April,
2020 10 days after the year end claiming damages of % 20 lakhs.

You are required to state with reasons, how the above transactions will be
dealt with in the financial statements for the year ended 31 March 2020.

SOLUTION

Events occurring after the balance sheet date are those significant events, both
favourable and unfavourable, that occur between the balance sheet date and the date
on which the financial statements are approved by the Board of Directors in the case
of a company, and, by the corresponding approving authority in the case of any other
entity. Assets and liabilities should be adjusted for events occurring after the
balance sheet date that provide additional evidence to assist the estimation of
amounts relating to conditions existing at the balance sheet date or that indicate that
the fundamental accounting assumption of going concern is not appropriate. In the
given case, financial statements are approved by the approving authority on 30 June
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2020. On the basis of above principles, following will be the accounting treatment in
the financial statements for the year ended at 31 March 2020:

(i) Since on 31 March 2020, Tee Ltd. was expecting a heavy decline in the demand
of the stitching machine. Therefore, decline in the value during April, 2020 will
be considered as an adjusting event. Hence, Tee Ltd. needs to adjust the
amounts recognized in its financial statements w.r.t. net realizable value at the
end of the reporting period. Accordingly, inventory should be written down to
4,000 per machine. Total value of inventory in the books will be 50 machines x %
4,000 = % 2,00,000.

(ii) A fire took place after the balance sheet date i.e. during 2020-2021 financial
year. Hence, the financial statements for the year 2019-2020 should not be
adjusted for loss occurred due to fire. However, in this circumstance, the going
concern assumption will be evaluated. In case the going concern assumption is
considered to be appropriate even after the occurrence of fire, no disclosure of
the same is required in the financial statements.

(iii) The contingency is restricted to conditions existing at the balance sheet date.
However, in the given case, suit was filed against the company's advertisement
by a party on 10th April for amount of % 20 lakhs. Therefore, it does not fit into
the definition of a contingency and hence is a non-adjusting event.

QUESTION 3

(RTP VIDEO NOV 2022)

(TIMING IN VIDEO: 02:09:36)

(Question number in rtp: 12)
Explain accounting treatment of Contingent Gains as per AS 4 “Contingencies and
Events occurring after the Balance Sheet Date".

SOLUTION
Contingent gains are not recognised in financial statements since their
recognition may result in the recognition of revenue which may never be
realised. However, when the realisation of a gain is virtually certain, then
such gain is not a contingency and accounting for the gain is appropriate.

QUESTION 4

(MTP 2 VIDEO OCT 2021)

(TIMING IN VIDEO: 01:00:23)

(Question number in rtp: 6B)
Tee Ltd. closes its books of accounts every year on 31st March. The financial
statements for the year ended 31 March 2020 are to be approved by the
approving authority on 30 June 2020. During the first quarter of 2020-2021,
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the following events / transactions has taken place. The accountant of the
company seeks your guidance for the following:

(i) TeelLtd. has an inventory of 50 stitching machines costing at X 5,500 per
machine as on 31 March 2020. On 31 March 2020 the company is expecting
a heavy decline in the demand in next year. The inventories are valued at
cost or net realisable value, whichever is lower. During the month of April
2020, due to fall in demand, the prices have gone down drastically. The
company has sold 5 machines during this month at a price of ¥ 4,000 per
machine.

(i) A fire has broken out in the company's godown on 15 April 2020. The
company has estimated a loss of % 25 lakhs of which 75% is recoverable
from the Insurance company.

(iii) The company has entered into a sale agreement on 30 March 2020 to sell
a property for a consideration of ¥ 7,50,000 which is being carried in the
books at ¥ 5,50,000 at the year end. The transfer of risk and reward and
sale is complete in the month of May 2020 when conveyance and possession
get completed.

(iv) The company has received, during the year 2018-2019, a government grant
of X 15 lakhs for purchase of a machine. The company has received a notice
for refund of the said grant on 15 June, 2020 due to violation of some of
the conditions of grant during the year 2019-2020.

You are required to state with reasons, how the above fransactions will be dealt
with in the financial statement for the year ended 31st March 2020.

SOLUTION

Events occurring after the balance sheet date are those significant events, both
favourable and unfavourable, that occur between the balance sheet date and the
date on which the financial statements are approved by the Board of Directors
in the case of a company, and by the corresponding approving authority in the
case of any other entity.

Assets and liabilities should be adjusted for events occurring after the balance
sheet date that provide additional evidence to assist the estimation of amounts
relating to conditions existing at the balance sheet date or that indicate that
the fundamental accounting assumption of going concern is not appropriate.

In the given case, financial statements are approved by the approving authority
on 30 June 2020.

On the basis of above principles, following will be the accounting treatment in
the financial statements for the year ended at 31 March 2020:

(i) Since on 31 March 2020, Tee Ltd. was expecting a heavy decline in the
demand of the stitching machine. Therefore, decline in the value during
April, 2020 will be considered as an adjusting event. Hence, Tee Ltd. needs
to adjust the amounts recognized in its financial statements w.r.t. net
realisable value at the end of the reporting period. Accordingly, inventory
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should be written down to ¥ 4,000 per machine. Total value of inventory in
the books will be 50 machines x ¥ 4,000 = % 2,00,000.

A fire ftook place after the balance sheet date i.e. during 2020 -2021
financial year. Hence, corresponding financials of 2019-2020 financial year
should not be adjusted for loss occurred due fo fire. However, in this
circumstance, the going concern assumption will be evaluated. In case the
going concern assumption is considered o be appropriate even after the
occurrence of fire, no disclosure of the same is required in the financial
statements. Otherwise, disclosure be given.

Since the transfer of risk and reward and sale was complete in the month
of May, 2020 when conveyance and possession got complete, no revenue
should be recognised with respect to it in the financial statements of 2019-
2020. However, a disclosure for the same should be given by the entity.

Since the notice has been received after 31 March but before 30
June 2020 (approval date), the said grant shall be adjusted in the
financial statements for financial year 2019 -2020 because the
violation of the conditions took place in the financial year 2019 -2020
and the company must be aware of it.

QUESTION 5

(MTP 4 VIDEO MARCH 2022)

(TIMING IN VIDEO: 00:12:00)

(Question number in rtp: 6B)
The financial statements of Alpha Ltd. for the year 2019-2020 were approved
by the Board of Directors on 15th July, 2020. The following information was
provided:

(i)

(ii)

(iii)

(iv)

v)

A suit against the company's advertisement was filed by a party on 20th
April, 2020 claiming damages of X 25 lakhs.

The terms and conditions for acquisition of business of another company
had been decided by March, 2020. But the financial resources were
arranged in April, 2020 and amount invested was % 50 lakhs.

Theft of cash of ¥ 5 lakhs by the cashier on 31st March, 2020, was
detected on 16th July, 2020.

The company started a negotiation with a party to sell an immovable
property for % 40 lakhs in March, 2020. The book value of the property is
% 30 lakh on 31st March, 2020. However, the deed was registered on 15th
April, 2020.

A major fire had damaged the assets in a factory on 5th April, 2020.
However, the assets were fully insured.

For rtp/mtp videos...please visit:caparveenjindal.com/LMS



82

With reference to AS 4, state whether the above mentioned events will be
treated as contingencies, adjusting events or non-adjusting events occurring
after the balance sheet date.

SOLUTION

()

Non-adjusting event: Suit filed against the company is a contingent liability but

(i)

(iii)

(iv)

v)

it was not existing as on date of balance sheet date as the suit was filed on
20 th April after the balance sheet date. As per AS 4, 'Contingencies’ is
restricted to conditions or situations at the balance sheet date, the
financial effect of which is to be determined by future events which may
or may not occur. Hence, it will have no effect on financial statement and
will be a non-adjusting event.

Adjusting event: In the given case, terms and conditions for acquisition of
business were finalised before the balance sheet date and carried out
before the closure of the books of accounts but transaction for payment
of financial resources was effected in April, 2020. Hence, necessary
adjustment to assets and liabilities for acquisition of business is necessary
in the financial statements for the year ended 31st March 2020.

Non-adjusting event: Only those events which occur between the balance
sheet date and the date on which the financial statements are approved,
may indicate the need for adjustments to assets and liabilities as at the
balance sheet date or may require disclosure.

In the given case, as the theft of cash was detected on 16th July, 2020 ie
after approval of financial statements, no adjustment is required.

Non-adjusting event: Adjustments to assets and liabilities are not
appropriate for events occurring after the balance sheet date, if such
events do not relate to conditions existing at the balance sheet date. In
the given case, sale of immovable property was under proposal stage
(negotiations only started) on the balance sheet date, and was not finalized.
Therefore, adjustment to assets for sale of immovable property is not
necessary in the financial statements for the year ended 31st March, 2020.
Disclosure may be given in Report of approving Authority.

Non-adjusting event: Adjustments to assets and liabilities are not
appropriate for events occurring after the balance sheet date, if such
events do not relate fo conditions existing at the balance sheet date. The
condition of fire occurrence was not existing on the balance sheet date.
Only the disclosure regarding fire and loss, being completely insured may
be given in the report of approving authority.

QUESTION 6
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(MTP 6 VIDEO SEP. 2022)
(TIMING IN VIDEO: 00:10:32)
(Question number in mtp: 1C)

State with reasons, how the following events would be dealt with in the financial
statements of Hari Ltd. for the year ended 31st March, 2022 (accounts were
approved on 25t July, 2022):

(1) Negotiations with another company for acquisition of its business was started

)

®3)

(4)

(6)

on 21s* January, 2022. Hari Ltd. invested X 40 lakh on 22" April, 2022.

The company made a provision for bad debts @ 4% of its total debtors (as per
trend followed from the previous years). In the second week of March 2022, a
debtor for ¥ 2,50,000 had suffered heavy loss due to an earthquake; the loss was
not covered by any insurance policy. In May, 2022 the debtor became bankrupt.

During the year 2021-22, Hari Ltd. was sued by a competitor for X 13 lakhs for
infringement of a trademark. Based on the advice of the company's legal counsel,
Hari Ltd. provided for a sum of X 8 lakhs in its financial statements for the year
ended 315 March, 2022. On 26™ May, 2022, the Court decided in favour of the
party alleging infringement of the trademark and ordered Hari Ltd. to pay the
aggrieved party a sum of ¥ 12 lakhs.

Cashier of Hari Ltd. embezzled cash amounting to ¥ 3,00,000 during March, 2022.
However the same comes to the notice of Company management during Augusft,
2022.

Cheques dated 31s* March, 2022 collected in the month of April, 2022. All cheques
are presented to the bank in the month of April, 2022 and are also realized in the
same month in the normal course after deposit in the bank.

SOLUTION

O]

(ID)

As per AS 4'Contingencies and Events Occurring After the Balance
Sheet Date’, disclosure should be made in the report of the approving
authority of those events occurring after the balance sheet date that
represent material changes and commitments affecting the financial
position of the enterprise, the investment of ¥ 40 lakhs in April, 2022 in the
acquisition of another company should be disclosed in the report of the
Board of Directors to enable users of financial statements to make proper

evaluations and decisions.

As per AS 4, adjustment to assets and liabilities are required for events occurring
after the balance sheet date that provide additional information materially
affecting the determination of the amounts relating to conditions existing at the
Balance Sheet date. A debtor for ¥ 2,50,000 suffered heavy loss due to earthquake
in the second week of March, 2022 which was not covered by insurance. This
information with its implications was already known to the company. The fact that
he became bankrupt in May, 2022 (after the balance sheet date) is only an additional
information related to the existing condition on the balance sheet date. Accordingly,
full provision for bad debts amounting ¥ 2,50,000 should be made, to cover the loss
arising due to the insolvency of a debtor, in the final accounts for the year ended
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31st March 2022.

As per AS 4, adjustments to assets and liabilities are required for events occurring
after the balance sheet date that provide additional information materially
affecting the determination of the amounts relating to conditions existing at the
balance sheet date. In the given case, since Hari Ltd. was sued by a competitor for
infringement of a frademark during the year 2021- 22 for which the provision was
also made by it, the decision of the Court on 26 th May, 2022, for payment of the
penalty will constitute as an adjusting event because it is an event occurred before
approval of the financial statements. Therefore, Hari Ltd. should adjust the
provision upward by T 4 lakhs to reflect the award decreed by the Court to be paid
by them to its competitor.

As the embezzlement of cash comes to the notice of company management only
after approval of financial statements by board of directors of the company, then
the treatment will be done as per the provisions of AS 5 "Net Profit or Loss for
the Period, Prior Period Items and Changes in Accounting Policies” and the same
will not be adjusted in the financial statements for the year ended 31st March,
2022. This being an extra-ordinary item should be disclosed in the statement of
profit and loss as a part of loss for the year ending March, 2023, in a manner, that
its impact on current profit or loss can be perceived.

(v)  Collection of cheques after balance sheet date is not an adjusting event even
if the cheques bear the date of 31st March. Recognition of cheques in hand is
therefore not consistent with requirements of AS 4. Moreover, the collection
of cheques after balance sheet date does not represent any material change
or commitments affecting financial position of the enterprise and no
disclosure of such collections in the Directors' Report is necessary.
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TOPIC 7
AS 5 (NET PROFITS)

QUESTION 1

(RTP VIDEO NOV 2020)
(TIMING IN VIDEO: 01:19:11)
(Question number in rtp: 12B)
The Accountant of Virush Limited has sought your opinion with relevant reasons,
whether the following transactions will be treated as change in Accounting Policy
or not for the year ended 31st March, 2020. Please advise him in the following
situations in accordance with the provisions of relevant Accounting Standard;
(i)  Till the previous year the machinery was depreciated on straight line basis
over a period of 5 years. From current year, the useful life of furniture
has been changed to 3 years.
(ii) Introduction of a formal retirement gratuity scheme by an employer in
place of ad hoc ex-gratia payments to employees on retirement.

SOLUTION
(i) Change in useful life of machinery from 5 years to 3 years is a change in
estimate and is not a change in accounting policy.
(ii) Introduction of a formal retirement gratuity scheme by an employer in
place of ad hoc ex-gratia payments to employees on retirement is not a
change in an accounting policy.

QUESTION 2

(RTP VIDEO NOV 2021)
(TIMING IN VIDEO: 01:52:10)
(Question number in rtp: 13)

(a) There was a major theft of stores valued at % 10 lakhs in the preceding year which
was detected only during current financial year (2020-2021). How will you deal
with this information in preparing the financial statements of R Ltd. for the year
ended 31st March, 2021.
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Management decided fo pay pension to those employees who have retired
after completing 5 years of service in the organisation. Such employees
will get pension of ¥ 20,000 per month. Earlier there was no such scheme
of pension in the organization. Explain whether this will constitute a
change in accounting policy or not as per AS 5.

SOLUTION

(a)

(b)

Due to major theft of stores in the preceding year ( 2019-2020) which was
detected only during the current financial year (2020-2021), there was
overstatement of closing inventory of stores in the preceding year. This must
have also resulted in the overstatement of profits of previous year, brought
forward to the current year. The adjustments are required to be made in the
current year as 'Prior Period Items' as per AS 5 (Revised) on Net Profit or Loss
for the Period, Prior Period Items and Changes in Accounting Policies.
Accordingly, the adjustments relating o both opening inventory of the current
year and profit brought forward from the previous year should be separately
disclosed in the statement of profit and loss together with their nature and
amount in a manner that their impact on the current profit or loss can be
perceived. Alternatively, it may be assumed that in the preceding year, the value
of inventory of stores as found out by physical verification of inventories was
considered in the preparation of financial statements of the preceding year. In
such a case, only the disclosure as o the theft and the resulting loss is required
in the notes to the accounts for the current year i.e, year ended 31st March,
2021.

As per AS 5 'Net Profit or Loss for the Period, Prior Period Items and Changes
in Accounting Policies’, the adoption of an accounting policy for events or
transactions that differ in substance from previously occurring events or
transactions, will not be considered as a change in accounting policy. Accordingly,
the adoption of a new accounting policy of paying pension to retired employees
is a policy for events or transactions which did not occur previously. Hence, it
will not be treated as a change in an accounting policy.

QUESTION 3

(RTP VIDEO MAY 2022)
(TIMING IN VIDEO: 02:22:56)
(Question number in rtp: 13A)

The Accountant of Mobile Limited has sought your opinion with relevant reasons,
whether the following transactions will be treated as change in Accounting Policy
or not for the year ended 31st March, 2021. Please advise him in the following
situations in accordance with the provisions of relevant Accounting Standard:;
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SOLUTION
()

(ii)

(iii)

(iv)

v)
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Provision for doubtful debts was created @ 2% till 31st March, 2020. From
the Financial year 2020-2021, the rate of provision has been changed to
3%.

During the year ended 31st March, 2021, the management has introduced
a formal gratuity scheme in place of ad-hoc ex-gratia payments tfo
employees on retirement.

Till the previous year the furniture was depreciated on straight line basis
over a period of 5 years. From current year, the useful life of furniture
has been changed to 3 years.

Management decided to pay pension to those employees who have retired
after completing 5 years of service in the organization. Such employees will
get pension of ¥ 20,000 per month. Earlier there was no such scheme of
pension in the organization.

During the year ended 31st March, 2021, there was change in cost formula
in measuring the cost of inventories.

In the given case, Mobile limited created 2% provision for doubtful debts
till 31st March, 2020. Subsequently in 2020-21, the company revised the
estimates based on the changed circumstances and wants to create 3%
provision. Thus change in rate of provision of doubtful debt is change in
accounting estimate and is not a change in accounting policy. This change
will affect only current year.

As per AS 5, the adoption of an accounting policy for events or transactions
that differ in substance from previously occurring events or transactions,
will not be considered as a change in accounting policy. Introduction of a
formal retirement gratuity scheme by an employer in place of ad hoc ex-
gratia payments to employees on retirement is a transaction which is
substantially different from the previous policy, will not be treated as
change in accounting policy.

Change in useful life of furniture from 5 years to 3 years is a change in
accounting estimate and is not a change in accounting policy.

Adoption of a new accounting policy for events or fransactions which did
not occur previously should not be freated as a change in an accounting
policy. Hence the introduction of new pension scheme is not a change in
accounting policy.

Change in cost formula used in measurement of cost of inventories is a
change in accounting policy.
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QUESTION 4

(RTP VIDEO NOV 2022)

(TIMING IN VIDEO: 02:03:40)

(Question number in rtp: 13A)
Bela Ltd. has a vacant land measuring 20,000 sq. mts, which it had no intention
to use in the future. The company decided to sell the land to tide over its
liquidity problems and made a profit of 10 Lakhs by selling the said land.
Moreover, there was a fire in the factory and a part of the unused factory shed
valued at X 8 Lakhs was destroyed. The loss from fire was set off against the
profit from sale of land and profit of %2 lakhs was disclosed as net profit from
sale of assets. Do you agree with the treatment and disclosure? If not, state
your views.

SOLUTION
As per AS 5 "Net Profit or Loss for the Period, Prior Period Items and Changes
in Accounting Policies” Extraordinary items should be disclosed in the statement
of profit and loss as a part of net profit or loss for the period. The nature and
the amount of each extraordinary item should be separately disclosed in the
statement of profit and loss in a manner that its impact on current profit or loss
can be perceived.

In the given case the selling of land to tide over liquidation problems as well as
fire in the factory does not constitute ordinary activities of the Company. These
items are distinct from the ordinary activities of the business. Both the events
are material in nature and expected not to recur frequently or regularly. Thus,
these are Extraordinary Items.

Therefore, in the given case, disclosing net profits by setting off fire losses
against profit from sale of land is not correct. The profit on sale of land, and
loss due to fire should be disclosed separately in the statement of profit and
loss.

QUESTION 5

(MTP 5 VIDEO APRIL 2022)
(TIMING IN VIDEO: 00:17:43)
(Question number in mtp: 1C)

A company created a provision of X 7,50,000 for staff welfare while preparing
the financial statements for the year 2021-22. On 31st March 2022, ina meeting
with staff welfare association, it was decided to increase the amount of
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provision for staff welfare to 3 10,00,000. The accounts were approved by Board
of Directors on 15th April, 2022.

You are required to explain the ftreatment of such revision in financial
statements for the year ended 31st March 2022 in line with the provisions
of AS 5?

SOLUTION
As per AS 5 "Net Profit or Loss for the Period, Prior Period Items and Changes
in Accounting Policies”, the change in amount of staff welfare provision
amounting X 2,50,000 is neither a prior period item nor an extraordinary item.
It is a change in estimate, which has been occurred in the year 2021-22.

As per the provisions of the standard, normally, all items of income and
expense which are recognized in a period are included in the
determination of the net profit or loss for the period. This includes
extraordinary items and the effects of changes in accounting estimates.
However, the effect of such change in accounting estimate should be
classified using the same classification in the statement of profit and
loss, as was used previously, for the estimate.
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TOPIC 8
AS 7 (CONSTRUCTION CONTRACTS)

QUESTION 1

(RTP VIDEO MAY 2018)
(TIMING IN VIDEO: 01:15:47)
(Question number in rtp: 15A)

Uday Constructions undertake fo construct a-bridge for the Government of
Uttar Pradesh. The construction commenced during the financial year ending
31.03.2016 and is likely to be completed by the next financial year. The contract
is for a fixed price of ¥ 12 crores with an escalation clause. The costs to
complete the whole contract are estimated at ¥ 9.50 crores of rupees. You
are-given the following information for the year ended 31.03.2016:

Cost incurred upto 31.03.2016 % 4 crores
Cost estimated to complete the contract X 6 crores
Escalation in cost by 5% and accordingly the contract price: is increased by 5%.

You are required to identify the state of completion and calculate the
revenue and profit to be recognized for the year as per AS 7.
SOLUTION

T in crore
Cost of construction of bridge incurred 31.3.16 4,00
Add: Estimated future cost 6.00
Total estimated cost of construction 10.00
Contract Price (12 crore x 1.05) 12.60 crore

Stage of completion

Percentage of completion till date to total estimated cost of construction

= (4/10)0100 = 40%

Revenue and Profit to be recognized for the year ended 31st March, 2016
as per AS 7

Proportion of total contract value recognized as revenue = Contract price x
percentage of completion

=% 12.60 crore x 40% =% 5.04 crore
Profit for the year ended 31st March, 2016 =X 5.04 crore less X 4 crore = 1.04 crore
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QUESTION 2

(RTP VIDEO NOV 2020)
(TIMING IN VIDEO: 01:17:04)
(Question number in rtp: 13)

Uday Constructions undertake to construct a:bridge for the Government of Uttar
Pradesh. The construction commenced during the financial year ending 31.03.2019 and
is likely to be completed by the next financial year. The contract is for a fixed price
of %12 crore with an escalation clause. You are given the following information for
the year ended 31.03.2019:

Cost incurred upto 31.03.2019 %4 crore
Further cost estimated to complete the contract % 6 crore

Escalation in cost was by 5%. Hence, the contract price is also increased by 5%.

You are required to ascertain the stage of completion and compute the amount of
revenue and profit fo be recognized for the year as per AS 7.

SOLUTION
T in crore
Cost of construction of bridge incurred upto 31.3.2019 4.00
Add: Estimated future cost 6.00
Total estimated cost of construction 10.00
Contract Price (12 crore x 1.05) 12.60 crore

Stage of completion

Percentage of completion till date to total estimated cost of construction

= (4/10)0100 = 40%

Revenue and Profit to be recognized for the year ended 31st March, 2019 as
per AS 7:

Proportion of total contract value recognized as revenue

Contract price x percentage of
completion

312.60 crore x 40% = ¥ 5.04 crore

¥ 5.04 crore - T 4 crore = 1.04 crore.

Profit for the year ended 31st March, 2019
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QUESTION 3

(RTP VIDEO NOV 2021)
(TIMING IN VIDEO: 01:58:40)
(Question number in rtp: 14)
(a) In the case of a fixed price contract, the outcome of a construction contract
can be estimated reliably only when certain conditions prescribed under AS 7
are satisfied. You are required to describe these conditions mentioned in the
standard.

(b) Mr. 'X' as a contractor has just entered into a contract with a local
municipal body for building a flyover. As per the contract terms, X' will
receive an additional X 2 crore if the construction of the flyover were to
be finished within a period of two years of the commencement of the
contract. Mr. X wants to recognize this revenue since in the past he has
been able to meeft similar targets very easily. Is X correct in his proposal?
Discuss.

SOLUTION

(@) In the case of a fixed price contract, the outcome of a construction contract
can be estimated reliably when all the following conditions are satisfied:

(i) total contract revenue can be measured reliably;

(ii) it is probable that the economic benefits associated with the contract will
flow to the enterprise;

(iii) both the contract costs to complete the contract and the stage of contract
completion at the reporting date can be measured reliably; and

(iv) the contfract costs attributable to the contract can be clearly identified
and measured reliably so that actual contract costs incurred can be
compared with prior estimates.

(b) According to AS 7 (Revised) 'Construction Contracts’, incentive
payments are additional amounts payable to the contractor if specified
performance standards are met or exceeded. For example, a contract
may allow for an incentive payment to the contractor for early
completion of the contract. Incentive payments are included in
contract revenue when: (i) the contract is sufficiently advanced that
it is probable that the specified performance standards will be met or
exceeded; and (ii) the amount of the incentive payment can be
measured reliably. In the given problem, the contract has not even
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begun and hence the contractor (Mr. X) should not recognize any
revenue of this contract.

QUESTION 4

(RTP VIDEO MAY 2022)
(TIMING IN VIDEO: 02:28:15)
(Question number in rtp: 13B)

B Ltd. undertook a construction contract for ¥ 50 crores in April, 2020. The cost
of construction was initially estimated at % 35 crores. The contract is to be
completed in 3 years. While executing the contract, the company estimated that
the cost of completion of the contract would be ¥ 53 crores.
Can the company provide for the expected loss in the financial Statements for
the year ended 31st March, 2021? Explain.

QUESTION 5

(RTP VIDEO NOV 2022)
(TIMING IN VIDEO: 01:50:37)
(Question number in rtp: 13B)

On 1st December, 2020, "Sampath” Construction Limited undertook a contract
to construct a building for X 108 lakhs. On 31st March, 2021 the company found
that it had already spent ¥ 83.99 lakhs on the construction. A prudent estimate
of additional cost for completion was X 36.01 lakhs.
You are required to compute the amount of provision for foreseeable loss, which
must be made in the Final Accounts for the year ended 31st March, 2021 based
on AS 7 "Accounting for Construction Contracts.”

QUESTION 6

(MTP 2 VIDEO OCT. 2021)

(TIMING IN VIDEO: 00:25:27)

(Question number in rtp: 1C)
PRZ & Sons Ltd. are Heavy Engineering contractors specializing in construction
of dams. From the records of the company, the following data is available
pertaining to year ended 31st March, 2021:

(X crore)

Total Contract Price 2,400
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Work Certified 1,250
Work pending certification 250
Estimated further cost to completion 1,750
Stage wise payments received 1,100
Progress payments in pipe line 300

Using the given data and applying the relevant Accounting Standard you are

required to:

(i) Compute the amount of profit/loss for the year ended 31st March, 2021.

(ii) Arrive at the contract work in progress as at the end of financial year
2020-21.

(iii) Determine the amount of revenue to be recognized out of the total
contract value.

(iv) Work out the amount due from/to customers as at year end.
SOLUTION

(i) Calculation of profit/ loss for the year ended 31st (% in crores)

March, 2021

Total estimated cost of construction (1,250 + 250 + 3,250
1,750)

Less: Total contract price (2,400)
Total foreseeable loss to be recognized as expense 850

According to AS 7 (Revised 2002) "Construction Contracts”, when it is probable
that total contract costs will exceed total contract revenue, the expected loss
should be recognized as an expense immediately.

(ii) Contract work-in-progress i.e. cost incurred to date (% in crores)

Work certified 1,250
Work not certified 250
1,500

(iii) Proportion of total contract value recognised as revenue

Percentage of completion of contract to tfotal estimated cost of
construction

= (1,500 / 3,250)0100 = 46.15%

Revenue to be recognized till date = 46.15% of ¥ 2,400 crores = % 1,107.60
crores.

(iv) Amount due from / to customers = Contract costs + Recognised profits
- Recognised losses - (Progress
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payments received + Progress
payments to be received)

= ¥ [1,500 + Nil - 850 - (1100 + 300)]
crores
= ¥ [1,500 - 850 - 1,400] crores
Amount due to customers
(shown as liability) = X 750 crores.

QUESTION 7

(MTP 4 VIDEO MARCH 2022)

(TIMING IN VIDEO: 01:30:50)

(Question number in mtp: 1C)
Sarita Construction Co. obtained a contract for construction of a dam. The
following details a re available in records of company for the year ended 31st

March, 2021:

T In Lakhs
Total Contract Price 12,000
Work Certified 6,250
Work not certified 1,250
Estimated further cost to completion 8,750
Progress payment received 5,500
Progress payment fo be received 1,500

Applying the provisions of Accounting Standard 7 "Accounting for Construction
Contracts" you are required to compute:

(i) Profit/Loss for the year ended 31st March, 2021.
(i) Contract work in progress as at end of financial year 2020-21.
(iii) Revenue to be recognized out of the total contract value.

(iv) Amount due from/to customers as at the year end.

SOLUTION
(i) | Loss for the year ended, 31st March, 2021 R in lakhs)
Amount of foreseeable loss
Total cost of construction (6,250 + 1,250 + 8,750) 16,250
Less: Total contract price (12,000)
Total foreseeable loss to be recognised as expense 4,250
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According to AS 7, when it is probable that total contract costs will exceed total
contract revenue, the expected loss should be recognised as an expense
immediately.

Loss for the year ended, 31st March, 2021 amounting % 4,250 will be recognized
(ii) Contract work-in-progress as on 31.3.21 (X in lakhs)

Contract work-in-progress i.e. cost incurred to date
are X 7,500 lakhs:

Work certified 6,250
Work not certified 1,250
7,500

(iii) Proportion of total contract value recognised as revenue

Cost incurred till 31.3.21 is 46.15% (7,500/16,250 x 100) of total costs of
construction.

Proportion of fotal contract value recognised as revenue:
46.15% of ¥ 12,000 lakhs = ¥ 5,538 lakhs
(iv) Amount due from/to customers at year end

(Contract costs + Recognised profits - Recognised Losses) - (Progress
payments received + Progress payments o be received)

= [ (7,500 + Nil - 4,250) - (5,500 + 1,500)] X in lakhs = [3,250 - 7,000] %
in lakhs

Amount due to customers =X 3,750 lakhs

QUESTION 8

(MTP 6 VIDEO SEP 2022)

(TIMING IN VIDEO: 01:16:32)

(Question number in mtp: 6C)

On 1st December, 2019, Mahindra Construction Co. Ltd. undertook a contract to
construct a building for ¥ 170 lakhs. On 31st March, 2020, the company found that
it had already spent ¥ 1,29,98,000 on the construction. Prudent estimate of
additional cost for completion was ¥ 64,02,000. Calculate total estimated loss on
contract and what should be shown in statement of profit and loss account as
contract revenue and contract cost in the final accounts for the year ended 31 st
March, 2020, as per provision of Accounting Standard 7 (Revised).

SOLUTION
4
Cost incurred till 31st March, 2020 129,98,000
Prudent estimate of additional cost for completion 64,02,000
Total cost of construction 194,00,000

For rtp/mtp videos...please visit:caparveenjindal.com/LMS



97

Less: Contract price (170,00,000)
Total foreseeable loss 24.,00,000

As per AS 7 Construction Contracts, when it is probable that fotal contract
costs will exceed total contract revenue, the expected loss should be recognized
as an expense immediately. Hence the foreseeable loss of ¥ 24,00,000 should be
recognized as an expense immediately in the year ended 31st March 2020.

Contract work in progress = 129,98,000/194,00,000
X 100= 677% Proportion of contract value recognized

as turnover as per AS 7
= 67% of ¥ 170,00,000 = ¥ 113,90,000.
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TOPIC 9
AS 9 (REVENUES)

QUESTION 1

(RTP VIDEO MAY 2018)

(TIMING IN VIDEO: 01:22:39)

(Question number in rtp: 15B)
A manufacturing company has the following stages of production and sale in
manufacturing fine paper rolls:

Date Activity Cost to  Net Realizable
Date Value

® ®)

15.1.16 = Raw Material 1,00,000 80,000
20.116  Pulp (WIP1) 1,20,000 1,20,000
27.1.16 | Rough & thick paper (WIP 2) 1,50,000 1,80,000
15.2.16 | Fine Paper Rolls 1,80,000 3,50,000
20.2.16 = Ready for sale 1,80,000 3,560,000
15.3.16 = Sale agreed and invoice raised 2,00,000 3,650,000
02.4.16 Delivered and paid for 2,00,000 3,560,000

Explain the stage on which you think revenue will be generated and
calculate how much would be net profit for year ending 31.3.16 on this
product as per AS 9.
SOLUTION
According to AS 9 "Revenue Recognition”, in a transaction involving the sale of
goods, performance should be regarded as being achieved when the following
conditions have been fulfilled:

(i)  the seller of goods has transferred to the buyer the property in the goods
for a price or all significant risks and rewards of ownership have been
transferred to the buyer and the seller retains no effective control of the
goods transferred to a degree usually associated with ownership; and

(ii) no significant uncertainty exists regarding the amount of the consideration
that will be derived from the sale of the goods.

Thus, sales will be recognized only when following two conditions are satisfied:
(i) The sale value is fixed and determinable.
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Property of the goods is transferred to the customer.

Both these conditions are satisfied only on 15.3.2016 when sales are agreed
upon at a price and goods are allocated for delivery purpose through invoice.
The amount of net profit ¥ 150,000 (3,50,000 - 2,00,000) would be
recognized in the books for the year ending 31st March, 2016.

QUESTION 2

(RTP VIDEO NOV 2018)

(TIMING IN VIDEO: 01:13:04)

(Question number in rtp: 15B)

Fashion Limited is engaged in manufacturing of readymade garments. They provide you the
following information on 31st March, 2017:

(i)

(ii)

(iii)

On 15th January, 2017 garments worth % 4,00,000 were sent to Anand on
consighment basis of which 25% garments unsold were lying with Anand as
on 31st March, 2017.

Garments worth ¥ 1,95,000 were sold to Shine boutique on 25th March,
2017 but at the request of Shine Boutique, these were delivered on 15th
April, 2017.

On 1st November, 2016 garments worth X 2,50,000 were sold on approval
basis. The period of approval was 4 months after which they were
considered sold. Buyer sent approval for 75% goods up to 31st December,

2016 and no approval or disapproval received for the remaining goods till
31st March, 2017.

You are required to advise the accountant of Fashion Limited, the amount to be
recognised as revenue in above cases in the context of AS 9

SOLUTION

As per AS 9 "Revenue Recognition”, in a transaction involving the sale of goods,
performance should be regarded as being achieved when the following conditions
are fulfilled:

(i)

(if)

the seller of goods has transferred to the buyer the property in the goods
for a price or all significant risks and rewards of ownership have been
transferred to the buyer and the seller retains no effective control of the
goods transferred to a degree usually associated with ownership; and

no significant uncertainty exists regarding the amount of the consideration
that will be derived from the sale of the goods.

Case (i): 25% goods lying unsold with consignee should be treated as closing
inventory and sales should be recognized for ¥ 3,00,000 (75% of ¥ 4,00,000) for
the year ended on 31.3.17. In case of consignment sale revenue should not be
recognized until the goods are sold to a third party.
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Case (ii): The sale is complete but delivery has been postponed at buyer's
request. Fashion Ltd. should recognize the entire sale of %1,95,000 for the year
ended 31st March, 2017.

Case (iii): In case of goods sold on approval basis, revenue should not be
recognized until the goods have been formally accepted by the buyer or the
buyer has done an act adopting the transaction or the time period for rejection
has elapsed or where no time has been fixed, a reasonable time has elapsed.
Therefore, revenue should be recognized for the total sales amounting
2,50,000 as the time period for rejecting the goods had expired.

Thus total revenue amounting X 7,45,000 (3,00,000+1,95,000+2,50,000)
will be recognized for the year ended 31st March, 2017 in the books of
Fashion Ltd.

QUESTION 3

(RTP VIDEO MAY 2019)

(TIMING IN VIDEO: 00:23:09)

(Question number in rtp: 15)
Raj Ltd. entered intfo an agreement with Heena Ltd. to dispatch goods valuing
5,00,000 every month for next 6 months on receipt of entire payment. Heena Ltd.
accordingly made the entire payment of % 30,00,000 and Raj Ltd. started dispatching
the goods. In fourth month, due to fire in premise of Heena Ltd., Heena Ltd.
requested to Raj Ltd. not to dispatch goods worth % 15,00,000 ready for dispatch.
Raj Ltd. accounted % 15,00,000 as sales and transferred the balance to Advance
received against Sales account.

Comment upon the above treatment by Raj Ltd. with reference to the provision of
AS-9.

SOLUTION

As per AS 9 "Revenue Recognition”, in a transaction involving the sale of goods,
performance should be regarded as being achieved when the following conditions are
fulfilled:
(i)  the seller of goods has transferred to the buyer the property in the goods for
a price or all significant risks and rewards of ownership have been transferred
o the buyer and the seller retains no effective control of the goods transferred
to a degree usually associated with ownership; and
(ii) no significant uncertainty exists regarding the amount of the consideration that
will be derived from the sale of the goods.
In the given case, transfer of property in goods results in or coincides with
the transfer of significant risks and rewards of ownership to the buyer. Also,
the sale price has been recovered by the seller. Hence, the sale is complete
but delivery has been postponed at buyer's request. Raj Ltd. should recognize
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the entire sale of ¥ 30,00,000 (% 5,00,000 x 6) and no part of the same is to
be treated as Advance Received against Sales.

QUESTION 4

(RTP VIDEO NOV 2020)

(TIMING IN VIDEO: 01:13:36)

(Question number in rtp: 14A)
Fashion Limited is engaged in manufacturing of readymade garments. They
provide you the following information on 31st March, 2019:

(i)

(ii)

On 15th January, 2019 garments worth ¥ 4,00,000 were sent to Anand on
consignment basis of which 25% garments unsold were lying with Anand as
on 31st March, 2019.

Garments worth ¥ 1,95,000 were sold to Shine boutique on 25th March,
2019 but at the request of Shine Boutique, these were delivered on 15th
April, 2019.

You are required to advise the accountant of Fashion Limited, the amount to be
recognised as revenue in above cases in the context of AS 9.

SOLUTION

As per AS 9 "Revenue Recognition”, in a transaction involving the sale of goods,
performance should be regarded as being achieved when the following conditions
are fulfilled:

(i)

(i)

the seller of goods has fransferred to the buyer the property in the goods
for a price or all significant risks and rewards of ownership have been
transferred to the buyer and the seller retains no effective control of the
goods transferred to a degree usually associated with ownership; and

no significant uncertainty exists regarding the amount of the consideration
that will be derived from the sale of the goods.

Case (i): 25% goods lying unsold with consignee should be treated as closing
inventory and sales should be recognized for ¥ 3,00,000 (75% of ¥ 4,00,000) for
the year ended on 31.3.19. In case of consignment sale revenue should not be
recognized until the goods are sold to a third party.

Case (ii): The sale is complete but delivery has been postponed at buyer’s
request. Fashion Ltd. should recognize the entire sale of %1,95,000 for
the year ended 31st March, 2019.
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QUESTION 5

(RTP VIDEO NOV 2021)
(TIMING IN VIDEO: 02:03:35)
(Question number in rtp: 15)

(a)

(b)

How will you recognize revenue in the following cases:
1. Installation Fees;
2. Advertising and insurance agency commissions;
3. Subscriptions for publications.

Shipra Ltd., has been successful jewellers for the past 100 years and
sales are against cash only (returns are negligible). The company also
diversified into apparels. A young senior executive was put in charge
of Apparels business and sales increased 5 times. One of the
conditions for sales is that dealers can return the unsold stocks within
one month of the end of season. Sales return for the year was 25% of
sales. Suggest a suitable Revenue Recognition Policy, with reference to
AS 9.

SOLUTION

(a)

(b)

Installation Fees: In cases where installation fees are other than incidental to
the sale of a product, they should be recognized as revenue only when the
equipment is installed and accepted by the customer.

Advertising and insurance agency commissions: Revenue should be recognized
when the service is completed. For advertising agencies, media commissions will
normally be recognized when the related advertisement or commercial appears
before the public and the necessary intimation is received by the agency, as
opposed to production commission, which will be recognized when the project is
completed. Insurance agency commissions should be recognized on the effective
commencement or renewal dates of the related policies.

Subscription for publications: Revenue received or billed should be deferred and
recognized either on a straight-line basis over time or, where the items
delivered vary in value from period to period, revenue should be based on the
sales value of the item delivered in relation to the total sales value of all items
covered by the subscription.

As per AS 9 "Revenue recognition”, revenue recognition is mainly concerned with
the timing of recognition of revenue in statement of profit and loss of an
enterprise. The amount of revenue arising on a transaction is usually determined
by the agreement between the parties involved in the transaction. When
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uncertainties exist regarding the determination of the amount, or its associated
costs, these uncertainties may influence the timing of revenue recognition.

Effect of Uncertainty- In the case of the jewellery business the company
is selling for cash and returns are negligible. Hence, revenue can be
recognized on sales. On the other hand, in Apparels Industry, the dealers
have a right to return the unsold goods within one month of the end of
the season. In this case, the company is bearing the risk of sales return
and therefore, the company should not recognize the revenue to the
extent of 25% of its sales. The company may disclose suitable revenue
recognition policy in its financial statements separately for both
Jewellery and Apparels business.

QUESTION 6

(RTP VIDEO MAY 2022)
(TIMING IN VIDEO: 02:30:49)
(Question number in rtp: 14 A & 14 B)

(a)

(b)

An infrastructure company has constructed a mall and entered into agreement
with tenants towards license fee (monthly rental) and variable license fee, a
percentage on the turnover of the tenant (on an annual basis). Chief Financial
Officer of the company wants to account/recognize license fee as income for 12
months during current year and variable license fee as income during next year,
since invoice is raised in the subsequent year. Comment whether the treatment
desired by the CFO is correct or not.

Indicate in each case whether revenue can be recognized and when it will be
recognized as per AS 9.

(1) Trade discount and volume rebate received.
(2) Where goods are sold to distributors or others for resale.

(3) Where seller concurrently agrees to repurchase the same goods at a later
date.

(4) Insurance agency commission for rendering services.

SOLUTION

(a)

AS 9 on Revenue Recognition, is mainly concerned with the timing of recognition
of revenue in the Statement of Profit and Loss of an enterprise. The amount of
revenue arising on a fransaction is usually determined by agreement between the
parties involved in the transaction. However, when uncertainties exist regarding
the determination of the amount, or its associated costs, these uncertainties
may influence the timing of revenue recognition. Further, as per accrual concept,
revenue should be recognized as and when it is accrued i.e. recorded in the
financial statements of the periods to which they relate. In the present case,
monthly rental towards license fee and variable license fee as a percentage on
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the turnover of the tenant (though on annual basis) is the income related to
common financial year.

Therefore, recognizing the fee as revenue cannot be deferred simply because
the invoice is raised in subsequent period. Hence it should be recognized in the
financial year of accrual. Therefore, the contention of the Chief Financial
Officer is not in accordance with AS 9.

(b) 1)

(2)

(3)

4)

Trade discounts and volume rebates received are not encompassed within
the definition of revenue, since they represent a reduction of cost. Trade
discounts and volume rebates given should be deducted in determining
revenue.

When goods are sold to distributor or others, revenue from such sales can
be recognized if significant risks of ownership have passed. however, in
some situations the buyer may in substance be an agent and in such cases
the sale should be treated as a consignment sale.

For transactions, where seller concurrently agrees to repurchase the same
goods at a later date that are in substance a financing agreement, the
resulting cash inflow is not revenue as defined and should not be recognized
as revenue.

Insurance agency commissions should be recognized on the effective
commencement or renewal dates of the related policies.

QUESTION 7

(RTP VIDEO NOV 2022)
(TIMING IN VIDEO: 01:39:10)
(Question number in rtp: 14)
When revenue will be recognized in the following situation:

(i) Where the purchaser makes a series of installment payments to the seller and
the seller deliver the goods only when the final payment is received.

(ii) Where seller concurrently agrees to repurchase the same goods at a later date.

(iii)  Where goods are sold to distributors, dealers or others for resale.

(iv)

SOLUTION

Commissions on service rendered as agent on insurance business.

(i) Revenue from sales where the purchaser makes a series of instalment payments
to the seller, and the seller delivers the goods only when the final payment is
received, should not be recognised until goods are delivered. However, when
experience indicates that most such sales have been consummated, revenue may
be recognised when a significant deposit is received.
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(ii) For sale where seller concurrently agrees to repurchase the same goods at a
later date, such transactions are in substance a financing agreement. In such a
situation, the resulting cash inflow should not be recognised as revenue.

(iii) Revenue from sales of goods to distributors, dealers or others for resale can
generally be recognised if significant risks of ownership have passed. However,
in some situations the buyer may in substance be an agent and in such cases the
sale should be treated as a consignment sale.

(iv) Commissions on service rendered as agent on insurance business should be
recognised as revenue when the service is completed. Insurance agency
commissions should be recognised on the effective commencement or renewal
dates of the related policies.

QUESTION 8

(MTP 2 VIDEO OCT. 2021)
(TIMING IN VIDEO: 00:17:32)
(Question number in mtp: 1B)

Old Era Publication Publishes a popular monthly magazine on 15th of every month.
The publication sells the advertising space on terms of 90% payable in advance
and the balance 10% payable within 30 days of release of the publication. The
space for March 2020 issue of the magazine was sold in the month of February,
2020. The magazine was published as per schedule on 15th of the month. The
amount of X 2,70,000 has been received upto 31st March, 2020 and % 30,000
was received on 10th April, 2020 for advertisement published in the March issue
of the publication.

Please advise the accountant the amount of revenue to be recognized in
the context of the provisions of AS 9 'Revenue Recognition’ during the
year ending on 31 st March, 2020.

SOLUTION

Definition: As per AS 9 'Revenue Recognition’, in a transaction involving the
rendering of services, performance should be measured either under the
completed service contract method or under the proportionate completion
method, whichever relates the revenue to the work accomplished.

Analysis of given case: In the given case, income accrues when the related
advertisement appears before public. The advertisement service would be
considered as performed on the day the advertisement is appeared for public
and hence revenue is recognized on that date. In this case, it is 15.03.2020, the
date of publication of the magazine.

Accounting treatment for given situation: Hence, ¥ 3,00,000 (X 2,70,000 + X
30,000) is recognized as income in March, 2020. The terms of payment are not
relevant for considering the date on which revenue is to be recognized. ¥ 30,000
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is treated as amount due from advertisers as on 31.03.2020 and % 2,70,000 will
be treated as payment received against the sale.

QUESTION 9

(MTP 3 VIDEO NOV.2021)

(TIMING IN VIDEO: 00:05:41)

(Question number in mtp: 1C)
Fashion Limited is engaged in manufacturing of readymade garments. They
provide you the following information on 31st March, 2021:

(i)

(ii)

(iii)

SOLUTION

On 15th January, 2021 garments worth % 4,00,000 were sent to Anand on
consighment basis of which 25% garments unsold were lying with Anand as
on 31st March, 2021.

Garments worth ¥ 1,95,000 were sold to Shine boutique on 25th March,
2021 but at the request of Shine Boutique, these were delivered on 15th
April, 2021.

On 1st November, 2020 garments worth X 2,50,000 were sold on approval
basis. The period of approval was 4 months after which they were
considered sold. Buyer sent approval for 75% goods up to 31st December,
2020 and no approval or disapproval received for the remaining goods fill
31st March, 2021.

You are required to advise the accountant of Fashion Limited, the
amount to be recognised as revenue in above cases in the context of
AS 9.

As per AS 9 "Revenue Recognition”, in a transaction involving the sale of goods,
performance should be regarded as being achieved when the following conditions
are fulfilled:

(i)

(if)

the seller of goods has transferred to the buyer the property in the goods
for a price or all significant risks and rewards of ownership have been
transferred to the buyer and the seller retains no effective control of the
goods transferred to a degree usually associated with ownership; and

no significant uncertainty exists regarding the amount of the consideration
that will be derived from the sale of the goods.

Case (i): 25% goods lying unsold with consignee should be treated as closing
inventory and sales should be recognized for ¥ 3,00,000 (75% of %
4,00,000) for the year ended on 31.3.21. In case of consignment sale
revenue should not be recognized until the goods are sold to a third party.
Case (ii): The sale is complete but delivery has been postponed at buyer's
request. Fashion Ltd. should recognize the entire sale of ¥1,95,000 for the
year ended 31st March, 2021.
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Case (iii): In case of goods sold on approval basis, revenue should not be
recognized until the goods have been formally accepted by the buyer or
the buyer has done an act adopting the transaction or the time period for
rejection has elapsed or where no fime has been fixed, a reasonable fime
has elapsed. Therefore, revenue should be recognized for the fotal sales
amounting ¥ 2,50,000 as the time period for rejecting the goods had
expired.

Thus total revenue amounting ¥ 7,45,000 (3,00,000 + 1,95,000 +
2,50,000) will be recognized for the year ended 31st March, 2021 in
the books of Fashion Ltd.

QUESTION 10

(MTP 4 VIDEO MARCH 2022)
(TIMING IN VIDEO: 01:39:50)
(Question number in mtp: 1B)

New Era Publications publishes a monthly magazine on 15th of every month. It
sells advertising space in the magazine to advertisers on the terms of 80% sale
value payable in advance and the balance within 30 days of the release of the
publication. The sale of space for the March 2020 issue was made in February
2020. The magazine was published on its scheduled date. It received % 2,40,000
on 10.3.2020 and % 60,000 on 10.4.2020 for the March, 2020 issue.

Discuss in the context of AS 9 the amount of revenue to be recognized
and the treatment of the amount received from advertisers for the year
ending 31.3.2020. What will be the freatment if the publication is delayed
till 2.4.2020?

SOLUTION
As per AS 9 'Revenue Recognition’, in a fransaction involving the rendering of
services, performance should be measured either under the completed
service contract method or under the proportionate completion method as
the service is performed, whichever relates the revenue to the work
accomplished. In the given case, income accrues when the related
advertisement appears before public. The advertisement service would be
considered as performed on the day the advertisement is published and
hence revenue is recognized on that date. In this case, 15.03.2020 is the
date of publication of the magazine. Hence, ¥ 3,00,000 (X 2,40,000 + %
60,000) is recognized as income in March, 2020. The terms of payment are
not relevant for considering the date on which revenue is to be recognized.
Since, the revenue of 2 3,00,000 will be recognised in the March, 2020,
60,000 will be treated as amount due from advertisers as on 31.03.2020 and
% 2,40,000 will be treated as payment received against the sale. However, if
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the publication is delayed till 02.04.2020 revenue recognition will also be
delayed ftill the advertisements get published in the magazine. In that case
revenue of X 3,00,000 will be recognized in the year ended 31.03. 2020 after
the magazine is published on 02.04.2020. The amount received from sale of
advertising space on 10.03.2020 of % 2,40,000 will be considered as an
advance from advertisers as on 31.03.2020.
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TOPIC 10
AS 17 (SEGMENT REPORTING)

QUESTION 1

(RTP VIDEO NOV 2020)

(TIMING IN VIDEO: 01:07:16)

(Question number in rtp: 15A)

A Company has an inter-segment transfer pricing policy of charging at cost less 5%.
The market prices are generally 20% above cost. You are required fo examine
whether the policy adopted by the company for pricing inter-segment transfers at
reduced prices is correct or not in line with the provisions of AS 17?

SOLUTION

AS 17 'Segment Reporting' requires that inter-segment transfers should be
measured on the basis that the enterprise actually used to price these transfers.
The basis of pricing inter-segment transfers and any change therein should be
disclosed in the financial statements. Hence, the enterprise can have its own policy
for pricing inter - segment transfers and hence, inter-segment transfers may be
based on cost, below cost or market price. However, whichever policy is followed,
the same should be disclosed and applied consistently. Therefore, in the given case
inter-segment transfer pricing policy adopted by the company is correct if followed
consistently.

QUESTION 2

(RTP VIDEO NOV 2021)
(TIMING IN VIDEO: 02:07:57)
(Question number in rtp: 16)

(a) Company A is engaged in the manufacture of chemicals. The company
manufactures five types of chemicals that have different applications. Can this
company include more than one type of chemical in a single business segment?
Comment.

(b) Is an enterprise required to disclose changes in the basis of allocation of revenue and
expenses to segments? Explain.

SOLUTION
(@) As per AS 17, "A business segment is a distinguishable component of an
enterprise that is engaged in providing an individual product or service or a group
of related products of services and that is subject to risks and returns that are
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different from those of other business segments. Factors that should be
considered in determining whether products or services are related include:

(a) the nature of the products of services;

(b) the nature of the productions processes;

(c) the type of class of customers for the products or services;

(d) the methods use to distribute the products or provide the services; and

(e) if applicable, the nature of the regulatory environment, for example,
banking, insurance, or public utilities."

As per provisions of the standard, a single business segment does not include
products and services with significantly differing risks and returns. Products
and services included in a single business segment may be dissimilar with respect
to one or several factors listed above but are expected to be similar with
respect to majority of the factors.

In the present case, the Company should consider whether the chemicals with
different applications, have similar risks end returns. For this purpose, the
Company should ascertain whether one or more types of chemicals are related
keeping in view the relevant factors including those given in the definition of
business segment. Chemicals having different applications can be included in a
single business segment if major of the relevant factors including those listed
above are similar. This would ensure that the chemicals having significantly
different risks and returns are not included in a single business segment.

As per AS 17, "Changes in accounting policies adopted for segment reporting
that have a material effect on segment information should be disclosed. Such
disclosure should include a description of the nature of the change, and the
financial effect of the change if it is reasonably determinable.” It also states
that “"some changes in accounting policies relate specifically to segment
reporting. Examples include changes in identification of segments and changes in
the basis for allocating revenues and expenses to segments. Such changes can
have a significant impact on the segment information reported but will not
change aggregate financial information reported for the enterprise. To enable
users to understand and impact of such changes, this Statement requires the
disclosure of the nature of the nature the change and the financial effect of
the change, if reasonably determinable”.

In view of the above, a change in the basis of allocation revenue and
expenses to segments is a change in the accounting policy adopted for
segment reporting. Accordingly, if the change has a material financial
effect on the segment information, a description of the nature of the
change, and the financial effect of the change, if it is reasonably
determinable, should be disclosed.
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QUESTION 3

(RTP VIDEO MAY 2022)
(TIMING IN VIDEO: 02:37:25)
(Question number in rtp: 15A & 15 B)

(a)

(b)

Company A is engaged in the manufacture and sale of products, which constitute
two distinct business segments. The products of the Company are sold in the
domestic market only. The management information system of the Company is
organized to reflect operating information by two broad market segments, rural
and urban. Besides the two business segments, how should Company A identify
geographical segments? Do geographical segments exist within the same
country? Explain in line with the provisions of AS 17.

A Company has an inter-segment transfer pricing policy of charging at cost less
10%. The market prices are generally 20% above cost. You are required to
examine whether the policy adopted by the company is correct or not?

SOLUTION

(a)

AS 17 explains that, “a single geographical segment does not include operations
in economic environments with significantly differing risks and returns. A
geographical segment may be a single country, a group of fwo or more countries,
or a region within a country”. Accordingly, fo identity geographical segments,
Company A needs to evaluate whether the segments reflected in the
management information system function in environments that are subject to
significantly differing risks and returns irrespective of the fact whether they
are within the same country.

The Standard recognizes that, "Determining the composition of a business or
geographical segment involves a certain amount of judgement..". Accordingly,
while the management information system of the Company provides segment
information for rural and urban geographical segments for the purpose of
internal reporting, judgement is required to determine whether these segments
are subject to significantly differing risks and refurns based on the definition
of geographical segment. In making such a judgement, aspect like different
pricing and other policies, e.g., credit policies, deployment of resources between
different regions etc., may be considered for the purpose identifying 'urban and
‘rural’ as separate geographical segment.

Company A, in making judgment for identifying geographical segments, should
also consider the relevance, reliability and comparability over time of segment
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information that will be reported. The Standard, explains that, "In making that
judgement, enterprise management takes into account the objective of reporting
financial information by segment as set forth in the standard and the qualitative
characteristics of financial statements. The qualitative characteristics include
the relevance, reliability and comparability over time of financial information
that is reported about the different groups of products and services of an
enterprise and about its operations in particular geographical areas, and the
usefulness of that information for assessing the risks and returns of the
enterprise.”

(b) AS 17 'Segment Reporting' requires that inter-segment transfers should be
measured on the basis that the enterprise actually used to price these
transfers. The basis of pricing intfer-segment transfers and any change therein
should be disclosed in the financial statements. Hence, the enterprise can have
its own policy for pricing inter - segment fransfers and hence, inter-segment
transfers may be based on cost, below cost or market price. However, whichever
policy is followed, the same should be disclosed and applied consistently.
Therefore, in the given case inter-segment transfer pricing policy adopted by
the company is correct if followed consistently.

QUESTION 4

(RTP VIDEO NOV 2022)
(TIMING IN VIDEO: 02:12:56)
(Question number in rtp: 15)
A Company has an inter-segment transfer pricing policy of charging at cost less 10%.
The market prices are generally 25% above cost. Is the policy adopted by the company
correct?

SOLUTION

AS 17 'Segment Reporting’ requires that inter-segment transfers should be measured
on the basis that the enterprise actually used to price these transfers. The basis of
pricing inter-segment transfers and any change therein should be disclosed in the
financial statements. Hence, the enterprise can have its own policy for pricing inter-
segment transfers and hence, inter-segment fransfers may be based on cost, below
cost or market price. However, whichever policy is followed, the same should be
disclosed and applied consistently. Therefore, in the given case inter-segment
transfer pricing policy adopted by the company is correct if, followed consistently.
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TOPIC 11
AS 18 (RELATED PARTIES)

QUESTION 1

(RTP VIDEO NOV 2018)
(TIMING IN VIDEO: 01:18:38)
(Question number in rtp: 16A)

Sun Ltd. sold goods for % 50 lakhs to Moon Ltd. during financial year ended 31st
March 2017 at normal selling price followed by Sun Ltd. The Managing Director
of Sun Ltd. holds 75% shares of Moon Ltd. The Chief accountant of Sun Ltd
contends that these sales need not require a different treatment from the
other sales made by the company and hence no disclosure is necessary as per the
accounting standard. You are required to examine and advise whether the
contention of the Chief Accountant is correct?

SOLUTION

As per AS 18 'Related Party Disclosures’, Enterprises over which a key
management personnel is able to exercise significant influence are related
parties. This includes enterprises owned by directors or major shareholders of
the reporting enterprise and enterprise that have a member of key management
in common with the reporting enterprise.

Inthe given case, SunLtd. and Moon Ltd are related parties and hence disclosure
of transaction between them is required irrespective of whether the transaction
was done at normal selling price.

Hence the contention of Chief Accountant of Sun Ltd is wrong.

QUESTION 2

(RTP VIDEO MAY 2019)
(TIMING IN VIDEO: 00:25:27)
(Question number in rtp: 16)

SP hotels Limited enters into an agreement with Mr. A for running its hotel for a
fixed return payable to the later every year. The contract involves the day-to-day
management of the hotel, while all financial and operating policy decisions are taken
by the Board of Directors of the company. Mr. A does not own any voting power in
SP Hotels Limited. Would he be considered as a related party of SP Hotels
Limited"?
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Mr. A will not be considered as a related party of SP Hotels Limited in view of
paragraph 3(c) of AS 18 which states, "individuals owning, directly or indirectly, an
interest in the voting power of the reporting enterprise that gives them control or
signific ant influence over the enterprise, and relatives of any such individual”. In the
above example, in the absence of share ownership, Mr. A would not be considered to
exercise significant influence on SP Hotels Limited, even though there is an
agreement giving him the power to manage the company. Further, the fact that Mr. A
does not have the ability to direct or instruct the board of directors does not qualify
him as a key management personnel.

QUESTION 3

(RTP VIDEO NOV 2020)

(TIMING IN VIDEO: 00:58:31)

(Question number in rtp: 15B)

On the basis of provisions of AS 18 'Related Party Disclosures':

(i)

SOLUTION

Identify the related parties in the following cases: X Limited holds 60%
shares of Y Limited

Y Limited holds 55% shares of W Limited Z Limited holds 35% shares of
W Limited

(ii)

(i)

(ii)

Himalaya Limited sold goods for % 40 Lakhs to Aravalli Limited
during financial year ended on March 31, 2019. The Managing
Director of Himalaya Limited owns 80% shares of Aravalli
Limited. The sales were made to Aravalli Limited at normal
selling prices followed by Himalaya Limited. The chief
accountant of Himalaya Limited contends that these sales need
not require a different treatment from the other sales made by
the company and hence no disclosure is necessary as per AS 18.
You are required fo comment on this.

X Ltd., Y Ltd. & W Ltd. are related to each other. Z Ltd. & W Ltd. are
related to each other by virtue of associate relationship. However,
neither X Ltd. nor Y Ltd. is related to Z Ltd. and vice versa since
neither control nor significant influence exists between them.

Himalaya Ltd. and Aravalli Ltd are related parties since key
management personnel of Himalaya Ltd. ie. its managing director
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holds 80% in Aravalli Ltd. and hence disclosure of transaction
between them is required irrespective of whether the
transaction was done at normal selling price. Hence the
contention of Chief Accountant of Himalaya Ltd that these
sales require no disclosure under related party Transactions, is
wrong.

QUESTION 4

(RTP VIDEO NOV 2021)
(TIMING IN VIDEO: 02:13:05)
(Question number in rtp: 17)

(a) Omega Bank Limited holds 25 per cent to the voting power of B Limited. Omega
Bank Limited also provides finance by way of a loan to B Limited at market rates
of interest, on account of which, Omega Bank Limited would have the power to
nominate one person fo the board of directors of B Limited. Any major
transactions proposed to be entered into by B Limited would need the consent
of Omega Bank Limited. Would Omega Bank Limited would be considered as
related party for B Ltd. ( reporting enterprise)?

(b) A Limited has two Associates, B Limited and C Limited, and owns 25 per
cent of the voting power of B Limited and 30 per cent of the voting power
of C Limited. Would B Limited be considered a related a related party for
the purpose of financial statements of C Limited?

SOLUTION

(@) Omega Bank Limited would be a related party of B Limited. As per AS 18
"associates and joint ventures of the reporting enterprise and the investing
party of venture in respect of which the reporting enterprise is an associate or
a joint venturer” are related party relationship. Further, an associate has been
defined as “an enterprise in which an investing reporting party has significant
influence and which is neither a subsidiary nor a joint venture of the party"”.
Significant influence has been defined to be "participation in the financial and
/or operating policy decisions of an enterprise, but not control of those policies”.
Further, it is given in the standard that significant influence may be gained by
share ownership, agreement or statute. As regards share ownership, there is a
presumption that ownership of 20 per cent or more of the voting power enables
the enterprise to exercise significant influence, unless it could be clearly
demonstrated otherwise. In the given example, Omega Bank Limited exercises
significant influence over B Limited by virtue of ownership of 25 per cent of the
voting power.

Omega Bank Limited is also a provider of finance for B Limited (as it has provided
a loan to B Limited), and as per the standard, a provider of finance is deemed
not to be a related party during its normal dealings with the enterprise by virtue
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only of those dealing. However, in this case, the exemption would not be available
to Omega Bank Limited as the exercise of significant influence of Omega Bank
Limited over B Limited has been demonstrated on account of ownership of more
than 20 per cent of voting power. Accordingly, Omega Bank Limited would be
construed to be a related party in the financial statements of B Limited and
consequently, the latter would be required to disclose the transactions between
the parties in its financial statements.

(b) Both B Limited and C Limited are 'associates’ of A Limited. Co-associates
cannot be regarded as a related parties only by virtue of the relationship.
AS 18 states that “enterprise that directly, or indirectly through one or
more intermediaries, control, or are controlled by, or are under common
control with, the reporting enterprise” are related parties. Further, it is
given that "associates and joint ventures of the reporting enterprise and
the investing party or venture in respect of which the reporting
enterprise is an associate or a joint venturer” are also related parties. As
B Limited is not an associate of C Limited, nor is it being controlled,
directly or indirectly, by C Limited or is not so controlling C Limited, it is
not a related party of C Limited.

QUESTION 5

(RTP VIDEO MAY 2022)
(TIMING IN VIDEO: 01:15:41)
(Question number in rtp: 16)

(a) Inrespect of a key supplier who is dependent on the company for its existence
and the company enjoys influence over the prices of this supplier (which may not
be formally demonstrable), can the supplier and the company be considered as
related parties?

(b) Define "Key management personnel” in the context of AS 18.

SOLUTION

(a) The supplier and the company cannot be considered to be related parties merely
because the latter is able o influence the transaction price between the parties.
Paragraph 3 of AS 18 states that “enterprises that directly, or indirectly
through one or more intermediaries, control, or are controlled by, or are under
common control with, the reporting enterprise” are considered to be related
party relationships. However, the conditions which define the existence of
control, as follows, are not satisfied in the given example.

‘ownership, directly or indirectly, of more than one-half of the voting power
of an enterprise, or

Control of the composition of the board of directors in the case of a
company or of the composition of the corresponding governing body in case
of any other enterprise, or
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a substantial interest in voting power and the power to direct, by statue or
agreement, the financial and/or operating policies of the enterprise”.

Paragraph 10 of the standard defines significant influence as “participation
in the financial and/or operating policy decisions of an enterprise, but not
control of those policies”. In the given example, although the supplier and
the company have entered into a commercial transaction, the terms of
which are influenced by the latter because of its better bargaining power
in the specific market for such goods, it cannot be concluded that there is
participation in the financial and/or operating policy decisions. Therefore,
as the conditions specified by the Standard for being classified as a
related party are not satisfied in the given example, the company cannot
be said to be related to the supplier. This view is supported by paragraph
4 (b) of the Standard which states that “a single customer, supplier,
franchiser, distributor, or general agent with whom an enterprise transacts
a significant volume of business merely by virtue of the resulting economic
dependence” would not be deemed to be related parties.

(b)In context of AS 18, "Key management personnel” are those persons
who have the authority and responsibility for planning, directing and
controlling the activities of the reporting enterprise. For example, in
the case of a company, the managing director(s), whole time
director(s), manager and any person in accordance with whose
directions or instructions the board of directors of the company is
accustomed to act, are usually considered key management personnel.

QUESTION 6

(RTP VIDEO NOV 2022)

(TIMING IN VIDEO: 01:32:47)

(Question number in rtp: 16)

SP hotels Limited enters intfo an agreement with Mr. A for running its hotel for a
fixed return payable to the later every year. The contract involves the day-to-day
management of the hotel, while all financial and operating policy decisions are taken
by the Board of Directors of the company. Mr. A does not own any voting power in
SP Hotels Limited. Would he be considered as a related party of SP Hotels Limited?

SOLUTION

Mr. A will not be considered as a related party of SP Hotels Limited in view of AS
18 which states, “individuals owning, directly or indirectly, an interest in the voting
power of the reporting enterprise that gives them control or significant influence
over the enterprise, and relatives of any such individual”. In the given case, in the
absence of share ownership, Mr. A would not be considered to exercise significant
influence on SP Hotels Limited, even though there is an agreement giving him the
power to manage the company. Further, the fact that Mr. A does not have the ability
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to direct or instruct the board of directors does not qualify him as a key
management personnel.

QUESTION 7

(MTP 6 VIDEO SEP 2022)
(TIMING IN VIDEO: 00:59:42)
(Question number in mtp: 6E)

Identify the related parties in the following cases as per AS-18:
Maya Ltd. holds 61% shares of Sheetal Ltd.

Sheetal Ltd. holds 51% shares of Fair Ltd.

Care Ltd. holds 49% shares of Fair Ltd.

Give your answer - Reporting Entity wise for Maya Ltd., Sheetal Ltd., Care Ltd. and Fair
Ltd.

SOLUTION

(i) Reporting entity- Maya Ltd.
e Sheetal Ltd. (subsidiary) is a related party
e Fair Ltd.(subsidiary) is a related party
(i) Reporting entity- Sheetal Ltd.
e Maya Ltd. (holding company) is a related party
e Fair Ltd. (subsidiary) is a related party
(i) Reporting entity- Fair Ltd.
e Maya Ltd. (holding company) is a related party
e  Sheetal Ltd. (holding company) is a related party
e Care Ltd. (investor/ investing party) is a related party
(v) Reporting entity- Care Ltd.
e Fair Ltd. (associate) is a related party
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TOPIC 12
AS 19 (LEASE)

QUESTION 1

(RTP VIDEO MAY 2018)

(TIMING IN VIDEO: 01:30:00)

(Question number in rtp: 16B)
WIN Ltd. has entered info a three year lease arrangement with Tanya sports
club in respect of Fitness Equipments costing X 16,99,999.50. The annual lease
payments to be made at the end of each year are structured in such a way
that the sum of the Present Values of the lease payments and that of the
residual value together equal the cost of the equipments leased out. The
unguaranteed residual value of the equipment at the expiry of the lease is
estimated to be ¥ 1,33,500. The assets would revert to the lessor at the end
of the lease. Given that the implicit rate of interest is 10%.
You are required to calculate the amount of the annual lease payment and the

unearned finance income. Discounting Factor at 10% for years 1, 2 and 3 are
0.909, 0.826 and 0.751 respectively.

SOLUTION
(i) Computation of annual lease payment to the lessor
04
Cost of equipment 16,99,999.50
Unguaranteed residual value 1,33,500.00
Present value of residual value after third year @ 10%
(X 1,33,500 x 0.751) 1,00,258.50
Fair value to be recovered from lease payments
(X 16,99,999.5- 2 1,00,258.5) 15,99,741.00
Present value of annuity for three years is 2.486
Annual lease payment = ¥ 15,99,741/ 2.486 6,43,500.00
(i) Computation of Unearned Finance Income
T
Total lease payments (X 6,43,500 x 3) 19,30,500
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Add: Unguaranteed residual value 1,33,500
Gross investment in the lease 20,64,000.00

Less: Present value of investment (lease payments (16,99,999.50)
and residual value) ( 1,00,258.5+ X 15,99,741)

Unearned finance income 3,64,000.50

QUESTION 2

(RTP VIDEO MAY 2019)
(TIMING IN VIDEO: 00:29:49)
(Question number in rtp: 17)

Aksat International Limited has given a machinery on lease for 36 months, and its
useful life is 60 months. Cost & fair market value of the machinery is ¥ 5,00,000.
The amount will be paid in 3 equal annual installments and the lessee will return the
machinery to lessor at termination of lease. The unguaranteed residual value at the
end of 3 years is¥ 50,000. IRR of investment is 10% and present value of annuity
factor of % 1 due at the end of 3 years at 10% IRR is 2.4868 and present value of
%1 due at the end of 3rd year at 10% IRR is 0.7513.

You are required to comment with reason whether the lease constitute finance lease or
operating lease. If it is finance lease, calculate unearned finance income.

SOLUTION
Determination of Nature of Lease

Present value of unguaranteed residual value at the end of 3rd year

=% 50,000 x 0.7513
=% 37,565

Present value of lease payments =3¥5,00,000 -% 37,565
=%4,62,435

The percentage of present value of lease payments to fair value of the equipment
is (3 4,62,435/ % 5,00,000) x 100 = 92.487%.

Since, lease payments substantially covers the major portion of the fair value; the
lease constitutes a finance lease.

Calculation of Unearned Finance Income
Annual lease payment =¥ 4,62,435/ 2.4868 =% 1,85,956 (approx.)

Gross investment in the lease = Total minimum lease payments + unguaranteed
residual value
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= (31,85,956 = 3) + ¥ 50,000
=¥557,868 +¥50,000=%6,07,868

Unearned finance income = Gross investment - Present value of
minimum lease payments and unguaranteed residual value

=%6,07,868-%35,00,000=%1,07,868

QUESTION 3

(RTP VIDEO NOV 2020)
(TIMING IN VIDEO: 00:43:04)
(Question number in rtp: 16)

(a)

(b)

Classify the following into either operating or finance lease:

(i) Present value (PV) of Minimum lease payment (MLP) = "X". Fair value of
the asset is "Y".

(ii) Economic life of the asset is 7 years, lease term is 6.5 years, but asset
is not acquired at the end of the lease ferm;

(iii) Economic life of the asset is 6 years, lease ferm is 2 years, but the asset
is of special nature and has been procured only for use of the lessee .

Viral Ltd. sold machinery having WDV of X 40 lakhs to Saral Ltd. for X 50 lakhs
and the same machinery was leased back by Saral Ltd. to Viral Ltd. The lease
back is in nature of operating lease. You are required to explain the treatment
in the given cases -

(i)  Fair value is % 45 lakhs and sale price is X 38 lakhs.
(ii) Fair value is ¥ 40 lakhs and sale price is X 50 lakhs.
(iii) Fair value is ¥ 46 lakhs and sale price is X 50 lakhs

SOLUTION

(a)

(b)

(i) The lease is a finance lease if X = Y, or if X substantially equals Y
otherwise operating.

(ii) The lease will be classified as a finance lease, since a substantial portion
of the life of the asset is covered by the lease term.

(iii) Since the asset is procured only for the use of lessee, it is a finance
lease.

As per AS 19, where sale and leaseback results in operating lease, then the
accounting treatment in different situations is as follows:

Situation 1: Sale price = Fair Value
Profit or loss should be recognized immediately.
Situation 2: Sale Price < Fair Value

Profit should be recognized immediately. The loss should also be recognized
immediately except that, if the loss is compensated by future lease payments
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at below market price, it should be deferred and amortized in proportion to
the lease payments over the period for which the asset is expected to be used.

Situation 3: Sale Price > Fair Value

The excess over fair value should be deferred and amortized over the period

for

which the asset is expected to be used.

Following will be the treatment in the situations given in the question:

(i)

(i)

(iii)

When fair value of leased machinery is % 45 lakhs & sales price is ¥ 38
lakhs, then loss of X 2 lakhs (40 - 38) to be immediately recognized by A
Ltd. in its books provided loss is not compensated by future lease
payment.
When fair value is X 40 lakhs & sales price is ¥ 50 lakhs then, profit of ¥
10 lakhs is to be deferred and amortized over the lease period.
When fair value is ¥ 46 lakhs & sales price is X 50 lakhs, profit of 2
6 lakhs (46 less 40) to be immediately recognized in its books and
balance profit of ¥4 lakhs (50-46) is to be amortized/deferred over
lease period.

QUESTION 4

(RTP VIDEO MAY 2022)
(TIMING IN VIDEO: 01:13:20)
(Question number in rtp: 17)
(a) Classify the following into either operating or finance lease:

(b)

(i)

(ii)

(iii)

If Present value (PV) of Minimum lease payment (MLP) = "X"; Fair value
of the asset is "Y" and X=Y.

Economic life of the asset is 7 years, lease term is 6.5 years, but asset
is not acquired at the end of the lease term;

Economic life of the asset is 6 years, lease term is 2 years, but the asset
is of special nature and has been procured only for use of the lessee.

Viral Ltd. sold machinery having WDV of % 40 lakhs to Saral Ltd. for % 50 lakhs
and the same machinery was leased back by Saral Ltd. to Viral Ltd. The lease
back is in nature of operating lease. You are required to explain the freatment
in the given cases -

()
(i)
(iii)

Fair value is X 45 lakhs and sale price is % 39 lakhs.
Fair value is ¥ 40 lakhs and sale price is X 49 lakhs.
Fair value is ¥ 46 lakhs and sale price is % 50 lakhs
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SOLUTION

(a)

(b)

(i) The lease is a finance lease if X = Y, or if X substantially equals Y.

(ii) The lease will be classified as a finance lease, since a substantial portion
of the life of the asset is covered by the lease term.

(iii) Since the asset is procured only for the use of lessee, it is a finance
lease.

As per AS 19, where sale and leaseback results in operating lease, then the

accounting treatment in different situations is as follows:

Situation 1:  Sale price = Fair Value

Profit or loss should be recognized immediately.

Situation 2:  Sale Price < Fair Value

Profit should be recognized immediately. The loss should also be recognized

immediately except that, if the loss is compensated by future lease payments

at below market price, it should be deferred and amortized in proportion to
the lease payments over the period for which the asset is expected to be used.

Situation 3: Sale Price > Fair Value

The excess over fair value should be deferred and amortized over the period

for which the asset is expected to be used.

Following will be the treatment in the situations given in the question:

(i) When fair value of leased machinery is % 45 lakhs & sale price is ¥ 39
lakhs, then loss of % 1 lakh (40 - 39) fo be immediately recognized by
Viral Ltd. in its books provided loss is not compensated by future lease
payment.

(ii) When fair value is ¥ 40 lakhs & sale price is ¥ 49 lakhs then, profit of
9 lakhs is to be deferred and amortized over the lease period.

(iii) When fair value is X 46 lakhs & sale price is ¥ 50 lakhs, profit of % 6 lakhs
(46 less 40) to be immediately recognized in its books and balance profit
of %4 lakhs (50-46) is to be amortized/deferred over lease period.

QUESTION 5

(RTP VIDEO NOV 2022)
(TIMING IN VIDEO: 01:14:41)
(Question number in rtp: 17)

WIN Ltd. has entered into a three year lease arrangement with Tanya sports club
in respect of Fitness Equipment’s costing % 16,99,999.50. The annual lease payments
to be made at the end of each year are structured in such a way that the sum of
the Present Values of the lease payments and that of the residual value together
equal the cost of the equipments leased out. The unguaranteed residual value of the
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equipment at the expiry of the lease is estimated to be ¥1,33,500. The assets would
revert to the lessor at the end of the lease. Given that the implicit rate of interest
is 10%. You are required to compute the amount of the annual lease payment and
the unearned finance income. Discounting Factor at 10% for years 1, 2 and 3 are
0.909, 0.826 and 0.751 respectively.

SOLUTION
(i) Computation of annual lease payment to the lessor
T
Cost of equipment 16,99,999.50
Unguaranteed residual value 1,33,500.00
Present value of residual value after third year @ 10% (X
1,33,500 x 0.751) 1,00,258.50
Fair value to be recovered from lease payments (X
16,99,999.5-%1,00,258.5) 15,99 741.00
Present value of annuity for three years is 2.486
Annual lease payment = % 15,99,741/ 2.486 6,43,500.00
(ii) Computation of Unearned Finance Income
g
Total lease payments (X 6,43,500 x 3) 19,30,500
Add: Unguaranteed residual value 1,33,500
Gross investment in the lease 20,64,000.00
Less: Present value of investment (lease payments and
residual value) (X 1,00,258.5+ % 15,99,741) (16,99,999.50)
Unearned finance income 3,64,000.50

QUESTION 6

(MTP 5 VIDEO APRIL 2022)
(TIMING IN VIDEO: 00:02:53)
(Question number in mtp: 1A)

You are required fo give the necessary journal entry at the inception of lease
to record the asset taken on finance lease in books of lessee from the
following information:

Lease period = 5 years;
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Annual lease rents = ¥ 50,000 at the end of each
year.
Guaranteed residual value = % 25,000

Fair Value at the inception (beginning) %2,00,000

of lease

Interest rate implicit on lease is = 12.6% (Discounted rates for year 1to 5 are
.890, .790, .700, .622 and .552 respectively).

SOLUTION
Present value of minimum lease payment is computed below :

Year MLP DF (12.6%) PV
4 4

1 50,000 0.890 44,500
2 50,000 0.790 39,500
3 50,000 0.700 35,000
4 50,000 0.622 31,100
5 50,000 0.552 27,600
5 25,000 0.552 13,800
1,91,500

Present value of minimum lease payment = % 1,91,500 Fair value of leased asset
=% 2,00,000

As per AS 19, on the date of inception of Lease, Lessee should show it as an
asset and corresponding liability at lower of Fair value of leased asset at the
inception of the lease and present value of minimum lease payments from the
standpoint of the lessee. The accounting entry at the inception of lease to
record the asset taken on finance lease in books of lessee is suggested below:

T T
Asset A/c Dr. 1,91,500
To Lessor (Lease Liability) A/c 1,91,500

(Being recognition of finance lease as asset and
liability)
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TOPIC 13
AS 20 (EPS)

QUESTION 1

(RTP VIDEO MAY 2018)
(TIMING IN VIDEO: 01:36:25)
(Question number in rtp: 17)

The following information relates o M/s. XYZ Limited for the year ended 31st
March, 2017:

Net Profit for the year after tax: %75,00,000
Number of Equity Shares of % 10 each outstanding: % 10,00,000
Convertible Debentures Issued by the Company (at the beginning of the year)

Particulars Nos.
8% Convertible Debentures of T 100 each 1,00,000
Equity Shares to be issued on conversion 1,10,000

The Rate of Income Tax: 30%.

You are required to calculate Basic and Diluted Earnings Per Share (EPS)

SOLUTION
Computation of basic earnings per share

Net profit for the current year / Weighted average number of equity shares
outstanding during the year

% 75,00,000 / 10,00,000 = X 7.50 per share

. ’ . Adjusted net profit for the current year
Computation of diluted earnings per share = ] profity Y

Weighted average number of equity shares

Adjusted net profit for the current year

T
Net profit for the current year 75,00,000
Add: Interest expense for the current year 8,00,000
Less: Tax relating to interest expense (30% of % 8,00,000) (2,40,000)
Adjusted net profit for the current year 80,60,000

Number of equity shares resulting from conversion of debentures
= 1,10,000 Equity shares (given in the question)

Weighted average number of equity shares used to compute diluted earnings
per share
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= 11,10,000 shares (10,00,000 + 1,10,000)

Diluted earnings per share

= 80,60,000/ 11,10,000 = % 7.26 per share

Note: Conversion of convertible debentures into Equity Share will be dilutive
potential equity shares. Hence, to compute the adjusted profit the interest

paid on such debentures will be added back as the same would not be payable
in case these are converted into equity shares.

QUESTION 2

(RTP VIDEO NOV 2020)

(TIMING IN VIDEO: 00:37:59)

(Question number in rtp: 17)
A-One Limited supplied the following information. You are required to compute the
basic earnings per share as per AS 20 'Earnings per Share':

Net profit attributable to equity Year 2017-18: ¥1,00,00,000
shareholders

Year 2018-19: %1,50,00,000
Number of shares outstanding prior to
Right Issue 50,00,000 shares
Right Issue One new share for each four outstanding shares

i.e., 12,50,000 shares

Right Issue Price - X 96

Last date of exercising rights - 30-06-2018
Fair value of one equity share 101

immediately prior to exercise
of rights on 30-06-2018

SOLUTION
Computation of Basic earnings per share

2017-18 2018-19

3 3
EPS for the year 2017-18 as originally reported: (X 2.00
1,00,00,000 / 50,00,000 shares)
EPS for the year 2017-18 restated for rights issue: 1.98
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%1,00,00,000 / (50,00,000 shares x 1.01)*

EPS for the year 2018-19 including effects of rights

issue 252
X1,50,00,000
(50,00,000 x 1.01 x 3/12) + (62,50,000x 9/12)

* Computation of Basic Earnings per share in case of Rights Issue requires
computation of adjustment factor which is given as working note.

Working Notes:

1. Computation of theoretical ex-rights fair value per share

Fair value of all outstanding shares immediately prior to exercise of rights+total amount received from exercise

Number of shares outstanding prior to exercise + Number of shares issued in the exercise
(X101 x 50,00,000 shares) + (396 x 12,50,000 shares)
50,00,000 shares + 12,50,000 shares

=% 62,50,00,000 / 62,50,000 = 100
Therefore, theoretical ex-rights fair value per share is = X 100

2. Computation of adjustment factor

Fair value per share prior to exercise of rights _ X(101) __

=1.01

Theoretical ex—rights value per share Tz (100)

QUESTION 3

(RTP VIDEO NOV 2021)

(TIMING IN VIDEO: 02:19:54)

(Question number in rtp: 18A)

AB Limited is a company engaged in manufacturing industrial packaging equipment.
As per the terms of an agreement entered with its debenture holders, the
company is required to appropriate adequate portion of its profits to a specific
reserve over the period of maturity of the debentures such that, at the
redemption date, the reserve constitutes at least half the value of such
debentures. As such appropriations are not available for distribution to the equity
shareholders, AB Limited has excluded this from the numerator in the
computation of Basic EPS. Is this freatment correct as per provisions of AS 20?

SOLUTION

The appropriation made to such a mandatory reserve created for the redemption
of debentures would be included in the net profit attributable to equity
shareholders for the computation of Basic EPS. AS 20 states that "For the
purpose of calculating basic earnings per share, the net profit or loss for the
period attributable to equity shareholders should be the net profit or loss for
the period after deducting preference dividends and any attributable tax thereto
for the period”. With an emphasis on the phrase attributable fo equity
shareholders, it may be construed that such amounts appropriated o mandatory
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reserves, though not available for distribution as dividend, are still attributable
to equity shareholders. Accordingly, these amounts should be included in the
computation of Basic EPS. In view of this, the treatment made by the company is
not correct.

QUESTION 4

(RTP VIDEO MAY 2022)
(TIMING IN VIDEO: 00:51:25)
(Question number in rtp: 18)

(a)

(b)

Stock options have been granted by AB Limited to its employees and they vest
equally over 5 years, i.e., 20 per cent at the end of each year from the date
of grant. The options will vest only if the employee is still employed with the
company at the end of the year. If the employee leaves the company during
the vesting period, the options that have vested can be exercised, while the
others would lapse. Currently, AB Limited includes only the vested options for
calculating Diluted EPS. Should only completely vested options be included for
computation of Diluted EPS? Is this in accordance with the provisions of AS
20? Explain.

X Limited, as at March 31, 2021, has income from continuing ordinary
operations of % 2,40,000, a loss from discontinuing operations of
3,60,000 and accordingly a net loss of % 1,20,000. The Company has
1,000 equity shares and 200 potential equity shares outstanding as at
March 31, 2021. You are required to compute Basic and Diluted EPS?

SOLUTION

(a)

The current method of calculating Diluted EPS adopted by AB limited is not in
accordance with AS 20. The calculation of Diluted EPS should include all
potential equity shares, i.e., all the stock options granted at the balance sheet
date, which are dilutive in nature, irrespective of the vesting pattern. The
options that have lapsed during the year should be included for the portion of
the period the same were outstanding, pursuant to the requirement of the
standard.

AS 20 states that "A potential equity share is a financial instrument or other
contract that entitles, or may entitle, its holder to equity shares”. Options
including employee stock option plans under which employees of an enterprise
are entitled to receive equity shares as part of their remuneration and other
similar plans are examples of potential equity shares. Further, for the purpose
of calculating diluted earnings per share, the net profit or loss for the period
attributable to equity shareholders and the weighted average number of
shares outstanding during the period should be adjusted for the effects of
all dilutive potential equity shares.
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(b) Asper AS 20 "Potential equity shares should be treated as dilutive when, and
only when, their conversion to equity shares would decrease net profit per
share from continuing ordinary operations”. As income from continuing
ordinary operations, ¥ 2,40,000 would be considered and not % (1,20,000), for
ascertaining whether 200 potential equity shares are dilutive or anti-dilutive.
Accordingly, 200 potential equity shares would be dilutive potential equity
shares since their inclusion would decrease the net profit per share from
continuing ordinary operations from ¥ 240 to ¥ 200. Thus the basic E.P.S would
be % (120) and diluted E.P.S. would be % (100).

QUESTION 5

(RTP VIDEO NOV 2022)
(TIMING IN VIDEO: 01:26:04)
(Question number in rtp: 18)

The following information relates to XYZ Limited for the year ended 31st March,
2022:

Net Profit for the year after tax: %37,50,000
Number of Equity Shares of % 10 each outstanding: %5,00,000
Convertible Debentures Issued by the Company (at the beginning of the year)

Particulars Nos.
8% Convertible Debentures of % 100 each 50,000
Equity Shares to be issued on conversion 55,000

The Rate of Income Tax: 30%.
You are required to calculate Basic and Diluted Earnings Per Share (EPS).

SOLUTION
Computation of basic earnings per share

Net profit for the current year / Weighted average number of equity shares
outstanding during the year

% 37,50,000 / 5,00,000 = % 7.50 per share

. . . Adjusted net profit for the current year
Computation of diluted earnings per share ] profity 4

Weighted average numbher of equity shares

Adjusted net profit for the current year

g
Net profit for the current year 37,50,000
Add: Interest expense for the current year 4,00,000
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Less: Tax relating to interest expense (30% of ¥ 4,00,000) (1,20,000)
Adjusted net profit for the current year 40,30,000

Number of equity shares resulting from conversion of debentures

= 55,000 Equity shares (given in the question)

Weighted average number of equity shares used to compute diluted earnings
per share

= 5,565,000 shares (5,00,000 + 55,000)

Diluted earnings per share

= 40,30,000/ 5,55,000 = % 7.26 per share

Note: Conversion of convertible debentures into Equity Share will be dilutive
potential equity shares. Hence, to compute the adjusted profit the interest

paid on such debentures will be added back as the same would not be payable
in case these are converted into equity shares.

QUESTION 6

(MTP 2 VIDEO OCT. 2021)
(TIMING IN VIDEO: 00:56:53)
(Question number in mtp: 6A)

On 1st April, 2019 a company had 6,00,000 equity shares of % 10 each (% 5 paid
up by all shareholders). On 1st September, 2019 the remaining ¥ 5 was called
up and paid by all shareholders except one shareholder having 60,000 equity
shares. The net profit for the year ended 31st March, 2020 was % 21,96,000
after considering dividend X 3,40,000 on preference shares.

You are required to compute Basic EPS for the year ended 31st March,
2020 as per Accounting Standard 20 “"Earnings Per Share".

SOLUTION
Basic Earnings per share (EPS) =

Net profit attributable to equity shareholders

Weighted average number of equity shares outstanding during the year
9 21,96,000
- 4,57,500 Shares (as per working note)

Working Note:
Calculation of weighted average number of equity shares

= X 4.80 per share

As per AS 20 'Earnings Per Share', partly paid equity shares are treated as a
fraction of equity share to the extent that they were entitled to participate
in dividend relative to a fully paid equity share during the reporting period.
Assuming that the partly paid shares are entitled to participate in the dividend
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to the extent of amount paid, weighted average number of shares will be
calculated as follows:

Date No. of equity =~ Amount Weighted average no. of equity

shares paid per shares
share

g 4 3

1.4.2020 6,00,000 5 6,00,000 x 5/10 x 5/12 =
1,25,000

1.9.2020 5,40,000 10 5,40,000 x 7/12 = 3,15,000
1.9.2020 60,000 5 60,000 x 5/10 x 7/12 = 17,500
Total weighted average equity shares 4,57 500

QUESTION 7 (IMPORTANT QUESTION ON CALLS IN ARREAR)

(MTP 4 VIDEO MARCH 2022)
(TIMING IN VIDEO: 00:03:20)
(Question number in mtp: 6A)

On 1st April, 2019 a company had 6,00,000 equity shares of % 10 each (% 5 paid
up by all shareholders). On 1st September, 2019 the remaining ¥ 5 was called
up and paid by all shareholders except one shareholder having 60,000 equity
shares. The net profit for the year ended 31st March, 2020 was % 21,96,000
after considering dividend on preference shares and dividend distribution tax
on such dividend totalling to ¥ 3,40,000.

You are required to compute Basic EPS for the year ended 31 st March, 2020 as
per Accounting Standard 20 "Earnings Per Share".

SOLUTION
Basic Earnings per share (EPS) =

Net profit attributable to equity shareholders

Weighted average number of equity shares outstanding during the year
A 21,96,000
- 4,57,500 Shares (as per working note

Working Note:
Calculation of weighted average number of equity shares

= X4.80 per share

As per AS 20 'Earnings Per Share’, partly paid equity shares are treated as a
fraction of equity share o the extent that they were entitled to participate
in dividend relative to a fully paid equity share during the reporting period.
Assuming that the partly paid shares are entitled to participate in the dividend
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to the extent of amount paid, weighted average number of shares will be
calculated as follows:

Date No. of equity ~ Amount Weighted average no. of equity

shares  paid per shares

share
g 4 4
1.4.2020 6,00,000 5 6,00,000 x 5/10 x 5/12 =
1,25,000
1.9.2020 5,40,000 10 5,40,000 x 7/12 = 3,15,000
1.9.2020 60,000 5 60,000 x 5/10 x 7/12 = 17 500
Total weighted average equity shares 4,57 500
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TOPIC 14
AS 22 (TAXES ON INCOME)

QUESTION 1

(RTP VIDEO NOV 2020)
(TIMING IN VIDEO: 00:33:28)
(Question number in rtp: 18)
(a) Werite short note on Timing differences and Permanent differences as per AS
22 .

(b) Rama Ltd., has provided the following information:

T
Depreciation as per accounting records 6,00,000
Depreciation as per income tax records 10,00,000
Unamortized preliminary expenses as per tax record 60,000

There is adequate evidence of future profit sufficiency. You are
required to calculate the amount of deferred tax asset/liability to
be recognized as transition adjustment assuming Tax rate as 30%.
SOLUTION
(a) Accounting income and taxable income for a period are seldom the same.
Permanent differences are those which arise in one period and do not reverse
subsequently. For e.g., an income exempt from tax or an expense that is not
allowable as a deduction for tax purposes. Timing differences are those which
arise in one period and are capable of reversal in one or more subsequent
periods. For e.g., Depreciation, Bonus, etc.

(b) Table showing calculation of deferred tax asset / liability

Particulars Amount Timing Deferred = Amount
differences tax @ 30%

04 14

Excess depreciation as 4,00,000 Timing Deferred @ 1,20,000

per tax records (% tax

10,00,000 - % 6,00,000) liability

Unamortized preliminary =~ 60,000 @ Timing Deferred

expenses as per tax tax asset = (18,000)

records
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Net deferred tax 1,02,000
liability

QUESTION 2

(RTP VIDEO NOV 2021)
(TIMING IN VIDEO: 02:23:17)
(Question number in rtp: 18B)

Can an enterprise of fset deferred tax assets and deferred tax liabilities? If yes,
prescribe the conditions required for such offset as per provisions of AS 22.
SOLUTION
Yes. It can offset deferred tax assets and deferred tax liabilities.
As per AS 22, an enterprise should offset deferred tax assets and deferred
tax liabilities if:
(i) the enterprise has a legally enforceable right to set of f assets against
liabilities representing current tax; and

(ii) the deferred tax assets and the deferred tax liabilities relate to taxes on
income levied by the same governing taxation laws.

QUESTION 3

(RTP VIDEO MAY 2022)
(TIMING IN VIDEO: 00:37:38)
(Question number in rtp: 19A)
The following transactions were reported by PQR Ltd. during the year 2020-

2021
i. Tax Rate 30%
(R in lakh)
ii.  Items disallowed in 2019-2020 and allowed for tax 20.00

purposes in 2020-2021.

iii. | Interest to Financial Institutions accounted in the
books on accrual basis, but actual payment was made 20.00
before the due date of filing return and allowed for
tax purpose also.

iv. | Donations to Private Trust made in 2020-2021 (nhot 10.00
allowed under Income Tax Laws).

You are required to show impact of the above items in terms of Deferred Tax
Assets/Deferred Tax Liability for the year ended 31.03.2021.
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SOLUTION
Impact of various items in ferms of deferred tax liability/deferred tax asset

as per AS 22

Transactions = Analysis Nature of Effect Amount
difference

Disallowances, | Tax payable for the Timing Reversal | % 20 lakh
as per IT Act, earlier year was difference of DTA x
of earlier higher on this 30% =26
years account. lakh
Interest to It is allowed as No timing Not Not
financial deduction under IT difference applicable applicable
institutions Act, if the payment is

made before the due

date of filing the

return of income
Donation fto  Not an allowable Permanent Not Not
private trusts = expenditure under IT difference applicable applicable

Act.
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TOPIC 15
AS 24 (DISCONTINUING OPERATION)

QUESTION 1

(RTP VIDEO MAY 2022)
(TIMING IN VIDEO: 00:44:21)
(Question number in rtp: 19B)
(i) What are the disclosure and presentation requirements of AS 24 for
discontinuing operations?
(i) Give four examples of activities that do not necessarily satisfy criterion
(a) of paragraph 3 of AS 24, but that might do so in combination with
other circumstances.

SOLUTION

(i) An enterprise should include the following information relating to a
discontinuing operation in its financial statements beginning with the
financial statements for the period in which the initial disclosure event
occurs:

(@) adescription of the discontinuing operation(s);

(b) the business or geographical segment(s) in which it is reported as
per AS 17 'Segment Reporting’;

(c) the date and nature of the initial disclosure event;

(d) the date or period in which the discontinuance is expected to be
completed if known or determinable;

(e) the carrying amounts, as of the balance sheet date, of the total
assets to be disposed of and the total liabilities fo be settled;

(f) the amounts of revenue and expenses in respect of the ordinary
activities attributable to the discontinuing operation during the
current financial reporting period;

(g) the amount of pre-tax profit or loss from ordinary activities
attributable to the discontinuing operation during the current
financial reporting period, and the income tax expense related
thereto; and

(h) the amounts of net cash flows attributable to the operating,
investing, and financing activities of the discontinuing operation
during the current financial reporting period.

(ii) Para 3 of AS 24 "Discontinuing Operations” explains the criteria for

determination of discontinuing operations. According to AS 24, examples
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of activities that do not necessarily satisfy criterion (a) of paragraph 3,

but that might do so in combination with other circumstances, include:

(i) 6Gradual or evolutionary phasing out of a product line or class of
service;

(ii) Discontinuing, even if relatively abruptly, several products within an
ongoing line of business;

(iii) Shifting of some production or marketing activities for a particular
line of business from one location o another; and

(iv) Closing of a facility to achieve productivity improvements or other
cost savings.

An example in relation to consolidated financial statements is selling a

subsidiary whose activities are similar to those of the parent or other
subsidiaries.
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TOPIC 16
AS 26 (INTANGIBLE ASSETS)

QUESTION 1

(RTP VIDEO MAY 2018)
(TIMING IN VIDEO: 01:41:09)
(Question number in rtp: 19)
K Ltd. launched a project for producing product X in October, 2016. The Company
incurred X 40 lakhs tfowards Research and Development expenses upto 31st March,
2017. Due to prevailing market conditions, the Management came to conclusion that
the product cannot be manufactured and sold in the market for the next 10 years.
The Management hence wants to defer the expenditure write off to future years.
You are required to advise the Company as per the applicable Accounting Standard.
SOLUTION
As per provisions of AS 26 “"Intangible Assets”, expenditure on research
should be recognized as an expense when it is incurred. An  intangible
asset arising from development (or from the development phase of an
internal project) should be recognized if, and only if, an enterprise can
demonstrate all of the conditions specified in para 44 of the standard. An
intangible asset (arising from development) should be derecognized when
no future economic benefits are expected from its use according to para
87 of the standard. Thus, the manager cannot defer the expenditure write
off to future years in the given case. Hence, the expenses amounting 40
lakhs incurred on the research and development project has to be written
off in the current year ending 31st March, 2017.

QUESTION 2

(RTP VIDEO MAY 2019)

(TIMING IN VIDEO: 00:39:36)

(Question number in rtp: 19)
A Company with a turnover of X 375 crores and an annual advertising budget of % 3
crores had taken up the marketing of a new product. It was estimated that the
company would have a turnover of % 37.5 croes from the new product. The company
had debited to its Profit and Loss account the total expenditure of X 3 crores
incurred on extensive special initial advertisement campaign for the new product.

Is the procedure adopted by the Company correct?
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SOLUTION

According to AS 26 'Intangible Assets’, "expenditure on an intangible item should
be recognized as an expense when it is incurred unless it forms part of the cost of
an intangible asset”.

In the given case, advertisement expenditure of X 3 crores had been taken up for
the marketing of a new product which may provide future economic benefits to an
enterprise by having a fturnover of %375 crores. Here, no intangible asset or
another asset is acquired or created that can be recognized.

Therefore, the accounting treatment by the company of debiting the entire
advertising expenditure of X3 crores to the Profit and Loss account of the year is
correct.

QUESTION 3

(RTP VIDEO NOV 2020)
(TIMING IN VIDEO: 00:21:51)
(Question number in rtp: 19B)

X Ltd. carried on business of manufacturing of Bakery products. The company has
two trademarks "Sun" and "Surya''. One month before the company knows
through one of the marketing managers that both trademarks have allegedly been
infringed by other competitors engaged in the same field. After investigation,
legal department of the company informed that it had weak case on trademark
"Sun” and strong case in regard to trademark "Surya”’. X Ltd. incurred additional
legal fees to stop infringement on both trademarks. Both trademarks have a
remaining legal life of 10 years. How should X Ltd. account for these legal costs
incurred relating to the two trademarks?

SOLUTION

As per AS 26, subsequent expenditure on an intangible asset after its
purchase or its completion should be recognized as an expense. However, if
the subsequent expenditure enables the asset to generate future economic
benefits in excess of its originally assessed standard of performance or can
be measured and attributed to the asset reliably, then such subsequent
expenditure should be added to the cost of the intangible asset.

The legal costs incurred for both the trademarks do not enable them
to generate future economic benefits in excess of its originally
assessed standard of performance. They only ensure fo maintain them
if the case is decided in favour of the company. Therefore, such legal
costs incurred for both trademarks must be recognized as an expense.
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QUESTION 4

(RTP VIDEO NOV 2021)

(TIMING IN VIDEO: 02:24:56)

(Question number in rtp: 19B)
A company is showing an intangible asset at X 88 lakhs as on 01.04.2021.
This asset was acquired for X 120 lakhs on 01.04.2017 and the same was
available for use from that date. The company has been following the policy
of amortization of the intangible assets over a period of 15 years on
straight line basis. Comment on the accounting freatment of the above with
reference to the relevant Accounting Standard.

SOLUTION

As per AS 26 'Intangible Assets’, the depreciable amount of an intangible
asset should be allocated on systematic basis over the best estimate of its
useful life. There is a rebuttable presumption that the useful life of an
intangible asset will not exceed ten years from the date when the asset is
available for use. Company has been following the policy of amortization of the
intangible asset over a period of 15 years on straight line basis. The period of
15 years is more than the maximum period of 10 years specified as per AS 26.
Accordingly, the company would be required to restate the carrying amount of
intangible asset as on 01.04.2021 at ¥ 72 lakhs i.e.

%120 lakhs less % 48 lakhs (2 L&

10 years
The difference of X 16 Lakhs (X 88 lakhs - % 72 lakhs) will be adjusted
against the opening balance of revenue reserve. The carrying amount of
X 72 lakhs will be amortized over remaining 6 years by amortizing % 12
lakhs per year.

X 4 years = 48 lakhs)

QUESTION 5

(RTP VIDEO MAY 2022)
(TIMING IN VIDEO: 00:07:12)
(Question number in rtp: 20A & 20B)
(a) PQR Ltd. has acquired a Brand from another company for X 100 lakhs. PQR

(B)

Ltd. contends that since the said brand is a very popular and famous brand, no
amortization needs to be provided. Comment on this in line with the Accounting
Standards.

X Ltd. is engaged in the business of newspaper and radio broadcasting.
It operatesthrough different brand names. During the year ended 31st
March, 2021, it incurred substantial amount on business communication
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and branding expenses by participation in various corporate social
responsibility initiatives. The company expects to benefit by this
expenditure by attracting new customers over a period of fime and
accordingly it has capitalized the same under brand development
expenses and intends to amortize the same over the period in which it
expects the benefits to flow. As the accountant of the company do you
concur with these views? You are required to explain in line with
provisions of Accounting Standards.

SOLUTION

(a)

(b)

AS 26 'Intangible Assets” provides that an intangible asset should be
measured initially at cost. After initial recognition, an intangible asset should
be carried at cost less any accumulated amortization and any accumulated
impairment losses. The amount of an intangible asset should be allocated on a
systematic basis over the best estimate of its useful life for computing
amortization. There is a rebuttable presumption that the useful life of an
intangible asset will not exceed 10 years from the date when the asset is
available for use. It must be ensured that the value of brand is amortized in
accordance with AS 26, as brand is considered to be intangible asset. The
contention of PQR Ltd. that Brand is very popular and famous, hence no
amortization needs to be provided is not correct as there is no persuasive
evidence that the useful life of the intangible asset will exceed 10 years.

As per AS 26 on Intangible Assets, expenditure on an intangible item
should be recognized as on expense when it is incurred unless it forms
part of the cost of an intangible asset that meets the recognition
criteria. An intangible asset should be recognized if, and only if: (i) it is
probable that the future economic benefits that are attributable to the
asset will flow to the enterprise; and (ii) the cost of the asset can be
measured reliably. In the given case, no intangible assets or other asset
is acquired or created that can be recognized, the accounting treatment
by the company to amortize the entire expenditure over the period in
which it expects the benefits to flow is not correct and the same should
be debited to the profit and loss statement during the year ended 31st
March, 2021.
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QUESTION 6

(RTP VIDEO NOV 2022)

(TIMING IN VIDEO: 02:16:56)

(Question number in rtp: 20A)
K Ltd. launched a project for producing product X in October, 2021. The
Company incurred % 40 lakhs towards Research and Development expenses
upto 31 st March, 2022. Due to prevailing market conditions, the Management
came to conclusion that the product cannot be manufactured and sold in the
market for the next 10 years. The Management hence wants to defer the
expenditure write off fo future years.

Advise the Company as per the applicable Accounting Standard.

SOLUTION

As per AS 26 "Intangible Assets", expenditure on research should be
recognized as an expense when it is incurred. An intangible asset arising from
development (or from the development phase of an internal project) should be
recognized if, and only if, an enterprise can demonstrate all of the conditions
specified in the standard. An intangible asset (arising from development)
should be derecognised when no future economic benefits are expected from
its use according fo the standard. Thus, the manager cannot defer the
expenditure write off to future years in the given case.

Hence, the expenses amounting ¥ 40 lakhs incurred on the research and

development project has to be written off in the current year ending 31 st
March, 2022.

QUESTION 7

(MTP 5 VIDEO APRIL 2022)

(TIMING IN VIDEO: 00:10:03)

(Question number in mtp: 1B)
PIL Ltd. is showing an intangible asset at ¥ 72 lakhs as on 31-3-2022. This
asset was acquired for % 120 lakhs as on 01-04-2016 and the same was used
from that date. The company has been following the policy of amortization of
the intangible assets over a period of 15 years, on straight line basis.

You are required to comment on the accounting treatment of asset with
reference to AS 26 "Intangible Assets” and also give the necessary
rectification journal entry in the books.
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SOLUTION

As per AS 26 'Intangible Assets’, the depreciable amount of an intangible
asset should be allocated on systematic basis over the best estimate of its
useful life. There is a rebuttable presumption that the useful life of an
intangible asset will not exceed ten years from the date when the asset is
available for use. The Company has been following the policy of amortization
of the intangible asset over a period of 15 years on straight line basis. The
period of 15 years is more than the maximum period of 10 years specified as
per AS 26.

Accordingly, the company would be required to restate the carrying amount of
intangible asset as on 31.3.2022 at X 48 lakhs i.e. ¥ 120 lakhs less X 72 lakhs
(Z 120 Lakhs / 10 years x 6 years = 72 Lakhs). The difference of ¥ 24 Lakhs
(X 72 lakhs - % 48 lakhs) will be adjusted against the opening balance of revenue
reserve. The carrying amount of % 48 lakhs will be amortized over remaining 4
years by amortizing % 12 lakhs per year.

The necessary journal entry (for rectification) will be
Revenue Reserves Dr. %24 Lakhs
To Intangible Assets X 24 Lakhs

(Adjustment to reserves due to restatement of the carrying amount of
intangible asset)
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TOPIC 17
AS 29 (PROVISIONS)

QUESTION 1

(RTP VIDEO MAY 2018)

(TIMING IN VIDEO: 01:43:28)

(Question number in rtp: 20)
The company has not made provision for warrantee in respect of certain goods
considering that the company can claim the warranty cost from the original supplier.

You are required to examine in line with the provisions of AS 29.

SOLUTION

As per provisions of AS 29 “Provisions, Contingent Liabilities and Contingent
Assets”, where some or all of the expenditure required to settle a provision is
expected to be reimbursed by another party, the reimbursement should be
recognized when, and only when, it is virtually certain that reimbursement will be
received if the enterprise settles the obligation. The reimbursement should be
treated as a separate asset. The amount recognized for the reimbursement should
not exceed the amount of the provision.

It is apparent from the question that the company had not made provision for
warranty in respect of certain goods considering that the company can claim the
warranty cost from the original supplier. However, the provision for warranty
should have been made as per AS 29 and the amount claimable as reimbursement
should be treated as a separate asset in the financial statements of the company
rather than omitting the disclosure of such liability. Accordingly, it can be said that
the accounting treatment adopted by the company with respect to warranty is not
correct.

QUESTION 2

(RTP VIDEO NOV 2018)

(TIMING IN VIDEO: 01:23:27)

(Question number in rtp: 20)
M/s. XYZ Ltd. is in a dispute with a competitor company. The dispute is regarding
alleged infringement of Copyrights. The competitor has filed a suit in the court of
law seeking damages of X 200 lakhs.
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The Directors are of the view that the claim can be successfully resisted by the
Company.

How would the matter be dealt in the annual accounts of the Company in the light
of AS 29? You are required to explain in brief giving reasons for your answer.

SOLUTION

As per AS 29, 'Provisions, Contingent Liabilities and Contingent Assets’, a provision
should be recognized when

(@) anenterprise has a present obligation as a result of a past event;

(b) it is probable that an outflow of resources embodying economic benefits will
be required fo settle the obligation; and

(c) areliable estimate can be made of the amount of the obligation. If these
conditions are not met, no provision should be recognized.

In the given situation, since, the directors of the company are of the opinion that
the claim can be successfully resisted by the company, therefore there will be no
outflow of the resources. Hence, no provision is required. The company will disclose
the same as contingent liability by way of the following note:

"Litigation is in process against the company relating to a dispute with a competitor
who alleges that the company has infringed copyrights and is seeking damages of
200 lakhs. However, the directors are of the opinion that the claim can be
successfully resisted by the company.”

QUESTION 3

(RTP VIDEO NOV 2020)
(TIMING IN VIDEO: 00:11:40)
(Question number in rtp: 20)

(a) How will you distinguish contingent assets with Contingent Liabilities. Explain
in brief.

(b) Alpha Ltd. has entered into a sale contract of ¥ 7 crores with Gamma Ltd.
during 2018-19 financial year. The profit on this transaction is ¥ 1 crore. The
delivery of goods to take place during the first month of 2019-20 financial
year. In case of failure of Alpha Ltd. to deliver within the schedule, a
compensation of 2 crores is to be paid to Gamma Ltd. Alpha Ltd. planned to
manufacture the goods during the last month of 2018-19 financial year. As on
balance sheet date (31.3.2019), the goods were not manufactured and it was
unlikely that Alpha Ltd. will be in a position to meet the contractual obligation.
You are required to advise Alpha Ltd. on requirement o f provision for
contingency in the financial statements for the year ended 31 st March, 2019,
in line with provisions of AS 29?
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SOLUTION

(a)

(b)

A Contingent liability is a possible obligation that arises from past events and
the existence of which will be confirmed only by the occurrence or non-
occurrence of one or more uncertain future events not wholly within the
control of the enterprise; or

A present obligation that arises from past events but is not recognized
because:

(i) It is not probable that an outflow of resources embodying economic
benefits will be required to settle the obligation; or

(ii) A reliable estimate of the amount of the obligation cannot be made.

An enterprise should not recognize a contingent liability but should be
disclosed. A contingent liability is disclosed, unless the possibility of an
outflow of resources embodying economic benefits is remote.

Contingent assets usually arise from unplanned or other unexpected events
that give rise to the possibility of an inflow of economic benefits to the
enterprise. An example is a claim that an enterprise is pursuing through legal
processes, where the outcome is uncertain. An enterprise should not recognize
a contingent asset, since this may result in the recognition of income that may
never be realized. However, when the realization of income is virtually certain,
then the related asset is not a contingent asset and its recognition is
appropriate. A contingent asset is not disclosed in the financial statements. It
is usually disclosed in the report of the approving authority (Board of
Directors in the case of a company, and, the corresponding approving authority
in the case of any other enterprise), where an inflow of economic benefits is
probable. Contingent assets are assessed continually and if it has become
virtually certain that an inflow of economic benefits will arise, the asset and
the related income are recognised in the financial statements of the period in
which the change occurs.

AS 29 "Provisions, Contingent Liabilities and Contingent Assets” provides that
when an enterprise has a present obligation, as a result of past events, that
probably requires an outflow of resources and a reliable estimate can be made
of the amount of obligation, a provision should be recognized. Alpha Ltd. has
the obligation to deliver the goods within the scheduled time as per the
contract. It is probable that Alpha Ltd. will fail to deliver the goods within the
schedule and it is also possible to estimate the amount of compensation.
Therefore, Alpha Ltd. should provide for the contingency amounting % 2 crores
as per AS 29.
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QUESTION 4

(RTP VIDEO NOV 2021)
(TIMING IN VIDEO: 02:28:44)
(Question number in rtp: 20)

(a)

(b)

A company, incorporated as NPO under the Companies Act, is having main
objective to promote the trade by organizing trade fairs / exhibitions. While
organizing the trade fair and exhibitions, it decided to charge 5% contingency
charges for the participants/outside agencies on the income received from
them by the company, while in the case of fairs organized by outside agencies,
5% contingency charges are levied separately in the invoice, the contingency
charges in respect of fairs organized by the company itself are inbuilt in the
space rent charged from the participants. Both are credited to Income and
Expenditure Account of the company.

The intention of levying these charges is fo meet any unforeseen liability,
which may arise in future. The instances of such unforeseen liabilities could
be on account of injury/loss of life to visitors/ exhibitors, etc., due to fire,
terrorist attack, stampede, natural calamities and other public and third party
liability. The chances of occurrence of these events are high because of large
crowds visiting the fair. The decision to levy 5% contingency charges was
based on assessment only as actual liability on this account cannot be
estimated.

The accounting treatment and disclosure was made by the company in its
financial statements as: (i) 5% contingency charges are treated as income and
matching provision for the same is also being made in accounts and (ii) suitable
disclosure to this effect is also made in the notes forming part of accounts.

You are required to comment whether creation of provision for contingencies
under the facts and circumstances of the case is required in line with AS 29.

An oil company has been contaminating land for several years. It does not clean
up because there is no legislation requiring cleaning up. On 31st March 2021,
it is virtually certain that a law requiring a clean-up of land already
contaminated will be enacted shortly after the year end. Is provisioning
presently necessary considering the circumstances in line with provisions of
AS 29?

SOLUTION

(a)

As per AS 29 "Provisions, Contingent Liabilities and Contingent Assets", a
provision should be recognized when (a) An enterprise has a present obligation
as a result of a past event and (b) It is probable that an outflow of resources
embodying economic benefits will be required to settle the obligation and (c)
A reliable estimate can be made of the amount of the obligation. If these
conditions are not met, no provision should be recognized.
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From the above, it is clear that for the contingencies considered by the
company, neither a present obligation exists because of past event, nor a
reliable estimate can be made of the amount of the obligation. Accordingly, a
provision cannot be recognized for such contingencies under the facts and
circumstances of the case.

(b) Asper AS 29 'Provisions, Contingent Liabilities and Contingent Assets’, a past
event will lead to present obligation when the enterprise has no realistic
alternative to settle the obligation created by the past event. However, when
environmental damage is caused there may be no obligation to remedy the
consequences. The causing of the damage will become an obligating event when
a new law requires the existing damage to be rectified. Where details of a
proposed new law have yet to be finalised, an obligation arises only when the
legislation is virtually certain to be enacted. In the given case it is virtually
certain that law will be enacted requiring clean-up of a land already
contaminated. Therefore, an oil company has to provide for such clean-up cost
in the year in which the law is virtually certain to be enacted.

QUESTION 5

(RTP VIDEO MAY 2022)

(TIMING IN VIDEO: 00:25:14)

(Question number in rtp: 20C)
Chaos Limited is in the process of finalizing its accounts for the year ended
31st March, 2020. It seeks your advice in the following cases:

(i) Chaos Limited has filed a court case in 2014-2015 against its
competitors. It became evident to its lawyers during the year ended 31st
March, 2020 that Chaos Limited may lose the case and would have to pay
% 3,00,000 being the cost of litigation. No entries/provisions have been
made in the books.

(ii) A new regulation has been passed in 2019-2020 by the healthcare
ministry fo upgrade facilities. Deadline set by the government is
31.03.2021. The company estimates an expenditure of ¥ 10,00,000 for
the said upgrade.

(iii) The company gives one year warranty for its healthcare equipment under
the contract of sale that it will make good any manufacturing defect by
repair or replacement. As per past experience, it is probable that there
will be 1% such cases and estimated cost of repair / replacement is
estimated at 10% of such sale value. During the year, the company has
made a sale of ¥ 5 crores.
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Kindly give your answer for each of above with proper reasoning
according to the relevant Accounting Standard. Also state the principles
for recognition of provision, as per AS 29.

Principles for recognition of provisions: As per AS 29, "a provision shall be
recognised when:

(i)

(if)

(i)

an entity has a present obligation (legal or constructive) as a result of a
past event;

it is probable that an outflow of resources embodying economic benefits
will be required to settle the obligation; and

a reliable estimate can be made of the amount of the obligation. If these
conditions are not met, no provision shall be recognised.”

Accounting treatment under the given scenarios:

(i)

(if)

(iii)

On 31st March, 2020, since it is evident to the lawyer that Chaos Limited
may lose the case and also a reliable estimate of the outflow can be made
as ¥ 3,00,000, there is a present obligation. Hence, provision should be
recognised for ¥ 3,00,000 for the amount which may be required to
settle the obligation.

Under new regulation, an entity is required o upgrade its facilities by 31
st March, 2021. However, on 31st March, 2020, i.e. at the end of the
reporting period, there is no obligation because there is no obligating
event either for the costs of upgrading the facilities or for fines under
the regulations. Hence, no provision should be recognized on 31st March,
2020 for upgrading the facilities by 31st March, 2021.

The obligating event is the sale of health care equipment with a warranty,
which gives rise to a legal obligation. Here, an outflow of resources
embodying economic benefits in settlement is probable for the
warranties as a whole. Hence, a provision is recognized for the best
estimate of the costs of making good under the warranty products sold
before the end of the reporting period as follows:

Probability of warranty cases for the entity where repair/replacement
may be required as per past experience = 1% of ¥ 5,00,00,000 = %
5,00,000

Estimated cost of repair / replacement = ¥ 5,00,000 x 10% =% 50,000.
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QUESTION 6

(RTP VIDEO NOV 2022)

(TIMING IN VIDEO: 02:21:46)

(Question number in rtp: 20B)
Chaos Limited is in the process of finalizing its accounts for the year ended
31st March, 2022. Tt seeks your advice in the following cases:

(i)

(if)

(iii)

Chaos Limited entered into an agreement to supply 1 lac face masks to D
Limited by 30th April, 2022 failing which it will have to pay a penalty of
%10 per item not supplied. On 31st March, 2022 Chaos Limited assessed
that it could only supply 50,000 face masks to D Limited by 30th April,
2022.

Chaos Limited has filed a court case in 2014-2015 against its
competitors. It is evident to its lawyers that Chaos Limited may lose the
case and would have to pay X 3,00,000 being the cost of litigation. No
entries/provisions have been made in the books.

A new regulation has been passed in 2021-22 by the healthcare ministry
to upgrade facilities. Deadline set by the government is 31.03.2023. The
company estimates an expenditure of % 10,00,000 for the said upgrade.

Kindly give your answer for each of above with proper reasoning according to
the relevant Accounting Standard. Also state the principles for recognition of
provision, as per AS 29.

SOLUTION

Principles for recognition of provisions:

As per AS 29, “a provision shall be recognised when:

(a)

(b)

(c)

an entity has a present obligation (legal or constructive) as a result of a
past event;

it is probable that an outflow of resources embodying economic benefits
will be required to settle the obligation; and

a reliable estimate can be made of the amount of the obligation. If these
conditions are not met, no provision shall be recognised.”

Accounting treatment under the given scenarios:

(i)

(if)

In this case, there is no present obligation arising out of a past event as
the goods are scheduled for delivery on 30th April, 2022 and there is no
delay as at 31st March, 2022. Hence, there is no present obligation to
pay the penalty in the current year. Therefore, no provision can be
recognized in the instant case.

On 31st March, 2022, since it is evident to the lawyer that Chaos Limited
may lose the case and also a reliable estimate of the outflow can be made
as ¥ 3,00,000, there is a present obligation. Hence, provision should be
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recognised for ¥ 3,00,000 for the amount which may be required to
settle the obligation.

Under new regulation, an entity is required to upgrade its facilities by
31st March, 2023. However, on 31st March, 2022, i.e. at the end of the
reporting period, there is no obligation because there is no obligating
event either for the costs of upgrading the facilities or for fines under
the regulations. Hence, no provision should be recognised on 31st March,
2022 for upgrading the facilities by 31st March, 2023.

QUESTION 7

(MTP 2 VIDEO OCT. 2021)

(TIMING IN VIDEO: 00:04:04)

(Question number in mtp: 1A)
Saharsh Ltd. is engaged in manufacturing of electric home appliances. The
company is in the process of finalizing its accounts for the year ended
31.3.2020 and needs your expert advice on the following issues in line with the
provisions of AS 29:

(i)

(if)

SOLUTION

A case has been filed against the company in the consumer court and a
notice for levy of a penalty of % 20 lakhs has been received. The company
has appointed a lawyer to defend the case for a fee of % 2 lakhs. 50% of
the fees has been paid and balance 50% will be paid after finalisation of
the case. There are 75% chances that the penalty may not be levied.

The company had committed fo supply a consignment worth X 1 crore to
one of its dealers by the year-end. As per the contract, if delivery is not
made on time, a compensation of 15% is to be paid on the value of
delayed/lost consignment. While the consignment was in transit, one of
the trucks carrying goods worth X 30 lakhs met with an accident. It was
however covered by Insurance. According to the surveyor's report, the
policy amount is collectable, subject to 10% deduction. Before closing the
books of accounts, the company has received the information that the
policy amount has been processed and the dealer has also claimed the
compensation for the consignment of goods worth % 30 lakhs which was
in transit.

(i) Asper AS 29, an obligation is a present obligation if, based on the
evidence available, its existence at the balance sheet date is considered
probable, i.e., more likely than not.
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Liability is a present obligation of the enterprise arising from past
events, the settlement of which is expected to result in an outflow from
the enterprise of resources embodying economic benefits.

In the given case, there are 75% chances that the penalty may not be
levied. Accordingly, Saharsh Ltd. should not make the provision for
penalty.

However, a provision should be made for remaining 50% fees of the
lawyer in the financial statements of financial year 2019-2020.

(ii)) Loss due to accident % 30,00,000
Insurance claim receivable by company = X =  ¥27,00,000
30,00,000 x 90%

Loss to be recognised in the books for 2019-2020 % 3,00,000
Insurance claim receivable to be recorded in the g 27,00,000
books

Compensation claim by dealer against company fo be provided for in the
books

=3 30,00,000 x 15% = % 4,50,000
QUESTION 8

(MTP 3 VIDEO NOV 2021)

(TIMING IN VIDEO: 00:12:33)

(Question number in mtp: 1D)
An airline is required by law to overhaul its aircraft once in every five years.
The pacific Airlines which operate aircrafts does not provide any provision as
required by law in its final accounts. You are required to comment on the
validity of the treatment done by the company in line with the provisions of
AS 29.

SOLUTION

A provision should be recognized only when an enterprise has a present
obligation arising from a past event or obligation. In the given case, there is
no present obligation but a future one, therefore no provision is recognized as
per AS 29.

The cost of overhauling aircraft is not recognized as a provision because
it is a future obligation and the incurring of the expenditure depends
on the company's decision to continue operating the aircrafts. Even a
legal requirement to overhaul does not require the company to make a
provision for the cost of overhaul because there is no present obligation
to overhaul the aircrafts. Further, the enterprise can avoid the future
expenditure by its future action, for example by selling the aircraft.
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However, an obligation might arise to pay fines or penalties under the
legislation after completion of five years. Assessment of probability of
incurring fines and penalties depends upon the provisions of the
legislation and the stringency of the enforcement regime. A provision
should be recognized for the best estimate of any fines and penalties
if airline continues to operate aircrafts for more than five years.

QUESTION 9

(MTP 4 VIDEO MARCH 2022)

(TIMING IN VIDEO: 00:26:20)

(Question number in mtp: 6B)
XYZ Ltd. has not made provision for warrantee in respect of certain goods
due to the fact that th e company can claim the warranty cost from the
original supplier. Hence the accountant of the company says that the
company is not having any liability for warrantees on a particular date as
the amount gets reimbursed. You are required fo comment on the
accounting treatment done by the XYZ Ltd. in line with the provisions of
AS 29.

SOLUTION
As per AS 29 "Provisions, Contingent Liabilities and Contingent Assets",
where some or all of the expenditure required to settle a provision is
expected to be reimbursed by another party, the reimbursement should be
recognised when, and only when, it is virtually certain that reimbursement
will be received if the enterprise settles the obligation. The
reimbursement should be ftreated as a separate asset. The amount
recognised for the reimbursement should not exceed the amount of the
provision. It is apparent from the question that the company had not made
provision for warranty in respect of certain goods considering that the
company can claim the warranty cost from the original supplier. However,
the provision for warranty should have been made as per AS 29 and the
amount claimable as reimbursement should be treated as a separate asset
in the financial statements of the company rather than omitting the
disclosure of such liability. Accordingly, it is viewed that the accounting
treatment adopted by the company with respect fo warranty is not correct.
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QUESTION 10

(MTP 5 VIDEO APRIL 2022)
(TIMING IN VIDEO: 00:22:53)
(Question number in mtp: 1D)

0]

(i)

SOLUTION
(M

Bonfire Ltd. is in a dispute with a competitor company. The dispute is
regarding alleged infringement of Copyrights. The competitor has filed a
suit in the court of law seeking damages of ¥ 200 lacs.

The Directors are of the view that the claim can be successfully resisted
by the Company.

How would the matter be dealt in the annual accounts of the Company in
the light of AS 29 ? Explain in brief giving reasons for your answer.

What is meant by "Restructuring Provision” as per AS 29? What costs
are excluded while computing such provision as per the standard?

As per AS 29, 'Provisions, Contingent Liabilities and Contingent Assets’,
a provision should be recognized when

an enterprise has a present obligation as a result of a past event;

it is probable that an outflow of resources embodying economic
benefits will be required to settle the obligation; and

a reliable estimate can be made of the amount of the obligation.
If these conditions are not met, no provision should be recognized.

In the given situation, since, the directors of the company are of the
opinion that the claim can be successfully resisted by the company,
therefore there will be no outflow of the resources. Hence, no provision
is required. The company will disclose the same as contingent liability by
way of the following note:

“Litigation is in process against the company relating to a dispute with a
competitor who alleges that the company has infringed copyrights and is
seeking damages of % 200 lakhs. However, the directors are of the
opinion that the claim can be successfully resisted by the company.”

(i)  As per AS 29, a restructuring provision should include only the
direct expenditures arising from the restructuring, which are those
that are both: (a) necessarily entailed by the restructuring; and (b)
Not associated with the ongoing activities of the enterprise. A
restructuring provision does not include such costs as: (a)
Retraining or relocating continuing staff; (b) Marketing; or (c)
Investment in new systems and distribution networks.

(iii)
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TOPIC 18
LIQUIDATION OF COMPANIES

QUESTION 1

(MTP 4 VIDEO MARCH 2022)

(TIMING IN VIDEO: 00:33:40)

(Question number in mtp: 6C)
ABC Limited went into voluntary liquidation. Details are as follows :
1,000 - 10% Preference Shares of % 100 each fully paid up

Class A - 1,200 Equity shares of % 100 each (X 80 paid up)
Class B - 800 Equity shares of % 100 each (X 65 paid up)

Assets realized % 3,50,000 and liquidation expenses is X 8,000. Company has
secured Bank Loan of X 60,000 and salary of 3 clerks for 3 months at a rate
of ¥ 500 per month are outstanding. Creditors are % 70,000.

Calculate amount receivable from / or returnable to equity shareholders.
SOLUTION
Amount receivable from/returnable to Equity Shareholders
Total equity capital - paid up %1,48,000

Less: Balance available after payment to unsecured and % (1,07,500)
preference shares (3,50,000 — 2,42,500)

Loss to be born by 2,000 equity shares 340,500
Loss per share %20.25
Hence,

Amount refunded on % 65 paid share 65 - 20.25 per share =3 44.75
Amount refunded on X 80 paid share 80 - 20.25 per share= ¥ 59.75
Working note:

Liquidator's Statement of Account

(4 T

To Assets 3,50,000 By Liquidation Expenses 8,000
realized

By  Secured bank loan 60,000

By  Preferential 4,500

creditors (salary of 3
clerks at ¥ 500 per
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month  for three

months)
By  Unsecured creditors 70,000
By Preference 1,00,000
Shareholders
2,42 500
By  Equity Shareholders
¥ 5975 on 1200 71,700
shares
24475 on 800 shares 35,800
3,50,000 3,50,000
QUESTION 2
(RTP VIDEO NOV 2022)
(TIMING IN VIDEO: 01:00:53)
(Question number in RTP: 8)
Debit and credit Balances of Blossam Ltd as on 31.12.2021 were as follows:
Dr. Balances Cr. Balances
Share Capital:
Land & Building 1,25,000 8,000 Preference Shares of ¥ 10 80,000
each
Other Fixed Assets =~ 3,00,000 12,000 Equity Shares of 10 each = 1,20,000
Inventory 5,25,000 ' Bank Loan 400,000
Trade receivables 1,00,000 8% Debentures 1,00,000
Surplus a/c (-ve bal.) 58,000 Interest Outstanding on 8,000
Debentures
Trade payables 4,00,000
11,08,000 11,08,000

The Company went into Liquidation on that date. Prepare liquidator's account after
taking following:

(a) Liquidation Expenses % 3,000.

(b) Liquidation Remuneration % 10,000.
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(c) Bank Loan was secured by pledge of Stock.

(d) Debentures & Interest thereon are secured by floating charge on all assets.

(e) Fixed Assets were realized at book values and Current Assets @ 80% of book

values.
SOLUTION
Liquidator's Statement of account
L4 4

Assets Liquidation
Realized Expenses.
Land & 1,25,000 | Liquidator's
Building Remuneration
Other Fixed 3,00,000 Debenture
Assets holders
Inventory 420,000 8% Debentures
(80% x
5,25,000)
Less: bank (4,00,000) 20,000 | Add: Interest
loan Outstanding
Trade 80,000 Trade payables
receivables
(80% x Pref.
1,00,000) Shareholders

158

5,25,000

Working Notes

(a) Value of Debentureholders
8% Debentures
Add Interest Outstanding

(b)

8000 x 0.50

On 8,000 Shares
@ 50 Paise per
Share

1,00,000
8,000
1,08,000

Value of Preference Shareholders to be paid
8000 Shares @ 50 Paise Per Share

24,000

1,00,000

8,000
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3,000

10,000

1,08,000

4,00,000

4,000

5,25,000



